# THE UNIVERSITY OF NEW SOUTH WALES CRICKET CLUB

# ANNUAL REPORT

2005/06

# **CONTENTS**

Past Office Bearers	4
Office Bearers 05/06	5
Award Winners	6
Club Honours	9
Premiership Winning Teams	10
President's Report	13
2005/06 Captains' Statistics	14
Coaching Report	15
First Grade Report	17
Second Grade Report	28
Third Grade Report	35
Fourth Grade Report	41
Fifth Grade Report	49
Sixth Grade Report	56
Poidevin-Gray Shield Report	65
A.W. Green Shield Report	74
Universities Women's Cricket Club	79
Juniors Report	81
Combined Club Statistics	85
Career Statistics	95
Club Records	109
Partnership Records	112

UNSW Cricket Club would like to thank the following sponsors:



















Michael D.Black CHIROPRACTOR





# **PAST OFFICE BEARERS**

### **PATRON**

Prof RH Myers 1973-81 Prof M Birt 1981-85

Hon G Samuels AC, QC 1985-94 (Life Patron 1994)

Sir Anthony Mason AC 1994-2004 Prof Mark Wainwright AM 2004-

### **PRESIDENT**

Major Wilthew	1951-53	Y Marshall	1976-77
Prof AE Alexander	1953-57	A Epstein	1977-79
Prof EB Smyth	1957-61	Dr J Ingleson	1979-86
Prof HJ Oliver	1961-63	D Meagher	1986-90
Prof SE Livingstone	1963-64	G Clark	1990-91
Dr EC Watton	1964-66	C Chapman	1991-01
CH Barrington	1966-76	P Jourdain	2001-

### **HONORARY SECRETARY**

V Turner	1951-53	JR Wegner	1969-72
J Brooks	1953-54	Dr JP Barford	1972-75
C Davis	1954	RP Zabell	1975-76
Dr EC Watton	1954-55	GF Mullins	1976-77
Dr B Frawley	1955-56	Ms J Ratcliffe	1977-79
JR Beard	1956-58	AN McMaster	1979-83
R Warroner	1958-59	S Campbell	1983-84
MJ Reidy	1959-60	L Darmody	1984-87
CH Barrington	1960-62	P Godber	1987-93
D Lacey	1962-63	JO Carmichael	1993-96
GM Garland	1963-65	AC Jones	1996-97
MJ Gosling	1965-66	C Vonwiller	1997-98
Dr PJ Schofield	1966-67	M Sanders	1998-03
JE Pratley	1967-69	P Serov	2003-

### **HONORARY TREASURER**

R Emerson	1954-56	HW Hopkins	1971-74
G Wilton	1956-57	RW Merrell	1974-79
W Dwyer	1957-60	PE James	1979-80
J MckMiddleton	1960-61	MT Sample	1980-86
JT Hall	1961-64	P Jourdain	1986-97
J Chegwyn	1964-66	D Quinlin	1997-01
A Conomos	1966-67	T Buckett	2001-02
GJ Cole	1967-69	J Dixon	2002-
D Wills	1969-70		
PC Emery	1970-71		

# OFFICE BEARERS 2005/2006

<u>President</u> Peter Jourdain

HONORARY SECRETARY Paul Serov

CHAIRMAN OF SELECTORS David Jebb

HONORARY TREASURER Jim Dixon

HONORARY AUDITOR David Quinlin

### **MANAGEMENT COMMITTEE**

P Jourdain (Chairman) O Higgins A Neilan
P Carson G Lawson J Plunkett-Cole
D Christian M Leahy M Sanders
J Dixon P Maguire P Serov
P Harris D Mann D Sue

D Jebb S McKay

### **LIFE MEMBERS**

J BeardHC BundyMJ ReidyPr SE LivingstoneJ Mck MiddletonDr EC WattonCH BarringtonGN GarlandA TaylorRW MerrellA EpsteinJ Martel

**J** Rogers M Ray JD MacFarlane Pr J Barford PE James G Lawson G Livingstone JG Robson G Robinson D Meagher J Dixon M Slater G Clark M Sanders C Chapman D Lemon T Boyce P Jourdain

R Stark

### UNSW SPORTS ASSOCIATION LIFE MEMBERSHIP

J Martel G Lawson

### **SELECTION COMMITTEE**

D Jebb (Chairman) M Leahy A Jones

D Carson M Mag D Bhandari P Mitchell

### **BLUES COMMITTEE**

G Lawson G Livingstone J Martel

### **SCA DELEGATES**

G Lawson (NSWCA) M Sanders

### **SPORTS ASSOCIATION DELEGATES**

D Mann S McKay

# **AWARD WINNERS**

### **AUSTRALIAN REPRESENTATIVES**

1979-90 G Lawson1993-01 M Slater

### THE AUSTRALIAN SPORTS MEDAL

1999-00 G Lawson

### THE UNSW SPORTING HALL OF FAME

2002-03 G Lawson

### **SHEFFIELD SHIELD REPRESENTATIVES**

1977-78 G Watson	1982-83 M Ray	1995-96 J Young
1977-92 G Lawson	1991-03 M Slater	

### **BLUES WINNERS**

LJ Lawrence	J Rogers	G Watson
J Piggott	J Mck Middleton	JG Robson
D March	DC Clark	JS Dixon
RSJ Levi	RWD Robertson	J Baker
HC Bundy	GC Robinson	G Livingstone
PA Ward	JB Martel	M Back
MJ Reidy	M Ray	A White
K Daly	S Van der Sluys	M Phelps
J Chegwyn	P Grattan-Smith	D Carson
JM Healy	C Chapman	T Richardson
R Warrener	G Lawson	A Blackwell

### **SPORTS RECOGNITION AWARD**

CH Barrington	RW Merrell	M Sanders
A Epstein	JD MacFarlane	D Jebb
GM Garland	J Rogers	
JE Ingleson	J Dixon	

### **BEN LEXCEN SCHOLARSHIPS**

W Faulkner	T Hoare	S McKay
A Fleming	T Richardson	G Dobbie
M Phelps	D Christian	A Blackwell
D Carson	J Day	S Hungerford

# TED DAVIS TROPHY - PLAYER OF THE YEAR

1967-68 GJ Cole	1980-81 M	I Ray 1	993-94 J Young
1968-69 AJ Taylor	1981-82 JC	G Robson 1	994-95 M Phelps
1969-70 GM Garlar	nd 1982-83 N	Perger 1	995-96 JG Robson
1970-71 GM Garlar	nd 1983-84 G	Robinson 1	996-97 A Lindsay
1971-72 PJ Schofield	d 1984-85 G	Clark 1	997-98 J Stam
1972-73 GM Garlar	ıd 1985-86 G	Livingstone 1	998-99 I Salisbury
1973-74 M Ray	1986-87 M	f Gregg 1	999-00 A Lamb
1974-75 M Ray	1987-88 A	Clements 2	000-01 D Carson
1975-76 M Ray	1988-89 J I	Baker 2	001-02 R Stark
1976-77 S Campbel	l 1989-90 JC	G Robson 2	002-03 R Stark
1977-78 W Hetherin	ngton 1990-91 J I	Baker 2	003-04 D Christian
1978-79 M Ray	1991-92 M	I Slater 2	004-05 M Creed/T Lang
1979-80 I Kellaway	1992-93 D	Gallop 2	005-06 D Christian

# **CAPTAIN JOHN MORRIS FIELDING TROPHY**

1958-59 J Middleton	1974-75 I Smith	1990-91 A Pratt
1959-60 R Werley	1975-76 C Chapman	1991-92 S Norbury
1960-61 D Lacey	1976-77 D Meagher	1992-93 G Hill
1961-62 H Boulton	1977-78 D Meagher	1993-94 A Pratt
1962-63 R Smith	1978-79 J Barford	1994-95 M Kovacs
1963-64 G Sylvester	1979-80 C Hanger	1995-96 B Schirmer
1964-65 J Middleton	1980-81 J Sackett	1996-97 A Lamb
1965-66 D Webster	1981-82 J Sackett	1997-98 S Mohideen
1966-67 GJ Cole	1982-83 B Everett	1998-99 A Neilan
1967-68 RSJ Levi	1983-84 B Everett	1999-00 A Lamb
1968-69 D Wills	1984-85 M Back	2000-01 A Pratt
1969-70 RWD Robertson	1985-86 J Dixon	2001-02 A Neilan
1970-71 RWD Robertson	1986-87 M Back	2002-03 C Britton
1971-72 J Martel	1987-88 M Kovacs	2003-04 A Neilan
1972-73 J Martel	1988-89 D Cummins	2004-05 A Neilan
1973-74 D Pratt	1989-90 A Pratt	2005-06 M Sykes

# **BARR-TURN TROPHY**

1968-69	R Lucas	1981-82	J Robson	1994-95	M Gregg
1969-70	G Garland	1982-83	R Stark	1995-96	T Buckett
1970-71	R Robertson	1983-84	G Holt	1996-97	D Jebb
1971-72	P Larkin	1984-85	P Scolari	1997-98	D Stephen
1972-73	P Dobell-Brown	1985-86	M Ryan	1998-99	T Hoare
1973-74	R Merrell	1986-87	E Robb	1999-00	M Plunkett-Cole
1974-75	John Pym	1987-88	J Dixon	2000-01	M Mag
1975-76	Richard Pym	1988-89	J Gallagher	2001-02	P Carson
1976-77	P Grattan-Smith	1989-90	M Kovacs	2002-03	M Leahy
1977-78	J O'Brien	1990-91	P Sinclair	2003-04	A Langdon
1978-79	G Robinson	1991-92	M Hayward	2004-05	R Dooley
1979-80	D Pratt	1992-93	D Trafford	2005-06	S McKay
1980-81	D Meagher	1993-94	M Phelps		

### **CLUBMAN OF THE YEAR**

1991-92 P Trimble	1997-98 GLawson/JDixon	2002-03 D Sue
1992-93 D Downing	1998-99 M Sanders	2003-04 P Serov
1994-95 M Kovacs	1999-00 J Plunkett-Cole	2004-05 O Higgins
1995-96 J Carmichael	2000-01 D Jebb	2005-06 T Christian
1996-97 AC Jones	2001-02 P Richardson	

### JOHN ROGERS TROPHY FOR POIDEVIN-GRAY PLAYER OF THE YEAR

1983-84 M Hoy	1991-92 M Hayward	1999-00 T Hoare
1984-85 L Gray	1992-93 D Gainsford	2000-01 M Elliott
1985-86 S O'Brien	1993-94 M Payne	2001-02 A Langdon
1986-87 M Back	1994-95 S Mohideen	2002-03 D Christian
1987-88 A White	1995-96 B Nott	2003-04 D Christian
1988-89 A Flemming	1996-97 P Hemphill	2004-05 J Day
1989-90 A Flemming	1997-98 A Lamb	2005-06 J Day / S Robson
1990-91 P Sinclair	1998-99 R Hamman	

### ROOKIE AWARD

1989-90 B Calver	1997-98 T Hoare	2002-03 M O'Connor
1990-91 D Trafford	1998-99 T Cox	2003-04 M Creed
1991-92 M Hayward	1999-00 D Bandhari	2004-05 T Lang
1992-93 M Phelps	2000-01 S Bray	2005-06 T Van Der Gugten
1993-97 Not Awarded	2001-02 G McDonald	

### LADIES PLAYER OF THE YEAR

1989-90 J Van Ardenne	1996-97 Not awarded	2002-03 G Connolly
1990-91 J Van Ardenne	1997-98 G Connolly	2003-04 No Ladies Team
1991-92 J Van Ardenne	1998-99 Not awarded	Universities Women's Cricket Club
1992-93 P van Oploo	1999-00 Not awarded	2004-05 K Blackwell
1994-95 S Zeppos	2000-01 G Connolly	2005-06 A Vaughan
1995-96 A Sanders	2001-02 J Miller	

# **DOUBLE WICKET COMPETITION**

1971-72	D Wills/J Howe	1983-84	No contest
1972-75	No contest	1984-85	M Back/E Robb
1975-76	P Grattan-Smith/G Lawson	1985-86	Rained out
1976-77	No contest	1986-87	J Abbott/J Wilcher
1977-78	N Jansson/M Herring	1987-88	G Lawson/A Shaw
1978-79	S Campbell/I Kellaway	1988-93	No contest
1979-81	No contest	1993-94	M Hayward/R Wickramasena
1981-82	J Robson/J Gallagher	1994-06	No contest
1982-83	J Robson/P Jourdain		

# **CLUB HONOURS**

# **MUNICIPAL AND SHIRES COMPETITION** (ENTERED 1951)

B Division Premiers	1963-64
A Division Premiers	1964-65
Club Champions	1964-65
A Division Premiers	1965-66
Club Champions	1965-66
B Division Premiers	1966-67
Club Champions	1966-67
A Division Premiers	1967-68
B Division Premiers	1967-68
Club Champions	1967-68
Club Champions	1968-69
A Division Premiers	1970-71
Club Champions	1970-71
A Division Premiers	1971-72
Club Champions	1971-72
D Division One-Day Premiers	1986-87

# **GRADE COMPETITION (ENTERED 1973-74)**

2nd Grade Encouragement Award	1974-75
3rd Grade Encouragement Award	1975-76
1st Grade Premiers	1976-77
Poidevin-Gray Premiers	1976-77
2nd Grade Premiers	1977-78
Club Champions	1978-79
1st Grade Premiers	1980-81
5th Grade Premiers	1995-96
Ist Grade Limited-Overs Premiers	2004-05

### **INTER-VARSITY**

Champions	1974-75
Champions	1986-87
Champions	1988-89
Champions	1995-96
Champions	2003-04

# **WOMEN'S CRICKET**

Third Grade Premiers 2001-02

# **PREMIERSHIP WINNING TEAMS**

### **B Division 1963-64**

HC Bundy (C), TD Creer (VC), RG Ballantyne, R Bayfield, DC Clark, J Hollington, I Lowe, F Martin, I Potter, G Sylvester, RW Smith, C Relton (12th).

### **A DIVISION 1964-65**

J Chegwyn (C), J Mck Middleton (VC), BG Andrews, DC Clark, RG Ballantyne, K Daly, G Garland, J Piggott, G Sylvester, JJ Reidy, PA Wark.

### **A DIVISION 1965-66**

J Chegwyn (C), J Mck Middleton (VC), CH Barrington, R Bayfield, A Bishop, GJ Cole, D Lacey, D Popcock, AJ Taylor, AR Turner, DE Willis.

### **A Division 1967-68**

HC Bundy (C), JE Pratley (VC), BG Andrews, RG Ballantyne, JN Healey, H Herbert, RSJ Levi, I Lowe, PJ McEarchran, J Mck Middleton, DE Wills, PC Emery (12th).

### **B Division 1967-68**

RW Lucas (C), PJ Schofield (VC), CH Barrington, D Brady, R Bayfield, GJ Cole, J Piggott, C Relton, AJ Taylor, AR Turner, PA Ward.

### **A DIVISION 1970-71**

JE Pratley (C), GM Garland (VC), GJ Cole, BR Cos, AE Dietsch, PA Heaney, JB Martel, Z Pirjevec, RWD Robertson, GG Robinson, DG Smith.

### **A DIVISION 1971-72**

GM Garland (C), AE Dietsch (VC), GJ Cole, BR Cos, PA Heaney, JB Martel, GAN Preston, CAP Samerasekera, AJ Taylor, P Whalen, DE Wills, HW Hopkins, RWD Robertson, GG Robinson.

### **INTER-VARSITY CHAMPIONS 1974-75**

J Martel (C), C Chapman, J Robson, P James, J Barford, S Tait, R March, S Wiblin, C Brown, R Zabell, G Kirkwood, D Barbour, M Ray, P Grattan-Smith.

### 2ND GRADE ENCOURAGEMENT AWARD 1974-75

R Robertson, G Garland, A Taylor, P Burnett, D Smith, D Barbour, P Watkins, C Brown, G Kirkwood, A Jacobs, P Grattan-Smith, A Wijeratne, P Noble.

### 3RD GRADE ENCOURAGEMENT AWARD 1975-76

J Ingleson, C Kiefel, I Smith, B Cox, G Cole, G Garland, S Howard, M Bryce, R Zabell, J Cutler, T Haymet.

### 1ST GRADE 1976-77

J Rogers (C), J Martel, R Pym, G Watson, G Livingstone, C Chapman, J Robson, G Lawson, J O'Brien, P Deegan, M Ray, S Campbell, P Grattan-Smith, M Watt.

### POIDEVIN-GRAY 1976-77

J Robson (C), M Bryce, J Carmichael, S Howard, N Jansson, P Jourdain, G Kirkwood, G Lawson, G Livingstone, D Meagher, N Perger, M Watt.

### 2ND GRADE 1977-78

T Buddin (C), P Deegan, R Campbell, N Jansson, P Tout, B Handley, G Kirkwood, R Pym, R March, G Robinson, I Smith, J Martel, N Perger, D Pratt, P Emery, J Sands, P Jourdain.

### 1ST GRADE 1980-81

M Ray (C), T Buddin, C Chapman, G Lawson, B Handley, C Hanger, J Dixon, P Tout, N Perger, S Campbell, N Jansson, G Livingstone, J Robson, A Wijeratne, D Meagher.

### D DIVISION M&S ONE-DAY PREMIERS 1986-87

D Bell (C), D Hughes, J Hughes, P Bush, S Bell, M Howe, D Joseph, G Morgan, D Graham, J Warrington, D Fitzsimmons.

### **INTERVARSITY CHAMPIONS 1986-87**

J Baker (C), J Abbott, B Cooper, A Szabo, J Martin, S O'Brien, D Roper, W McKay, L Gray, P Warrington, M Palin, N Horne, M Back, J Orchard.

### **INTERVARSITY CHAMPIONS 1988-89**

A Shaw (C), P Sinclair, D Coots, A Flemming, M Kovacs, N Wood, A White, A McCallum, T Grosser, S Raju, D Cummins.

### **INTERVARSITY CHAMPIONS 1995-96**

M Phelps (C), P Carson, D Carson, D Culhane, S Mohideen, M Leahy, P Levett, P Searle, S Gerber, M Hayward, A Cavill, G Shanthan

### 5TH GRADE PREMIERS 1995-96

R Stark (C), P Searle, C Neal, C Jameson, S Gerber, T Buckett, G Shepherd, P Carson, G Harris, P Levett, M Robson, G Clark, M Hughes.

### WOMEN'S 3RD GRADE PREMIERS 2001-02

Jess Miller, Anita Martel, Jo Skinner, Cathy Firkin, Michelle Hone, Cassandra Lees, Karen Soo, Jill Kinna, Gemma Connolly, Lena Caruso, Nikki Martel, Sophie Anderson, Jackie Kimber

### **INTERVARSITY CHAMPIONS 2003-04**

Chris Thomas ©, Sohail Mohideen, Omar Zaffar, Jim Day, David Mann, David Mitchell, Jim Byrne, John MacCallum, Nigel Singh, Will Sommerville, Nathan Ball, Michael Watson

### 1ST GRADE LIMITED-OVERS PREMIERS 2004-05

David Carson ©, Daniel Christian, Murray Creed, Mitchell O'Connor, Cade Brown, Jim Day, Tim Lang, Ian Salisbury, Andrew Neilan, Eric Zehner, Tim Cox, Michael Elliott.



The club held its inaugural Junior Coaching Clinic in January. The 50-odd boys and girls who attended the clinic received expert coaching led by the irrepressible Warren Smith (below) plus Henry, Shaker, the 1st grade squad and our Australian female representatives Lisa Stchlaker and Alex and Kate Blackwell. The positive response from the children and their parents will see it run again in the October school holidays.



# PRESIDENT'S REPORT

The club went into season 2005/2006 with high expectations following the exceptional performances of our 1st grade team the previous season. The belief that we were good enough to win premierships had been instilled in 1st grade and it was hoped that some of this would rub off on the other grades. The jump from 12th last season to 5th this season in the Club Championship was evidence of this belief throughout the grades.

First grade were not able to attain the heights of the previous season. A strong finish to the season was not enough to overcome some missed opportunities earlier in the season and they finished just outside of a finals berth. There were some outstanding individual performances inlcuding Andrew Jeffrey's 800+ runs in his debut season for the club, 16 year old Sam Robson's 35 wickets (including 9 for the match on his 1st grade debut) and Tim Lang's 54 wickets. Tim's performance has been rewarded with a state contract. With Murray Creed and Tom Cooper retaining their contracts UNSW will have three players in the NSW squad for the 2006/2007 season.

It was tremendous to see our Poidevin-Gray Shield team perform so strongly and make the final. This is a competition that UNSW has struggled to do well in recent years despite seemingly strong teams on paper. All the players in the team should be commended for such a great performance, especially captain James Day who led from the front and worked hard to mould a successful team.

Three other teams (second, fifth and sixth grade) made it all the way to the semi-finals with both fifth and sixth grade taking out the minor premiership. Well done to Danny Bhandari, Peter Mitchell and Andrew Jones and their respective teams for their outstanding performances.

The Universities Womens Cricket Club (which we operate together with Sydney University) are continuing to develop and with three Australian representatives in the 1<sup>st</sup> grade team are hoping for big things next season.

Our junior club expanded to five teams this season which augers well for the development of the club. Our Green Shield and lower grade teams this season included players who have graduated from our junior ranks – a clear indication of the success of introducing the junior teams to the club.

Much of the praise for the improved performance of the club must go to Warren Smith, who in his two seasons at the club as our 1st grade coach has left an indelible mark on all players. Unfortunately, health concerns have forced Warren to curtail his coaching from next season. I am pleased that Graeme Smith (from the Illawarra, not South Africa) will be joining the club for the upcoming season. Graeme comes with high praise from Warren and has already started planning our pre-season schedule.

Of course the club would not operate without the efforts of our management committee and I would like to thanks guys like Henry, Disco, Paul Serov, Jebby, Pete Richardson, Peter Maguire, David Mann, Peter Carson, Michele Dunn and Darren Sue who continue to contribute many hours to the club.

The upcoming season will be the first in which we operate under Voluntary Student Unionism. The new legislation will put considerable pressure on the UNSW Sports Association (our primary supporter). While the Sports Association is working closely with the University to develop a management system for sport at UNSW, we as a club will be reliant on sponsorship more than ever.

I am looking ahead to the upcoming season with the hope that we can build further on the success of last season and bring some premiership silverware back to UNSW.

### PETER JOURDAIN

# CAPTAIN'S RECORDS 2004/2005

			Resu	lts									ВP	Tot.	Win	Pos
Grade	Captain	Mts	OW <sup>1</sup>	$OW^2$	W1	T1	Draw	NR	L1	$OL^1$	OL <sup>2</sup>	WF		Pts	%	
1st	Carson,David J	11	1	-	5	-	2	-	3	-	-	-	-	40	54.5	
	Total	11	1	-	5	-	2	-	3	-	-	-	-	40	54.5	8th
1LO	Carson,David J	8	1	-	4	-	-	1	3	-	-	-	2	26	57.1	
	Total	8	-	-	4	-	-	1	3	-	-	-	2	26	57.1	10th
2nd	Bhandari,Danny	17	-	-	9	-	-	-	6	1	1	-	5	57	52.9	
	Total	17	1	-	9	-	-	-	6	1	1	-	5	57	52.9	4th
3rd	Culhane, Daniel J	1	-	-	-	-	-	-	1	-	-	-	-	0	0.0	
	Leahy,Mark C	14	-	-	6	-	1	1	6	-	-	-	2	38	46.2	
	Total	15	-	-	6	-	1	1	7	-	-	-	2	38	42.9	11th
4th	Jebb,David C	1	-	-	-	-	-	-	1	-	-	-	-	0	0.0	
	Mag,Michael	14	1	-	5	1	1	1	5	-	-	-	3	46	46.2	
	Total	15	1	-	5	1	1	1	6	-	-	-	3	46	42.9	9th
5th	Gerber, Simon B H	2	-	-	1	-	-	1	-	-	-	-	-	6	100.0	
	Mitchell,Peter B	12	-	-	10	-	-	-	2	-	-	-	-	54	83.3	
	Morris, Christopher J	3	-	-	3	-	-	-	-	-	-	-	-	18	100.0	
	Total	17	-	-	14	-	-	1	2	-	-	-	-	78	87.5	3rd*
6th	Garland, Matthew	1	-	-	1	-	-	-	-	-	-	-	-	6	100.0	
	Jones, Andrew C	17	1	-	8	-	1	2	3	-	-	2	5	79	73.3	
	Serov,Paul	1	-	-	1	-	-	-	-	-	-	-	-	6	100.0	
	Total	19	1	-	10	-	1	2	3	-	-	2	5	91	76.5	3rd*
GS	Mark,Julian	7	-	-	2	-	-	1	4	-	-	-	-	12	33.3	
	Total	7	-	-	2	-	-	1	4	-	-	-	-	12	33.3	13th
PG	Day, James R F	9	-	-	6	-	-	1	2	-	-	-	7	37	75.0	
	Total	9	-	-	6	-	-	1	2	-	-	-	7	37	75.0	2nd
Club	Total	118	3	-	61	1	5	8	36	1	1	2	24	425	60.0	5th

### **Explanation of Headings**

Mts = Matches as Captain

OW¹ = Outright win after leading on first innings
 OW² = Outright win after trailing on first innings

W1 = Win on first innings
 T1 = Tie on first innings
 Draw = Drawn match
 NR = No Result

L1 = Loss on first innings

 $\begin{aligned} OL^1 & &= \text{Outright loss after leading on first innings} \\ OL^2 & &= \text{Outright loss after trailing on first innings} \end{aligned}$ 

**BP** = Bonus Points Gained (Limited Overs matches only)

WF = Win on Forfeit
Tot. Pts = Total Points Obtained

Win % = Percentage of matches won from matches played with a result

Pos = Final position/placing in competition

\* = Finished Regular Season as Minor Premiers

# **COACHING REPORT**

2005/06 was a very good season for us when you look at our 5<sup>th</sup> place Club Championship position (up from 13<sup>th</sup> last year) and only one 1<sup>st</sup> grade win out of second place in the Club Championship.

First and foremost, a big wrap for our PG runners-up led outstandingly by Jimmy Day. They were so close and could have beaten the "hormone" Hawkesbury side in the final. Though we were a talented team, we have also been talented in recent years yet hardly won a game. From this coach's perspective most of the credit falls to Jimmy Day's leadership – a great ability to instil pride in his players' efforts and very astute on-field decisions … a future 1st Grade captain for sure.

Congratulations to Pete (Mav) Mitchell and his 5<sup>th</sup> grade charges on their emphatic minor premiership (runaway winners by 13 points). Most expert observers felt that this was an enormous effort given our playing personnel from week to week – but I think it even more so displayed how competitive lower grade positions were and that it was many of our lower graders who were "fighting" in matches and training the hardest (eg Simon Crowl). A shame we couldn't carry it through to a major premiership – plenty of "ifs and buts" (including losing Gerbs to injury for the semi) but, at the end of the day, just not quite good enough.

1st grade was disappointing after season 04/05 but probably an indication of our training dropping off in intensity (few centre wicket practices available in the end because of perceived undervaluing of this resource by the higher graders). They are a very strong side on paper and nearly stormed home into the finals. Hopefully they will all learn that "catch-up" is a hard ask and it really is worthwhile to leave nothing to chance right from the first practice.

2nds played well most of the season and were led well by Bandit. Scraping into the finals was a great effort, while beating the minor premiers (and ultimate major premiers) in the qualifying final only to be pipped by a strong Balmain side in the semi, showed that we were no fluke in being there and could easily have won.

3rds were disappointing and Captain Crewers has summed up their season well in his report.

Porno's leadership of a very oft under strength 4<sup>th</sup> grade outfit was a further highlight for the season. What a great job in his first year in the role – a semis berth (narrowly missed, 1 win) would have been a fitting reward for his contribution to the Club.

And Green Shield was very encouraging with many young players displaying the skills and effort that we look forward to seeing more and more in the grade sides. Tim Van der Gughten, in particular, looks like he could turn into anything as an all rounder given he is only 14 years of age.

Congratulations to Tom Cooper on his U19 selections and performance as leading Australian run getter at the U19 World Cup. Also to Sammy Robson on his NSW U17 selection and on such an outstanding debut season in 1st Grade. Andrew Jeffery also proved a great acquisition for 1st grade – with better preparation a continuation of this season's form is likely and he could be a further UNSW player added to the NSW squad (with messrs Creed, Christian, Cooper and Lang).

From a coaching perspective Warren Smith, Henry, Pete Richo and Scorch were outstanding and our facilities were, again, as good as most 1st Class cricketers could expect to utilise. The whole club (not just 1st grade) benefited from the broader input of Warren (and Scorch) and our Club Championship showing attested to this. It is hard to provide praise sufficient for Pete Richo's contributions to practice and 1st Grade, so I will just say that he is definitely irreplaceable. My own role left a fair bit to be desired as I tended to be nothing more than an equipment marshall. I also confess to being somewhat frustrated at the approach many of us have to practice and the efforts that might be needed to do the best we can for ourselves, our teams and our club (not in that order). It is time for me to get away from that scene

and to see if we can involve other coaches who can command the respect and attention of our players.

Both myself and Warren will not be coaching in 06/07 (Warren primarily for health reasons) but Graeme Smith will be coming on board to look after the higher grade squad which is an encouraging development. Other arrangements will be in place for the coaching of the rest of the club. A huge thank you to Warren for his efforts at the Club over these last two seasons. His involvement will not have ceased completely but it will be hard to replace what he has provided in this short period of time. He will be sorely missed in the role he has performed – irreplaceable in so many ways. We wish him well in his health but look forward to involving him wherever possible in all Club matters.

We could really go places as a club if we get things right – and, in getting things right, I believe the below comments I compiled as the 05/06 coach's message (to go in the 05/06 club handbook that did not finally see publication) are a significant part of the equation –

"05/06 Coach's Message

Hopefully all members of this club realise that we have quite superior training facilities and opportunities. I don't want to dwell too much on the effort we expect players to put in at training in making the most of the luxuries we have – I have harped on about it for each of the previous 2 years I have been the Club Coach. Let's just get to practice and make the most of our valuable time. Let's get involved in all of the drills and exercises that are set up each training (particularly those Warren Smith has implemented last year and this year). Let's not just talk about it, let's get on with it.

Warren, Henry, myself, Scorch and Pete Richo are coaching staff whom are all available to ask questions of and to get involved in areas of practice each of you feel you need assistance with. Please use this resource too.

I guess the big request I have in this "Coach's Message" for all players this season and beyond is that we start to display and prove that we are thinking cricketers. This is an area we should have a natural edge over other clubs ... our players largely come from broader environments that encourage or require thought. Cricket is a thinking person's game so let's play it that way. For batsmen most of the critical thinking must occur at practices but for everyone, the big chance to show how well we think is when our teams are in the field. Thinking about field placements and what is expected from you wherever you are fielding are the obvious areas where our thinking needs to come to the fore. But it is not something that I believe we do particularly well, save for a few examples. These are critical and influential issues for sides pursuing victories – which is a key priority in grade cricket – so I would like to see us focussing on these things a lot more and I am contemplating running specific sessions to try and get people to start thinking about these things in more detail and (hopefully) more effectively.

Thinking is an individual thing ... it is something we do ourselves ... but the quality of our thinking will, virtually always, be a function of the amount and variety of ideas and information we are exposed to. I honestly believe our thinking skills are waning to a large extent because we don't spend time talking about our cricket – like we used to. Almost paradoxically (for those of us who favour alcohol), I believe we are thinking more poorly because we no longer "drink" together. The days where almost all the Club would be back at our favourite drinking holes after every Saturday (or Sunday) seem a distant memory – but they were the days when we were a smart cricketing club. I believe addressing this part of our Club dynamics will have a big impact on our on-field performances ... 1st Grade last year are a further great example of a side that socialised well together and played well together. So let's also get back to the Sam Cracknell after each Saturday (or Sunday), or to the Palace later on, and talk about our feats of that day, about our cricket and about how we can play and enjoy this great game even more the next time we participate.

And ... let's run, as a club, with the momentum 1st Grade have provided us from last year. To have our most lacklustre lower grades' year ever the same year that 1st Grade produced arguably the Club's finest performance is extremely disappointing. The Club Championship should have been up for grabs for us last year – we can't let ourselves down like that again. We are looking quite strong and if we use the superior resources we have ... and become the best "thinking" (and drinking) cricketers in Sydney ... who knows!!!!!!

Train hard and think "smart" and, this year, a lot more of us can be very directly involved in the successes and enjoyment 1st grade experienced last year."

JIM DIXON
CLUB COACH

# FIRST GRADE REPORT

Season 2005-06 ended somewhat anticlimactically for the 1<sup>st</sup> grade outfit, given the previous seasons success. After making finals in both forms of the game in season 2004-05, the bees were unable to achieve our season objective of obtaining enough points to enter the 'business' end of the season (finals).

A range of factors contributed towards the side not quite performing to expectation. Important lessons have been learned from this season and this knowledge will be used as the team progresses into the coming season looking to challenge for some silverware. For the benefit of our annual report readers and astute students of the game, one such lesson has been detailed below.

During season 2005-06, opposing teams were a lot more conservative in their tactics and general approach when playing us. The obvious downside of this tactic was that results were more difficult to obtain due to opposition sides being content with leaving the hive with a draw (zero points).

However, success seems to be achieved through an ability to adapt to changing circumstances (amongst other things). As a team, we could not quite adapt to these changing scenarios quickly enough. Our points tally reflected this, as we missed a few important opportunities to secure points against lower ranked sides - particularly prior to Christmas.

Much confidence can be taken into next season from the oppositions observed change of tactics- as they are clearly now wary of our side as a force in the competition.

Several important individual achievements worthy of mention have been produced by last seasons 1st grade crop during season 2005-06, including the following:

- **Dan Christian** represented NSW in the inaugural 20/20 competition, and represented Australia in the international 6s tournament in Hong Kong;
- **Tom Cooper** represented Australia in the Under 19 World Cup in Sri Lanka;
- UNSWCC now has 3 team members with NSW state cricket contracts for season 2006-07 in Murray Creed, Tim Lang and Tom Cooper;
- UNSWCC had 6 players who represented the victorious South Eastern Sydney representative side
  in season 2005-06. The representatives were Dan Christian, Andrew Neilan, Tim Lang, Murray
  Creed, Andrew Jeffrey and Tim Cox;
- **Andrew Jeffrey's** debut season for the club, in which he amassed 847 runs including an impressive 194 against Randwick Petersham early in the season;
- **Tim Lang's** 53 wicket tally for season 2005-06 falling just short of the 55 wicket UNSWCC 1st grade record. Strong and consistent performances in grade over the past two seasons have allowed Langy to force himself into the state squad, as mentioned above;
- Sam Robson's impressive debut season in 1st grade, netting 35 wickets. Sam also represented NSW at U17 level and has been selected for the NSW youth side to tour England this Australian winter;
- **Jimmy Day's** solid performances in 1<sup>st</sup> grade and exceptional performance and leadership qualities in captaining the U21 PGs side to the grand final;
- Mitchell O'Connor and Tom Cooper both scoring their maiden first grade centuries for the club.



Mitchell O'Conner smashes it through the covers at the VG. Mitch brought up his maiden 1st grade century this season at the same time setting a new 1st grade 1st wicket partnership record with Andrew Jeffrey.

As can be seen from the above list, some impressive individual feats have been achieved in the past year. However, it is noted that a contributing factor to these achievements has been the effectiveness of the UNSWCC 1st team 'pit crew'.

Warren Smith has handed over the coaching reins for the coming season. I would like to take this opportunity to thank him for his contributions to our side over the past two seasons. In two short years our side has been transformed from a mid/low table finishing side of battlers to a young, strong side looking towards securing the club silverware in the coming years. Warren Smith has a lot to do with this transformation. Thanks Wazzacatch! His energy, enthusiasm, guidance and passion for the game will be missed as we aim up for another season come September time. However, we look forward to seeing him around the grounds whenever possible.

**Pete Richardson** has again played a vital support role for the side. Again, he has undertaken all manner of tasks to ensure that the side has all the support required to do the business on the park. Pete's work is generally behind the scenes in nature. As such, the importance of his role is occasionally overlooked and the amount of assistance he provides occasionally underestimated. Accordingly, it was great to see him awarded the managerial role for the victorious South Eastern Sydney representative side. So thanks for your assistance Pete - it is much valued and appreciated.

The third member of our managerial inner sanctum is Dr Thirsty himself, **Rod Evans**. Scorches best work is done incognito, providing the oil that is required to keep our team moving in the right direction in the 'no fuss', humorous way that is his hallmark. My hat goes off to you Scorch for your contribution to the team and club

**Kari Kewt** has been a new and welcome addition to the fold and has performed a great role in scoring for the side. Kari rapidly mastered the 'willows' computer based scoring program allowing us to be provided with all manner of statistical information at the press of a button. Thank you Kari for your contribution.

Café VG is not a perpetual motion machine. It takes significant time and energy to keep it going. Accordingly, thanks are directed to **Toni Christian** and friends for their efficient running of Café VG during the 1<sup>st</sup> grade games. A smooth running and well stocked canteen left a good impression on opposition clubs and importantly, umpires. I believe this was one contributing factor to the VG skyrocketing up the ground ratings this season.

Talking of the VG, I would be remiss not to mention our resident Jack of all trades, **Jebby**. Throughout the season, he has worn hats such as player, coach, organisor, chairman of selectors, psychologist and most importantly, head curator of the VG. As mentioned previously, the VG experienced a heady rise up the ground ratings this season. Jebbys perfectionist attitude and tireless approach to his work was constantly evident last season and it was very pleasing to see the ground officially acknowledged as one of the top 5 in the competition.

Special mention must also be made of the vast amount of work **Disco** and **Henry** have put into the club over the years. There contribution is immense and is appreciated by all.

We thank all of the abovementioned for their contribution to the 1<sup>st</sup> grade side and UNSWCC in general. As a side we look forward to the challenge of delivering some silverware to the club cabinet and playing our role in the club winning an elusive club championship in season 2006-07.

### **DAVID CARSON**

# MATCH SUMMARIES 1st Grade Two Day Matches 2005/2006

Rd	Rd Venue LO		Inns of:	Score	Ov	Inns of:	Score	Ov
2	Petersham Oval		Randwick-Petersham	193	60.4	University of NSW	5/362 d.	75.1
			Lang,Timothy E	5/53	19.4	Jeffrey, Andrew D	194	(244)
			Day,James R F	3/42	13	Cooper,Tom L W	92	(121)
			Christian,Daniel T	2/21	9	Christian, Daniel T	29	(37)
			(2nd Inns)	124	34.4			
			Christian,Daniel T	6/33	13			
			Lang,Timothy E	3/42	13			
			Day,James R F	1/0	0.4			
	Result:	Out	right win after leading or	n first inn	ings (1	0 points)		
4	Village Green		Campbelltown-Camden	224	61.1	University of NSW	4/312 d.	65
			Robson,Samuel D	6/71	18.1	Cooper,Tom L W	130	(139)
			Christian,Daniel T	3/45	13	Christian, Daniel T	61	(58)
			(2nd Inns)	3/147	39.4	Jeffrey, Andrew D	44	(71)
			Robson,Samuel D	3/50	12.4			
	Result:	Woı	n on first innings (6 point	s)				
5	Village Green		UTS-Balmain	9/378 d.	104	University of NSW	9/373	88
			Day,James R F	3/56	18	Jeffrey, Andrew D	146	(200)
			Lang,Timothy E	3/89	25	O'Connor,Mitchell W	112	(160)
			Robson,Samuel D	3/92	22	Creed, Murray W	43	(83)
						Day, James R F	31*	(25)
	Result:		w (0 points)					
7	Bankstown Ova	nkstown Oval University of NSW		8/294 d.	96	Bankstown	<b>174</b>	65.2
			Christian,Daniel T	108	(193)	Lang, Timothy E	5/44	16
			Creed,Murray W	58	(134)	Robson,Samuel D	3/40	14.2
			Carson,David J	37	(72)			
	Result:	Woı	n on first innings (6 point	s)				

8	Village Green	Western Suburbs	260	86	University of NSW	184	64.4
		Lang, Timothy E	4/36	18	Creed,Murray W	70*	(138)
		Christian, Daniel T	3/61	14	Lang, Timothy E	44	(75)
		Robson,Samuel D	3/72	19	Ç		,
	Result:	Loss on first innings (0 poin	nts)				
9	Village Green	University of NSW	177	64.4	Manly Warringah	300	80
		Day, James R F	29	(82)	Christian, Daniel T	3/40	8
		Jeffrey, Andrew D	29	(42)	Cox, Timothy D	2/36	9
		Neilan, Andrew M	24	(51)	Lang, Timothy E	2/58	23
		(2nd Inns)	2/70	29	Robson,Samuel D	2/104	25
		Jeffrey, Andrew D	44*	(94)			
	Result:	Loss on first innings (0 poin	nts)				
11	Howell Oval	<b>University of NSW</b>	251	89	Penrith	8/211	80
		Jeffrey, Andrew D	88	(147)	Lang, Timothy E	3/41	16
		Creed, Murray W	61	(154)	Cooper,Tom L W	2/57	22
		Lang, Timothy E	39	(59)			
	Result:	Draw (0 points)					
12	Waitara Oval	Northern Districts	78	35.3	University of NSW	5/89 d.	34.5
		Lang, Timothy E	6/20	11.3	Carson, David J	30*	(99)
		Cox, Timothy D	2/11	7	O'Connor,Mitchell W	19	(40)
		Day, James R F	1/8	6			
		(2nd Inns)	244	62.4	(2nd Inns)	7/226	52
		Cox, Timothy D	5/83	23	Carson, David J	46	(61)
		Lang, Timothy E	3/70	17.4	Creed, Murray W	36	(65)
		Day, James R F	1/12	4	Lang, Timothy E	31	(43)
					Jeffrey, Andrew D	31	(70)
	Result:	Won on first innings (6 poi					
13	Village Green	St.George	9/311 d.	96	University of NSW	278	88.1
		Cox, Timothy D	2/40	18	Day, James R F	90	(150)
		Christian, Daniel T	2/47	17	Neilan, Andrew M	32	(25)
		Lang, Timothy E	2/69	23	Cox,Timothy D	30	(67)
		Neilan, Andrew M	5	Cts	Christian, Daniel T	29	(62)
	Result:	Loss on first innings (0 poin	•				
14	Village Green	Sydney University	284	95.5	University of NSW	2/287	77.1
		Christian, Daniel T	4/65	20.5	Christian, Daniel T	135*	(171)
		Lang, Timothy E	3/63	26	Carson,David J	134*	(267)
		Neilan, Andrew M	5	Cts			
	Result:	Won on first innings (6 poi			** 1 1: 4*****		
15	Killara Oval	* Gordon	261	49.5	University of NSW	6/263	45.2
		Robson,Samuel D	4/52	9	Carson, David J	105*	(92)
		Cox, Timothy D	3/37	9.5	Cooper,Tom L W	45	(46)
		Lang, Timothy E	1/37	10	Jeffrey, Andrew D	25	(42)
		***			Day, James R F	24*	(31)
	Result:	Won on first innings (6 poi	nts)				

**MATCH SUMMARIES** 

1st Grade Limited Overs Competition 2005/2006

Rd Venue	LO Inns of:	Score	Ov	Inns of:	Score	Ov
LO1 Village Green	* University of NSW	8/220	50	Fairfield-Lilverpool	6/224	49
	Creed, Murray W	87	(129)	Lang, Timothy E	2/26	10
	Carson, David J	46	(64)	Christian, Daniel T	1/16	3
	Christian, Daniel T	25	(34)			
	Day, James R F	24*	(37)			
Result:	Loss on first innings (0 p	points)				
LO2 Rawson Oval	* University of NSW	202	47.4	Mosman	5/206	46.2
	Creed,Murray W	64	(122)	Cooper,Tom L W	2/19	5
	Lang, Timothy E	36	(39)	Lang, Timothy E	1/33	10
	O'Connor,Mitchell V	W 34	(35)	Day, James R F	1/37	10
Result:	Loss on first innings (0 p	points)				
LO3 Village Green	* Sutherland			University of NSW		
Result:	No Result (0 points) - W	/ashout				
LO4 Waverly Oval	* University of NSW	190	49.5	Eastern Suburbs	8/191	48.5
	O'Connor,Mitchell V	W 48	(55)	Christian, Daniel T	3/47	9
	Christian, Daniel T	35	(37)	Cooper,Tom L W	2/21	10
	Creed, Murray W	33	(82)	Day, James R F	1/28	10
Result:	Loss on first innings (0 p	points)	, ,			
LO5 Village Green	* University of NSW	9/239	50	Hawkesbury	229	49.1
	Jeffrey, Andrew D	90	(98)	Cox, Timothy D	3/28	10
	Creed,Murray W	37	(79)	Cooper,Tom L W	3/42	10
	·			Robson,Samuel D	2/52	10
Result:	Won on first innings (6	points)				
LO6 Village Green	* University of NSW		35.2	North Sydney	107	34.1
	Christian,Daniel T	57	(43)	Lang, Timothy E	5/26	9
				Cox,Timothy D	2/9	5.1
				Christian, Daniel T	2/28	8
				Neilan, Andrew M	4	Cts
Result:	Won on first innings + B	3P (7 points)				
LO7 Joe McAleer	* Blacktown	159	50	University of NSW	4/160	43.4
Oval	Day, James R F	4/22	10	Creed,Murray W	55*	(118)
	Cox,Timothy D	3/19	10	Jeffrey, Andrew D	46	(74)
	, ,			O'Connor,Mitchell W	28*	(34)
Result:	Won on first innings (6	points)		,		` /
LO8 Old Kings Oval		•	50	Parramatta	154	40.1
<i>g</i>	Carson,David J	56	(69)	Robson,Samuel D	5/49	9.1
	Jeffrey,Andrew D	51	(79)	Lang, Timothy E	2/19	6
	Lang, Timothy E	42	(52)	Zehner, Eric J W	1/11	5
	0			Jeffrey, Andrew D		
	Christian,Daniel T	34	(49)	lettrev. Andrew 17	3	Cts

### **BATTING**

### 1st Grade - Combined 2005/2006

Overs Faced: 1195.3
Runs Scored For: 4554
Wickets Lost: 146
Average / Wicket: 31.19
Balls / Wicket: 49.13
Runs / Over: 3.81

Highest Score For: 9/373 vs UTS-Balmain (Rd5) Lowest Score For: 136 vs North Sydney (LO6)

Name	Mts	Inn	No	HS	Runs	Avg	50	100	S/R	<b>4s</b>	6s	Ct	Wk	St	RD	RI	Pts
Jeffrey, Andrew D	18	20	1	194	886	46.63	3	2	63.60	85	10	12			-	-	1154
Carson,David J	18	18	4	134*	559	39.93	1	2	57.87	49	10	7			-	-	848
Christian, Daniel T	17	20	2	135*	647	35.94	2	2	70.56	75	10	13			2	-	2107
Creed, Murray W	18	20	2	87	639	35.50	6	-	46.04	53	1	11			-	-	918
Day, James R F	17	13	5	90	235	29.38	1	-	59.80	20	3	8			-	-	804
Cooper,Tom L W	12	11	-	130	317	28.82	1	1	81.91	39	6	6			-	-	717
O'Connor,Mitchell W	18	19	2	112	412	24.24	-	1	61.13	47	9	7			-	-	656
Cox,Timothy D	15	9	4	30	107	21.40	-	-	50.47	7	1	3			1	1	722
Lang, Timothy E	18	15	1	44	268	19.14	-	-	60.50	27	1	8			-	-	2041
Sykes,Mitchell C	4.5	4	1	22	31	10.33	-	-	30.39	2	-	1			-	-	71
Neilan, Andrew M	18	14	3	32	112	10.18	-	-	72.73	14	1	-	36	5	-	3	1165
Robson,Samuel D	13.5	9	3	19	50	8.33	-	-	30.86	1	-	6			-	-	1084
Also Batted:																	
Zehner,Eric J W	7.5	3	2	6	9	9.00	-	-	69.23	-	-	2			-	2	149
Elliott,Michael R	1	1	-	4	4	4.00	-	-	16.67	-	-	1			-	-	24
Thomas, Christopher M	2	2	2	2*	3	-	-	-	75.00	-	-	-			-	-	23
Stephen,Darren J	0.5	-	-	-	-	-	-	-	-	-	-	-			-	-	-
Extras					275												

UNSW 1st Grade Debut: AD Jeffrey, SD Robson, MC Sykes.

### **BATTING**

### 1st Grade Two Day Matches 2005/2006

Overs Faced: 869
Runs Scored For: 3166
Wickets Lost: 88
Average / Wicket: 35.98
Balls / Wicket: 59.25
Runs / Over: 3.64

Highest Score For: 9/373 vs UTS-Balmain (Rd5) Lowest Score For: 177 vs Manly Warringah (Rd9)

Name	Mts	Inn	No	HS	Runs	Avg	50	100	S/R	<b>4s</b>	6s	Ct Wk	St RD	RI	Pts
Day, James R F	10	7	4	90	193	64.33	1	-	60.12	19	2	6	-	-	668
Carson,David J	11	11	4	134*	408	58.29	-	2	54.99	37	9	4	-	-	748

Jeffrey, Andrew D	11	13	1	194	647	53.92	1	2	62.45	61	10	7			-	-	1072
Cooper,Tom L W	7	6	-	130	280	46.67	1	1	82.84	33	6	4			-	-	595
Christian, Daniel T	10	13	2	135*	466	42.36	1	2	65.27	54	6	11			-	-	1766
Creed, Murray W	11	13	1	70*	354	29.50	3	-	43.07	35	1	7			-	-	629
O'Connor,Mitchell W	11	12	1	112	271	24.64	-	1	53.56	30	4	5			-	-	531
Cox,Timothy D	9	5	2	30	65	21.67	-	-	41.67	4	1	2			-	1	590
Lang, Timothy E	11	9	-	44	167	18.56	-	-	58.80	22	-	6			-	-	1692
Neilan, Andrew M	11	8	2	32	80	13.33	-	-	72.07	12	1	-	24	2	-	2	930
Robson,Samuel D	9.5	6	1	19	35	7.00	-	-	31.53	1	-	6			-	-	1065
Also Batted:																	
Sykes,Mitchell C	2.5	3	1	22	29	14.50	-	-	29.90	2	-	1			-	-	69
Elliott,Michael R	1	1	-	4	4	4.00	-	-	16.67	-	-	1			-	-	24
Thomas, Christopher M	1	1	1	2*	2	-	-	-	66.67	-	-	-			-	-	2
Zehner,Eric J W	4.5	1	1	0*	0	-	-	-	-	-	-	1			-	1	100
Stephen,Darren J	0.5	-	-	-	-	-	-	-	-	-	-	-			-	-	-
Extras					165												

### **BATTING**

### 1st Grade Limited Overs Competition 2005/2006

Overs Faced: 326.3
Runs Scored For: 1388
Wickets Lost: 58
Average / Wicket: 23.93
Balls / Wicket: 33.78
Runs / Over: 4.25

Highest Score For: 7/241 vs Parramatta (LO8) Lowest Score For: 136 vs North Sydney (LO6)

2011001000101011	100 10			, 01110	, (200	,											
Name	Mts	Inn	No	HS	Runs	Avg	50	100	S/R	<b>4s</b>	6s	Ct	Wk	St	RD	RI	Pts
Creed, Murray W	7	7	1	87	285	47.50	3	-	50.35	18	-	4			-	-	289
Jeffrey, Andrew D	7	7	-	90	239	34.14	2	-	66.95	24	-	5			-	-	82
Christian, Daniel T	7	7	-	57	181	25.86	1	-	89.16	21	4	2			2	-	341
O'Connor,Mitchell W	7	7	1	48	141	23.50	-	-	83.93	17	5	2			-	-	125
Carson,David J	7	7	-	56	151	21.57	1	-	67.41	12	1	3			-	-	100
Cox, Timothy D	6	4	2	19*	42	21.00	-	-	75.00	3	-	1			1	-	132
Lang, Timothy E	7	6	1	42	101	20.20	-	-	63.52	5	1	2			-	-	349
Day, James R F	7	6	1	24*	42	8.40	-	-	58.33	1	1	2			-	-	136
Cooper,Tom L W	5	5	-	22	37	7.40	-	-	75.51	6	-	2			-	-	122
Neilan, Andrew M	7	6	1	11*	32	6.40	-	-	74.42	2	-	-	12	3	-	1	235
Also Batted:																	
Robson,Samuel D	4	3	2	7*	15	15.00	-	-	29.41	-	-	-			-	-	19
Zehner,Eric J W	3	2	1	6	9	9.00	-	-	90.00	-	-	1			-	1	49
Sykes, Mitchell C	2	1	-	2	2	2.00	-	-	40.00	-	-	-			-	-	2
Thomas, Christopher M	1	1	1	1*	1	-	-	-	100.00	-	-	-			-	-	21
Extras					110												

### **BOWLING**

### 1st Grade - Combined 2005/2006

Overs Bowled: 1269
Runs Scored Against: 4459
Wickets Taken: 188
Average / Wicket: 23.72
Balls / Wicket: 40.50
Runs / Over: 3.51

Highest Score Against: 9/378 vs UTS-Balmain (Rd5)
Lowest Score Against: 78 vs Northern Districts (Rd12)

Ü											
Name	О	M	W	R	Best	Avg	Econ	S/R	5wi	Wd	Nb
Lang, Timothy E	309.5	61	54	943	6/20	17.46	3.04	34.87	4	11	13
Cox, Timothy D	187.5	45	25	506	5/83	20.24	2.69	45.36	1	3	4
Christian, Daniel T	196	21	33	766	6/33	23.21	3.91	37.15	1	8	42
Robson,Samuel D	190.2	22	35	814	6/71	23.26	4.28	33.00	2	8	5
Day, James R F	141.4	23	19	456	4/22	24.00	3.22	45.05	-	1	5
Cooper,Tom L W	97	18	10	322	3/42	32.20	3.32	58.40	-	2	-
Zehner, Eric J W	75.2	11	4	311	1/11	77.75	4.13	118.25	-	10	11
Sykes, Mitchell C	48	6	1	174	1/58	174.00	3.62	288.00	-	-	-
Also Bowled:											
Thomas, Christopher M	11	1	1	43	1/27	43.00	3.91	73.00	-	7	-
Stephen,Darren J	10	1	-	23	0/23	-	2.30	-	-	-	-
Carson,David J	2	1	-	8	0/0	-	4.00	-	-	-	-
Extras				93							

### **BOWLING**

### 1st Grade Two Day Matches 2005/2006

Overs Bowled: 951.2
Runs Scored Against: 3189
Wickets Taken: 129
Average / Wicket: 24.72
Balls / Wicket: 44.25
Runs / Over: 3.35

Highest Score Against: 9/378 vs UTS-Balmain (Rd5)
Lowest Score Against: 78 vs Northern Districts (Rd12)

Name 0 W R **Best** S/R 5wi Wd Nb M Avg **Econ** Lang, Timothy E 244.5 48 41 720 6/20 17.56 2.94 3 7 36.07 3 Christian, Daniel T 147.5 19 26 523 6/33 20.12 3.54 35.35 1 4 28 Robson, Samuel D 161.1 22 28 661 6/71 23.61 4.10 34.79 1 3 4 Day, James R F 86.4 14 11 265 3/42 24.09 3.06 47.64 4 135.5 35 15 5/83 Cox, Timothy D 365 24.33 2.69 54.67 1 1 4 3 225 2/57 Cooper, Tom L W 67 14 75.00 3.36 134.00 Zehner, Eric J W 55 10 221 1/15 110.50 4.02 171.00

Also Bowled:											
Sykes, Mitchell C	36	6	1	110	1/58	110.00	3.06	216.00	-	-	-
Stephen,Darren J	10	1	-	23	0/23	-	2.30	-	-	-	-
Thomas, Christopher M	6	1	-	16	0/16	-	2.67	-	-	-	-
Carson,David J	1	1	-	0	0/0	-	0.00	-	-	-	-
Extras				60							

### **BOWLING**

### 1st Grade Limited Overs Competition 2005/2006

317.4 Overs Bowled: Runs Scored Against: 1270 59 Wickets Taken: 21.53 Average / Wicket: Balls / Wicket: 32.31 4.00 Runs / Over:

Highest Score Against: 229 vs Hawkesbury (LO5)

Lowest Score Against: 107 vs North Sydney (LO6) Name

Name	O	M	W	R	Best	Avg	Econ	S/R	5wi	Wd	Nb
Cox,Timothy D	52	10	10	141	3/19	14.10	2.71	31.40	-	2	-
Lang, Timothy E	65	13	13	223	5/26	17.15	3.43	31.08	1	8	6
Day, James R F	55	9	8	191	4/22	23.88	3.47	41.50	-	1	1
Christian, Daniel T	48.1	2	7	243	3/47	34.71	5.04	43.86	-	4	14
Also Bowled:											
Cooper,Tom L W	30	4	7	97	3/42	13.86	3.23	26.00	-	2	-
Robson,Samuel D	29.1	-	7	153	5/49	21.86	5.25	25.86	1	5	1
Thomas, Christopher M	5	-	1	27	1/27	27.00	5.40	37.00	-	7	-
Zehner,Eric J W	20.2	1	2	90	1/11	45.00	4.43	65.50	-	3	6
Sykes,Mitchell C	12	-	-	64	0/13	-	5.33	-	-	-	-
Carson,David J	1	-	-	8	0/8	-	8.00	-	-	-	-
Extras				33							

### **PARTNERSHIPS**

# 1st Grade Two Day Matches 2005/2006

Wkt	Rd	Opponent	In	Bat 1	Sc	Bat 2	Sc	P/S	_
1st	5	UTS-Balmain	1	Jeffrey,Andrew D	146	O'Connor,Mitchell W	112	259	#
1st	4	Campbelltown-Camden	1	Jeffrey, Andrew D	44	Christian, Daniel T	61	113	
1st	2	Randwick-Petersham	1	O'Connor,Mitchell W	24	Jeffrey, Andrew D	194	55	_
2nd	11	Penrith	1	Jeffrey, Andrew D	88	Creed, Murray W	61	112	
2nd	12	Northern Districts	2	Creed,Murray W	36	Jeffrey, Andrew D	31	52	_
3rd	14	<b>Sydney University</b>	1	Christian, Daniel T	135*	Carson,David J	134*	273*	#
3rd	4	Campbelltown-Camden	1	Creed, Murray W	24	Cooper,Tom L W	130	80	_
4th	2	Randwick-Petersham	1	Jeffrey,Andrew D	194	Cooper,Tom L W	92	269	#
4th	4	Campbelltown-Camden	1	Cooper,Tom L W	130	O'Connor,Mitchell W	17*	101	
4th	7	Bankstown	1	Creed, Murray W	58	Christian, Daniel T	108	83	
4th	15	Gordon	1	Cooper,Tom L W	<b>4</b> 5	Carson,David J	105*	72	
4th	5	UTS-Balmain	1	Christian, Daniel T	28	Creed,Murray W	43	56	_
5th	7	Bankstown	1	Carson, David J	37	Christian, Daniel T	108	76	
5th	12	Northern Districts	2	Carson,David J	46	Lang,Timothy E	31	61	_
6th	8	Western Suburbs	1	Lang, Timothy E	44	Creed,Murray W	70*	67	_
7th	13	St.George	1	Cox, Timothy D	30	Day, James R F	90	94	
7th	15	Gordon	1	Day, James R F	24*	Carson,David J	105*	80*	_
8th	11	Penrith	1	Lang, Timothy E	39	Sykes,Mitchell C	5*	53	_
9th	8	Western Suburbs	1	Sykes, Mitchell C	22	Creed,Murray W	70*	34	_
10th	9	Manly Warringah	1	Neilan,Andrew M	24	Cox,Timothy D	3*	20	_

<sup>#</sup> New club record.

# Partnership Averages

Wkt	Inns	NO	Runs	Avg
1st	13	-	618	47.54
2nd	13	-	294	22.62
3rd	13	2	595	54.09
4th	11	-	681	61.91
5th	11	1	244	24.40
6th	8	-	221	27.62
7th	8	1	235	33.57
8th	7	1	154	25.67
9th	6	1	69	13.80
10th	5	1	55	13.75

### **PARTNERSHIPS**

# 1st Grade Limited Overs Competition 2005/2006

Wkt	Rd	Opponent	In	Bat 1	Sc	Bat 2	Sc	P/S
1st	LO8	Parramatta	1	Christian, Daniel T	34	Jeffrey, Andrew D	51	70
1st	LO4	Eastern Suburbs	1	O'Connor,Mitchell W	48	Jeffrey, Andrew D	25	66
2nd	LO5	Hawkesbury	1	Creed, Murray W	37	Jeffrey, Andrew D	90	117
2nd	LO7	Blacktown	1	Jeffrey, Andrew D	46	Creed,Murray W	55*	73
3rd	LO1	Fairfield-Lilverpool	1	Christian, Daniel T	25	Creed, Murray W	87	65
4th	LO1	Fairfield-Lilverpool	1	Carson,David J	46	Creed,Murray W	87	95
4th	LO4	Eastern Suburbs	1	Christian, Daniel T	35	Creed, Murray W	33	53
5th	LO8	Parramatta	1	Carson,David J	56	Lang,Timothy E	42	66
5th	LO7	Blacktown	1	O'Connor,Mitchell W	28*	Creed, Murray W	55*	51*
6th	LO2	Mosman	1	Lang, Timothy E	36	Creed, Murray W	64	71
7th	LO1	Fairfield-Lilverpool	1	Neilan, Andrew M	7	Day, James R F	24*	22
8th	LO8	Parramatta	1	Neilan, Andrew M	11*	Cox,Timothy D	19*	24*
9th	LO2	Mosman	1	Creed,Murray W	64	Zehner,Eric J W	6	16
10th	LO6	North Sydney	1	Cox,Timothy D	12	Robson,Samuel D	7*	27

### Partnership Averages

Wkt	Inns	NO	Runs	Avg
1st	7	-	222	31.71
2nd	7	-	285	40.71
3rd	7	-	117	16.71
4th	7	-	249	35.57
5th	7	1	190	31.67
6th	6	-	135	22.50
7th	6	-	56	9.33
8th	6	1	55	11.00
9th	5	1	30	7.50
10th	4	1	49	16.33

# **SECOND GRADE REPORT**

This season really was a rollercoaster ride. From a great start to a mid season stutter, to utter despair, to a great fighting effort to reach the semi's only for heartbreak at the second last hurdle.

First of all, on behalf of the side, I would like to thank the people that contribute their time, and so much more, to the running of the club. These include Pete Richardson, Paul Serov, Disco, Jebby, Henry, Livo, and especially our scorer for the season, Alan (Wal) Reid.

Our side this year was as good a side as I have seen fielded in 2nds in my time at the club. I believe that in terms of skill and experience we were easily one of the top three sides in the competition.

What is apparent though, is that we play the game differently (and for different reasons) than other sides. For most of us, cricket is a hobby, a game that we love playing, but one that does not define who we are or what we can achieve as people. Though we are competitive and play to win, there is no sense of doom and gloom should we fail to win. Our life is generally OK no matter what the result. We are amateurs in the truest sense of the word. Contrast this to many other sides where cricket is often a potential ticket to a new and better life. Where cricket provides an opportunity to escape a more ordinary life and prove ones worth.

The result is that perhaps other sides are hungrier, more disciplined and likely to play with a sense of urgency. Ugly cricket is often the norm and a grinding 80 is so much more valued (and so much more often achieved) than a pretty to watch 45. In our side, cricket is played as a game, and because of the role it plays (and does not play) in our life, we are often prone to playing it with more aesthetic motivations.

The result is that, sometimes, we are simply not disciplined and determined enough to win games that we should win. We have been good enough to reach finals anyway, but when we get there, we realise that we want it as much as the other side, and maybe we play tensed up cricket, afraid of failing. We suddenly try to play a new style of cricket, more suited to the level we are playing and the circumstances of pressure cricket. That is to say, we suddenly feel the pressure and the potential cost of this relaxed approach to the game.

I believe that we cannot have it both ways. If we play relaxed enjoyable cricket (with the tendency to favour strokeplay rather than accumulation and rip snorters rather than line and length) we must carry this same attitude into the finals (and be prepared to accept the result). If we cannot accept this kind of result, then we must play a different, tougher and less aesthetic brand of cricket, ALL YEAR, not just in March.

I always thought we should do the latter, but now I think that you cannot change a man's reasons for playing, and that enjoyment is paramount. If we again reach the finals, we should simply back ourselves, play our shots, bowl inswinging yorkers galore, and be satisfied with it. This year, a key element was that we enjoyed ourselves off the field and this helped drive success on the field.

Overall highlights for the season were:

- clinically knocking off Sydney Uni and Gordon in the last two rounds to seal 6th spot
- a brilliant bowling performance and 9th wicket stand from Zelly and Syko to win the first semi against NDs (who we beat twice and who ultimately won the comp)
- knocking off Randwick-Petersham 1 down (with Tubby and Richo destroying them in the 1st session)
- smashing Easts (always a pleasure)

- beating Bankstown in the final over as they tried to hang on for a draw
- smashing North Sydney by 10 wkts and being back to the pub before lunch

As a side, our batting often let us down, we had some spectacular collapses (including the best three of the year across all grades).

**Tim Richardson** was outstanding though, a 1st grader laying waste to 2<sup>nd</sup> grade attacks all year. Despite a crippling back injury and an urge to get into the odd stoush, Tim's contribution and leadership was valuable both on and off the field. **Michael Elliott** also played some outstanding knocks and likewise was always contributing to the side. **Pablo** had some purple patches and played every game for the year, while **Mitchell Sykes** and **Mitchell Gowland** are outstanding prospects.

Our fielding definitely cost us some results. On the plus side, **Mitchell Sykes** and **Mitchell Gowland** were outstanding (with Sykesy a worthy winner of the club fielding award). **Niko** showed some class as a keeper/batsman and most importantly, is only getting better. **Stu Mackay** offered something of everything, he is a gutsy and valuable cricketer and was a worthy winner of the Barr Turn.

The bowlers were outstanding all year and drove much of our success. **Shaker** will really be missed on and off the park and **Zoomer**, **Thommo** and **Zelly** were generally too good for the opposition. **Hayers'** bowling was brilliant, like he'd never been away. I hope they all back up next season.

Finally, and more seriously, this year 3 of our team mates, **Daniel Culhane**, **Michael Elliott** and **Anthony O'Sullivan** lost a very close family member. These events showed us that the club is about so much more than cricket. It really is a community and as such we hoped to provide our friends with some support during these hard times.

It was an honour to lead this side on the field this year, but it was a far greater honour to simply be amongst them as friends and team mates during good times and bad.

### DANNY BHANDARI

### **MATCH SUMMARIES**

2nd	Grade	2005	2006
-----	-------	------	------

Rd	Venue	LC	Inns of:	Score	Ov	Inns of:	Score	Ov
1	Rosedale Oval	*	University of NSW	5/230	50	Fairfield-Lilverpool	4/197	50
			Elliott,Michael R	95*	(119)	Fuss,Gary P	1/24	10
			O'Sullivan, Anthony J	52	(74)	Thomas, Christopher M	1/30	10
			Richardson, Timothy S	26	(40)	Dobbie,Glen W	1/36	10
	Result:	Wo	on on first innings (6 point	s)				
2	Village Green		Randwick-Petersham	226	78.2	University of NSW	5/266	80
			Thomas, Christopher M	4/26	13	Elliott,Michael R	105	(209)
			Bhandari,Danny	2/25	7	Richardson, Timothy S	77	(155)
			Fuss,Gary P	2/34	13.2	Robson,Samuel D	26*	(55)
			Bhandari,Danny	3	Cts	Carson,Peter W	23*	(31)
	Result:	Wo	on on first innings (6 point	s)				
3	Village Green	*	Mosman	117	36	University of NSW	5/121	25.3
			Robson,Samuel D	4/30	10	Richardson, Timothy S	40	(36)
			Bhandari,Danny	2/13	4	Elliott,Michael R	35	(39)
			Fuss,Gary P	2/18	6			
			Dooley,Robert A	2/29	8			
	Result:	W	on on first innings + BP (7	points)				

4	Raby 1	Campbelltown-Camden	9/312 d.	99	University of NSW	159	72.2
		Stephen,Darren J	5/53	22	Bhandari,Danny	63	(181)
		Fuss,Gary P	3/103	21	Richardson, Timothy S	35	(88)
					O'Sullivan, Anthony J	24	(56)
	Result:	Loss on first innings (0 point	s)				
5	Drummoyne Ov	al UTS-Balmain	306	93.3	<b>University of NSW</b>	176	59.1
		Zehner,Eric J W	4/69	20	Bhandari,Danny	86	(163)
		Carson,Peter W	3/29	8	Richardson, Timothy S	22	(57)
		Fuss,Gary P	2/81	19.3	(2nd Inns)	3/76	17
					Richardson, Timothy S	39*	(52)
	Result:	Loss on first innings (0 point	s)				
6	Village Green	* University of NSW	7/214	50	Eastern Suburbs	137	42.4
		Sykes,Mitchell C	59	(68)	Thomas, Christopher M	2/21	8
		Bhandari,Danny	36	(39)	Bhandari,Danny	2/21	8
		Zehner,Eric J W	28*	(25)	Stephen, Darren J	1/27	10
		Nikolovski,Richard	28	(45)	_		
	Result:	Won on first innings + BP (7	points)				
7	Village Green	University of NSW	337	94.3	Bankstown	293	89.1
	_	Richardson, Timothy S	129	(229)	Sykes, Mitchell C	3/61	23.1
		Elliott,Michael R	58	(67)	Thomas, Christopher M	3/63	17
		Zehner,Eric J W	31	(34)	Zehner,Eric J W	2/25	14
	Result:	Won on first innings (6 point	ts)	. ,	•		
8	Pratten Park	University of NSW	312	89	Western Suburbs	7/331	101
		Zell,Andrew D	92	(93)	Thomas, Christopher M	3/79	20
		Carson,Peter W	77	(131)	Dobbie,Glen W	2/72	20
		McKay,Stuart W	60	(105)	Zell,Andrew D	1/54	19
		Thomas, Christopher M	31*	(53)	McKay,Stuart W	1/11	3
	Result:	Loss on first innings (0 point	s)	,	<b>3</b> ·		
9	Manly Oval	* University of NSW	9/140	40	Manly Warringah	3/141	27.4
		Carson,Peter W	47*	(70)	Stephen, Darren J	1/18	5
		Bhandari,Danny	24	(51)	Thomas, Christopher M	1/25	6
	Result:	Loss on first innings (0 point			•		
10	North Sydney 2	0 1	89	34.4	University of NSW	0/90	14.4
		Stephen,Darren J	4/32	10	Bhandari,Danny	50*	(54)
		Zehner,Eric J W	2/11	6	Richardson, Timothy S	38*	(35)
		Thomas, Christopher M	2/14	6	, ,		( )
		Sykes, Mitchell C	1/16	8.4			
	Result:	Won on first innings + 2BP (8					
11	Village Green	Penrith Penrith	305	88.2	University of NSW	234	78.2
		Stephen,Darren J	5/59	21.2	Carson,Peter W	50	(62)
		Thomas, Christopher M	3/49	17	Elliott,Michael R	38	(49)
		Elliott, Michael R	1/8	2	McKay,Stuart W	25	(77)
	Result:	Loss on first innings (0 point		_			( )
12	Village Green	University of NSW	233	66	Northern Districts	194	75.2
	. mage Green	Sykes,Mitchell C	57	(86)	Stephen, Darren J	3/63	27
		Richardson, Timothy S	51	(106)	Sykes, Mitchell C	3/64	20
		Hayward, Matthew W	46	(61)	Dobbie, Glen W	2/28	5.2
		Carson, Peter W	36	(73)	Zell, Andrew D	1/30	20
	I	Carson, reter w	30	(73)	Len, Andrew D	1/30	20

		(2nd Inns)	64	31.3	(2nd Inns)	3/104	12.2
		Stephen,Darren J	26*	(58)	Stephen,Darren J	2/49	6.2
		Dobbie,Glen W	19	(85)	•		
	Result:	Outright loss after leading or	n first inr	nings (4			
13	Hurstville Oval	University of NSW	79	31.5	St.George	6/259 d.	45.4
		Stephen,Darren J	31*	(33)	Hayward, Matthew W	2/46	8.4
		O'Sullivan,Anthony J	20	(56)	•		
		(2nd Inns)	195	71.4	(2nd Inns)	1/19	4
		Carson,Peter W	51	(85)	Hayward, Matthew W	1/12	2
		O'Sullivan,Anthony J	51	(144)			
	Result:	Outright loss after trailing or	n first inr	ings ((	) points)		
14	Sydney	Sydney University	171	64.5	University of NSW	9/256 d.	83
	University 1	Hayward, Matthew W	4/27	14.5	Richardson, Timothy S	105	(210)
		Stephen,Darren J	3/32	16	Carson,Peter W	58	(130)
		(2nd Inns)	5/118	34			
		Zehner,Eric J W	2/21	6			
		Zell,Andrew D	1/14	7			
	Result:	Won on first innings (6 point	ts)				
15	Village Green	* University of NSW	9/231	50	Gordon	183	45.3
		Richardson, Timothy S	60	(80)	Zehner, Eric J W	4/31	8.3
		Elliott,Michael R	41	(50)	Bhandari,Danny	3/32	7
		Bhandari,Danny	37	(68)	Dooley,Robert A	1/22	6
		Sykes,Mitchell C	31	(35)	Nikolovski,Richard	4	Dism
	Result:	Won on first innings + BP (7	points)				
QF	Waitara Oval	Northern Districts	167	79.1	University of NSW	180	63.2
		Hayward, Matthew W	5/34	15	Sykes, Mitchell C	53	(138)
		Zehner,Eric J W	3/17	14	Zell,Andrew D	44	(75)
		Sykes,Mitchell C	1/23	11.1	Zehner, Eric J W	21	(21)
		(2nd Inns)	5/60	11			
		Zehner,Eric J W	4/22	5			
		Stephen,Darren J	1/35	5			
	Result:	Won on first innings					
SF	Drummoyne Ov		117	51	University of NSW	85	42.3
		Zell,Andrew D	3/26	12	Bhandari,Danny	31	(60)
		Stephen,Darren J	2/19	12			
		Zehner,Eric J W	2/35	12			
		Sykes, Mitchell C	1/7	4			
		(2nd Inns)	4/181	69			
		Sykes, Mitchell C	1/12	10			
		Zell, Andrew D	1/25	10			
	Result:	Loss on first innings					

### **BATTING**

### 2nd Grade 2005/2006

Overs Faced: 1110.2
Runs Scored For: 3678
Wickets Lost: 162
Average / Wicket: 22.70
Balls / Wicket: 41.12
Runs / Over: 3.31

Highest Score For: 337 vs Bankstown (Rd7)

Lowest Score For: 64 vs Northern Districts (Rd12)

Lowest Score For:	64 vs	64 vs Northern Districts (Rd12)															
Name	Mts	Inn	No	HS	Runs	Avg	50	100	S/R	<b>4s</b>	6s	Ct	Wk	St	RD	RI	Pts
Richardson, Timothy S	16	18	2	129	694	43.38	3	2	55.12	87	-	5			1	1	1128
Elliott,Michael R	13	13	1	105	446	37.17	2	1	64.36	60	2	4			-	1	751
Carson,Peter W	17	19	3	77	425	26.56	4	-	55.56	59	2	8			1	1	805
Stephen,Darren J	10.5	10	6	31*	100	25.00	-	-	52.63	9	1	2			-	-	1020
Bhandari,Danny	17	19	1	86	425	23.61	3	-	48.57	37	1	10			1	-	954
Sykes,Mitchell C	13.5	16	1	59	304	20.27	3	-	50.75	27	6	4			2	-	758
Zehner, Eric J W	9.5	8	2	31	109	18.17	-	-	85.16	9	-	5			-	2	697
O'Sullivan, Anthony J	13	14	-	52	254	18.14	2	-	41.37	24	1	4			-	-	429
Zell,Andrew D	7	9	-	92	161	17.89	1	-	69.10	19	4	2			-	-	262
Thomas, Christopher M	8	4	1	31*	50	16.67	-	-	51.55	5	-	2			-	-	645
Smith,Roger T	11	8	3	24	64	12.80	-	-	31.84	6	-	-	12	4	-	4	559
McKay,Stuart W	8	10	-	60	115	11.50	1	-	36.62	13	-	4			1	1	280
Nikolovski,Richard	9	10	2	28	78	9.75	-	-	39.80	5	-	-	10	2	-	4	324
Hayward, Matthew W	5	7	-	46	67	9.57	-	-	54.92	4	-	2			-	-	297
Gowland, Mitchell	4	5	-	18	41	8.20	-	-	53.25	6	1	4			-	2	58
Dobbie,Glen W	9	7	2	19	37	7.40	-	-	19.58	2	-	4			-	-	287
Also Batted:																	
Robson,Samuel D	3	3	1	26*	54	27.00	-	-	46.15	6	-	-			-	-	274
Fuss,Gary P	5	2	-	15	16	8.00	-	-	160.00	2	1	4			-	-	351
Pereira,Gavin J	1	1	-	8	8	8.00	-	-	44.44	-	-	1			-	-	28
Dooley,Robert A	3.5	3	1	2*	3	1.50	-	-	8.11	-	-	-			-	-	83
Elliott,Timothy J	1	1	-	0	0	0.00	-	-	-	-	-	-			-	-	-
Owers, Matthew S	2	2	2	4*	8	-	-	-	133.33	1	-	1			-	-	48
Culhane, Daniel J	1	-	-	-	-	-	-	-	-	-	-	-			-	-	10
Absent		1															
Extras					220												

Extras 220 Difference -1

### **BOWLING**

### 2nd Grade 2005/2006

Overs Bowled: 1232.1
Runs Scored Against: 4027
Wickets Taken: 167
Average / Wicket: 24.11
Balls / Wicket: 44.27
Runs / Over: 3.27

Highest Score Against: 7/331 vs Western Suburbs (Rd8)
Lowest Score Against: 89 vs North Sydney (Rd10)

Name	0	M	W	R	Best	Avg	Econ	S/R	5wi	Wd	Nb
Hayward, Matthew W	55.3	11	13	171	5/34	13.15	3.08	25.62	1	-	
Thomas, Christopher M	97	15	19	307	4/26	16.16	3.16	30.79	-	-	3
Zehner,Eric J W	139.3	26	27	443	4/22	16.41	3.18	32.41	-	3	35
Robson,Samuel D	38	4	7	134	4/30	19.14	3.53	32.71	-	-	1
Stephen, Darren J	207.4	44	30	596	5/53	19.87	2.87	41.53	2	-	-
Fuss,Gary P	69.5	9	10	260	3/103	26.00	3.72	42.20	-	-	3
Sykes, Mitchell C	183.4	41	14	557	3/61	39.79	3.03	78.79	-	-	1
Zell,Andrew D	110	28	7	285	3/26	40.71	2.59	96.86	-	-	18
Bhandari,Danny	129	20	10	440	3/32	44.00	3.41	77.90	-	4	1
Dobbie,Glen W	89	15	7	325	2/28	46.43	3.65	77.14	-	3	3
Carson,Peter W	61	7	3	217	3/29	72.33	3.56	122.00	-	-	-
Also Bowled:											
Elliott,Michael R	3	-	1	17	1/8	17.00	5.67	18.00	-	-	-
McKay,Stuart W	7	1	1	23	1/11	23.00	3.29	42.00	-	-	-
Dooley,Robert A	23	3	3	79	2/29	26.33	3.43	46.00	-	-	-
Gowland, Mitchell	11	3	1	30	1/30	30.00	2.73	66.00	-	-	-
Culhane, Daniel J	5	1	-	12	0/12	-	2.40	-	-	-	-
Richardson, Timothy S	2	-	-	9	0/9	-	4.50	-	-	-	-
O'Sullivan, Anthony J	1	1	-	0	0/0	-	0.00	-	-	-	-
Extras				122							

### **PARTNERSHIPS**

# 2nd Grade 2005/2006

Wkt	Rd	Opponent	In	Bat 1	Sc	Bat 2	Sc	P/S
1st	15	Gordon	1	Bhandari, Danny	37	Richardson, Timothy S	60	93
1st	10	North Sydney	1	Richardson, Timothy S	38*	Bhandari, Danny	50*	90*
1st	7	Bankstown	1	Bhandari, Danny	18	Richardson, Timothy S	129	83
1st	4	Campbelltown-Camden	1	Richardson, Timothy S	35	Bhandari, Danny	63	66
1st	6	Eastern Suburbs	1	Bhandari,Danny	36	Richardson, Timothy S	23	53
1st	5	UTS-Balmain	1	Richardson, Timothy S	22	Bhandari, Danny	86	50
2nd	2	Randwick-Petersham	1	Richardson, Timothy S	77	Elliott,Michael R	105	167
2nd	7	Bankstown	1	Elliott,Michael R	58	Richardson, Timothy S	129	93
3rd	12	Northern Districts	1	Richardson, Timothy S	51	Sykes,Mitchell C	57	54
4th	14	Sydney University	1	Carson,Peter W	58	Richardson, Timothy S	105	123
4th	1	Fairfield-Lilverpool	1	O'Sullivan, Anthony J	52	Elliott,Michael R	95*	115
4th	7	Bankstown	1	Sykes,Mitchell C	29	Richardson, Timothy S	129	61
4th	13	St.George	2	O'Sullivan, Anthony J	51	Carson,Peter W	51	60
4th	12	Northern Districts	1	Sykes,Mitchell C	57	Carson,Peter W	36	59
4th	6	Eastern Suburbs	1	O'Sullivan, Anthony J	24	Sykes,Mitchell C	59	52
5th	6	Eastern Suburbs	1	Sykes,Mitchell C	59	Nikolovski,Richard	28	33
6th	8	Western Suburbs	1	Carson,Peter W	77	McKay,Stuart W	60	119
6th	11	Penrith	1	Carson,Peter W	50	McKay,Stuart W	25	69
7th	6	Eastern Suburbs	1	Nikolovski,Richard	28	Zehner,Eric J W	28*	30
8th	7	Bankstown	1	Zehner,Eric J W	31	Smith,Roger T	24	54
9th	8	Western Suburbs	1	Zell,Andrew D	92	Thomas, Christopher M	31*	93
9th	QF	Northern Districts	1	Zell,Andrew D	44	Sykes,Mitchell C	53	82
10th	12	Northern Districts	1	Hayward, Matthew W	46	Dobbie,Glen W	4*	44

<sup>#</sup> New club record.

# Partnership Averages

Wkt	Inns	NO	Runs	Avg
1st	20	1	658	34.63
2nd	19	-	553	29.11
3rd	19	-	378	19.89
4th	19	1	636	35.33
5th	18	-	264	14.67
6th	18	3	374	24.93
7th	15	-	117	7.80
8th	15	1	186	13.29
9th	14	-	360	25.71
10th	12	2	152	15.20

# THIRD GRADE REPORT

All seemed to be going well: The first six matches we won 4, drew one and lost a 25 over slogathon by 9 runs. We were playing good consistent cricket, placing us in a strong position for a launch on the all important top 6. In round 7 we recovered from 5-60 to put 353 on the board on the first day against Bankstown. Another 6 points, possibly even 10! Or so we thought ...

The following week we were washed out. And whilst you can never blame a washout for missing the finals, it did seem to spark a series of events that resulted in our ultimate demise. Rob Dooley announced he was joining the army and would miss the majority of the remaining games. The club was hit with a round of pullouts and we lost the next game despite a gallant runchase. All of a sudden our momentum was halted abruptly. In round 9 we played our first (collectively) poor game of cricket for the season (except for Disco's 60 odd and high quality bowling as usual from Dodders, Plugger and Jerry). Our top order capitulated on an extremely hot day and we went to the Christmas break wondering where our next points were coming from.

Thankfully they weren't far away as we trounced Norths in a one dayer. Would this get us going again? At 1-80 on a wet track at Cook Park I honestly thought so. However some poor shot selection saw us lose 6 for 10 leaving us to defend 180 (after a great recovery partnership from Matt Hayward and Dave Mann). Then the catches started going down. And continued to go down for the rest of the season.

The fallout after the sad death of Dan Culhane's dad left us another quality player down for the last 4 games. Up until that point he was a popular and integral member of the side. And despite an easy win at Asquith we were officially out of contention with a convincing loss at the hands of eventual premiers St George. It's always a challenge defending a total at DP, but this was made particularly difficult when Nigel Dornan couldn't play due to concussion from a workplace accident the day before.

However, the season certainly wasn't all doom and gloom. For starters it must be pointed out that both **Jim Dixon** and **Ben Lockett** had great seasons. Disco's batting was phenomenal and he put us in the box seat in many games, displaying all the hallmarks of high quality batting from the moment he took guard each dig. He was, as usual, such a positive figurehead for us and an absolute pleasure for us to play alongside again. He was probably underutilised with the ball too but our bowlers were creating more than enough chances for us to win games.

**Ben Lockett** also had a magnificent season. What a great effort for an opening bowler to play every game. And most games he was called on for 16-20 overs a day. Shows what a big ticker he has and how he was willing to fight for the team at all times. He will be sorely missed now that he has moved back to the Blue Mountains. His final wicket tally did his overall performance no justice whatsoever. We counted 11 dropped catches off Pluggers bowling this season, including four in one innings.

Congratulations must also go to Stuart McKay, Tim Elliott, Gav Pereirra, Dan Culhane and Rich Nikolovski for earning call ups to second grade due to their consistent performances. Niko notched his maiden ton and we missed him greatly when he was called up to 2's. Same with Stuey – all the games we won Stuey played in and this was certainly no coincidence.

The **G Per** held a captive audience every time he batted. If he learns to hit the ball along the ground after he has spreadeagled the field then he will score a lot of runs. I would love to be there the day he stays at the crease for three hours or more. Come on GPer!

**DJ** Elliott also played some quality innings, although he should be disappointed that he didn't convert one to a ton. Hopefully Macquarie Bank will let him get to training a bit more next season. He has a lot of ability and quickly became a popular member of the team, even more so when he

displayed his "Gold Digger" moves on the harbour cruise earning him the nickname of the DJ.

**Jerry Macguire** was very consistent with the ball this season. His accuracy and clever variations of pace meant that the majority of batsman in this comp had great difficulty getting him off the square without taking risks, ultimately to their demise. He has great ability with the bat too, although this part of his game fell away in the second half of the season.

**Dave Mann**, applying the difficult art that is leg spin, finished the season strongly with a man of the match performance in the final round v Gordon. In this game Mannboobs took 4 wickets, caught the catch of the season, and then almost guided us to victory with the bat. His last wicket partnership of 40 with our grand warrior Locky Taylor typified the guts, commitment and spirit that these two play with at all times.

Olly Higgins overcame an early season injury to become our most consistent batsman by the end of the year. With any sort of luck he would have registered a ton. His determination, technique and patience means he'll be pushing for higher grade selection again.

Talented **Tal Fleming** had one of those run of outs that every batsman goes through at some point. He will be a better batsman for this experience.

This season we also witnessed cameos from Simon Cowan, David Jebb, Matty Owers, Nadeem Abbas, Josh Webb, Glen Dobbie, Simon Gerber, Chris Morris, Tony O Sullivan, Greg Dennis and Paul Searle. Thanks for your contributions. Thanks also to the groundsmen, Wazza and Simon, for preparing DP North so well for us every week.

From a personal perspective it was great to get the opportunity to play with such a great bunch of lads. I thoroughly enjoyed playing my first full season with many of you. And it was again a privilege to play alongside some I've played a lot of cricket with. Overall, I was extremely proud of our efforts, yet naturally disappointed we didn't win more games. Finally, thanks to all the players for your support over the course of the season: Whether it was helping me with the covers on game day, bringing along a case of beer or simply reminding me to take my bat out with me each match.

Thank you. I had a ball.

MARK LEAHY

### **MATCH SUMMARIES**

3rd Grade 2005/2006

Rd	Venue	LO	Inns of:	Score	Ov	Inns of:	Score	Ov	
1	David Phillips	*	University of NSW	8/237	8/237 50 Fairfield-Lilv		9/232	50	
	North		McKay,Stuart W	64	(76)	Lockett,Benjamin M	3/51	9	
		Nikolovski,Richard		53	(77)	Dixon, James S	2/22	4	
		Webb,Joshua		48	(76)	Culhane, Daniel J	2/46	10	
		Elliott,Timothy J		26	(35)	Dooley,Robert A	1/29	7	
	Result: Won on first innings (6 po								
2	Kensington Oval		University of NSW	184	75.1	Randwick-Petersham	162	66.5	
	,		Webb,Joshua	49	(130)	McKay,Stuart W	3/37	14	
	Leahy,		Leahy,Mark C	35	(51)	Lockett,Benjamin M	2/30	11.5	
	Elliott,Timothy J		Elliott, Timothy J	26	(79)	Mann,David L	2/38	12	
			Nikolovski,Richard	23	(63)	Culhane, Daniel J	1/30	19	
	Result: Won on first innings (6 points)								

3	David Phillips	* Mosman	6/223	25	University of NSW	9/215	25
	North	Taylor,Lachlan R	2/42	4	Pereira,Gavin J	65	(40)
		Lockett,Benjamin M	2/50	5	McKay,Stuart W	40	(34)
		Dixon,James S	1/27	4	Leahy,Mark C	26	(10)
					Maguire,Peter H	25*	(20)
	Result:	Loss on first innings (0 poin	nts) - 25 C	Over M	•		
4	David Phillips	University of NSW	8/354 d.	77	Campbelltown-Camden	330	65
	North	Dixon, James S	139*	(128)	Maguire,Peter H	3/70	15
		Elliott,Timothy J	58	(75)	Lockett,Benjamin M	3/84	19
		Nikolovski,Richard	51	(86)	Webb,Joshua	2/27	5
		Pereira, Gavin J	45	(50)			
	Result:	Won on first innings (6 poi	nts)				
5	David Phillips	<b>UTS-Balmain</b>	303	83	University of NSW	7/259	78
	North	Taylor,Lachlan R	3/37	14	Nikolovski,Richard	124*	(166)
		Maguire,Peter H	3/40	18	Webb,Joshua	39	(84)
		Lockett,Benjamin M	2/66	17	Higgins,Oliver W	34	(124)
	Result:	Draw (0 points)					
6	Trumper Park	* Eastern Suburbs	8/204	50	University of NSW	6/205	40
		McKay,Stuart W	3/35	10	Pereira, Gavin J	59	(53)
		Dobbie, Glen W	2/27	10	Higgins,Oliver W	55	(90)
		Maguire,Peter H	2/26	8	Leahy,Mark C	30	(19)
	Result:	Won on first innings + BP (					
7	Grahame	<b>University of NSW</b>	357	73.4	Bankstown	0/14	6
	Thomas Oval	Dixon, James S	117	(116)			
		Dooley,Robert A	61	(77)			
		Elliott,Timothy J	60	(108)			
		Lockett,Benjamin M	34*	(23)			
	Result:	No Result (0 points) - 2nd I					
8	David Phillips	Western Suburbs	383	86	University of NSW	315	70.4
	North	Culhane, Daniel J	5/89	21	Pereira, Gavin J	91	(99)
		Dooley,Robert A	3/75	17	Higgins,Oliver W	43	(65)
					Culhane, Daniel J	38	(34)
	D. II	I (' ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' '			Lockett,Benjamin M	37	(33)
	Result:	Loss on first innings (0 points * Manly Warringah	7/256	<b>F</b> 0	II.	165	20.2
	David Phillips North	waning waringun		50 10	University of NSW	165	38.3
	North	Lockett,Benjamin M	3/42	10	Dixon, James S	61	(59)
		Culhane,Daniel J	1/25	10	Higgins,Oliver W Jebb,David C	28	(37)
	Result:	Loss on first innings (0 poin	ntc)		Jebb,David C	25	(55)
10	David Phillips	* North Sydney	202	49.2	University of NSW	7/206	39.1
10	North	Lockett,Benjamin M	3/41	10	Leahy, Mark C	58	(37)
	North	Mann, David L	3/49	10	Higgins,Oliver W	49	(77)
		Main, David L	3/42	10	Pereira, Gavin J	42	(31)
	Result:	Won on first innings + BP (	7 points)		r erena, Gavirr j	42	(31)
11	Cook Park	University of NSW	180	68.3	Penrith	7/184	72.2
11	COOK I alk	Hayward, Matthew W	55	(85)	Maguire,Peter H	4/50	17.2
		Elliott, Timothy J	35	(97)	Mann,David L	2/45	13
		Higgins,Oliver W	24	(94)		<b>-</b> / ±0	10
	Result:	Loss on first innings (0 points)		(24)			
	LICOUIL.	Lood on mor numigo (o pon					

12 Asquith Oval	University of NSW	279	79	Northern Districts	178	74.2
1	Higgins,Oliver W	76	(174)	Lockett,Benjamin M	4/41	20.2
	Gerber,Simon B H	59	(105)	Maguire,Peter H	2/41	20
	Dixon, James S	34	(28)	Taylor,Lachlan R	2/48	17
	Elliott,Timothy J	27	(39)	Dixon, James S	1/10	6
Result:	Won on first innings (6 po	ints)				
13 David Phillips	University of NSW	9/301 d.	82	St.George	5/304	60.5
North	Cowan,Simon J	76	(167)	Lockett,Benjamin M	1/56	17
	Elliott,Timothy J	60	(133)	Mann,David L	1/41	6
	Morris, Christopher J	56	(74)	Taylor,Lachlan R	1/42	11
	Dixon, James S	52*	(45)	Webb,Joshua	1/44	8.5
Result:	Loss on first innings (0 poi	ints)				
14 David Phillips	<b>University of NSW</b>	273	<b>74.3</b>	<b>Sydney University</b>	2/276	72.2
North	Leahy,Mark C	76	(82)	Dixon, James S	1/38	14
	Dixon, James S	50	(75)	Maguire,Peter H	1/68	19
	Higgins,Oliver W	28	(68)			
	Pereira,Gavin J	27	(25)			
Result:	Loss on first innings (0 poi	ints)				
15 Beauchamp	* Gordon	239	46.3	University of NSW	228	48.2
Park	Mann,David L	4/23	6.3	O'Sullivan, Anthony J	84	(131)
	McKay,Stuart W	2/48	7	Owers, Matthew S	70	(76)
	Taylor,Lachlan R	2/52	10	Taylor,Lachlan R	26	(18)
Result:	Loss on first innings (0 poi	ints)				

## **BATTING**

# 3rd Grade 2005/2006

Overs Faced:	919.3
Runs Scored For:	3758
Wickets Lost:	134
Average / Wicket:	28.04
Balls / Wicket:	41.17
Runs / Over:	4.09
III I C F	0.55

Highest Score For: 357 vs Bankstown (Rd7)

Lowest Score For: 165 vs Manly Warringah (Rd9)

Name	Mts	Inn	No	HS	Runs	Avg	50	100	S/R	<b>4s</b>	6s	Ct	Wk	St	RD	RI	Pts
Dixon, James S	11	11	2	139*	477	53.00	3	2	95.21	67	10	6			-	2	1057
Nikolovski,Richard	8	8	1	124*	280	40.00	2	1	60.61	29	-	-	6	7	-	3	795
Higgins,Oliver W	9	9	-	76	338	37.56	2	-	45.13	36	-	6			-	-	563
Elliott,Timothy J	13	13	-	60	366	28.15	3	-	51.62	40	1	1			-	-	521
Pereira,Gavin J	13	13	-	91	362	27.85	3	-	93.30	53	7	4			-	1	577
Webb,Joshua	6	6	-	49	157	26.17	-	-	46.45	17	-	2			-	1	297
Dooley,Robert A	6	6	2	61	95	23.75	1	-	79.17	11	-	3			-	1	345
McKay,Stuart W	7	7	1	64	141	23.50	1	-	89.24	17	-	3			-	-	536
Mann,David L	10	9	6	24*	67	22.33	-	-	21.75	2	-	4			-	-	522
Culhane, Daniel J	9	5	2	38	64	21.33	-	-	87.67	9	-	-			-	-	444
Leahy,Mark C	14	14	-	76	270	19.29	2	-	83.59	45	3	6	4		-	1	590
Lockett,Benjamin M	15	11	3	37	131	16.38	-	-	100.77	14	5	-			1	-	841
Taylor,Lachlan R	7	7	1	26	82	13.67	-	-	105.13	11	-	-			-	-	337

ı																
Maguire,Peter H	11	11	3	25*	94	11.75	-	-	65.73	12	-	5		-	-	714
Fleming, Tallaesen	5	5	-	4	5	1.00	-	-	21.74	1	-	2		-	-	55
Also Batted:																
Gerber,Simon B H	1	1	-	59	59	59.00	1	-	56.19	5	-	1		-	-	114
O'Sullivan, Anthony J	2	2	-	84	110	55.00	1	-	57.89	8	3	-		-	-	145
Hayward, Matthew W	1	1	-	55	55	55.00	1	-	64.71	5	-	-		-	-	80
Cowan,Simon J	3	3	-	76	109	36.33	1	-	46.38	10	1	1		-	-	154
Owers, Matthew S	2	2	-	70	70	35.00	1	-	84.34	8	1	-		-	-	125
Morris, Christopher J	2	2	-	56	69	34.50	1	-	69.70	9	-	-	2	-	-	134
Dobbie,Glen W	2	1	-	34	34	34.00	-	-	58.62	2	1	1		-	-	104
Jebb,David C	2	2	-	25	39	19.50	-	-	41.05	4	-	-		-	-	39
Abbas,Nadeem	2	2	-	32	35	17.50	-	-	77.78	5	-	-		-	-	35
Dennis,Gregory M	1	1	-	17	17	17.00	-	-	53.12	-	-	-		-	-	37
Gowland,Mitchell	1	1	-	12	12	12.00	-	-	54.55	1	-	-		-	-	12
Dornan,Nigel C	1	1	-	6	6	6.00	-	-	27.27	-	-	-		-	-	6
Searle,Paul B	1	1	-	0	0	0.00	-	-	-	-	-	-	2	-	1	50
Extras					216											
Difference					-2											

Zillereriee

### **BOWLING**

### 3rd Grade 2005/2006

Overs Bowled: 857.3
Runs Scored Against: 3490
Wickets Taken: 114
Average / Wicket: 30.61
Balls / Wicket: 45.13
Runs / Over: 4.07

Highest Score Against: 383 vs Western Suburbs (Rd8)
Lowest Score Against: 162 vs Randwick-Petersham (Rd2)

Name	O	M	W	R	Best	Avg	Econ	S/R	5wi	Wd	Nb
McKay,Stuart W	56	9	11	260	3/35	23.64	4.64	30.73	-	-	2
Maguire,Peter H	150.1	38	19	484	4/50	25.47	3.22	47.68	-	5	-
Dixon, James S	51	12	7	191	2/22	27.29	3.75	43.86	-	1	-
Culhane,Daniel J	99	21	12	328	5/89	27.33	3.31	49.75	1	-	3
Lockett,Benjamin M	178.1	27	24	702	4/41	29.25	3.94	44.83	-	7	-
Taylor,Lachlan R	79	10	10	301	3/37	30.10	3.81	50.00	-	1	25
Mann,David L	94.3	12	13	439	4/23	33.77	4.65	44.08	-	-	6
Dooley,Robert A	54	9	5	239	3/75	47.80	4.43	66.80	-	8	2
Also Bowled:											
Dobbie,Glen W	13	2	2	37	2/27	18.50	2.85	39.50	-	-	1
Webb,Joshua	24.5	3	3	108	2/27	36.00	4.35	49.67	-	-	-
Owers, Matthew S	6	-	1	55	1/22	55.00	9.17	38.00	-	-	2
Dennis, Gregory M	8	-	1	58	1/58	58.00	7.25	50.00	-	1	1
Abbas, Nadeem	15	1	-	91	0/34	-	6.07	-	-	1	2
Gowland, Mitchell	11.2	3	-	59	0/59	-	5.21	-	-	-	-
Hayward, Matthew W	11	4	-	16	0/16	-	1.45	-	-	-	-

Jebb,David C	4.3	-	-	35	0/35	-	7.78	-	-	_	_	
Dornan, Nigel C	2	2	-	0	0/0	-	0.00	-	-	-	-	
Extras				94								
Difference				-7								

## **PARTNERSHIPS**

3rd Grade 2005/2006

3ra G	rade 2	005/2006							
Wkt	Rd	Opponent	In	Bat 1	Sc	Bat 2	Sc	P/S	
1st	10	North Sydney	1	Leahy,Mark C	58	Pereira,Gavin J	42	95	
1st	6	Eastern Suburbs	1	Leahy,Mark C	30	Pereira,Gavin J	59	62	
1st	2	Randwick-Petersham	1	Leahy,Mark C	35	Webb,Joshua	49	50	
2nd	11	Penrith	1	Higgins,Oliver W	24	Elliott,Timothy J	35	65	
2nd	2	Randwick-Petersham	1	Elliott,Timothy J	26	Webb,Joshua	49	59	
2nd	6	Eastern Suburbs	1	Pereira,Gavin J	59	Higgins,Oliver W	55	52	
2nd	1	Fairfield-Lilverpool	1	Elliott,Timothy J	26	Webb,Joshua	48	50	_
3rd	4	Campbelltown-Camden	1	Elliott,Timothy J	58	Pereira,Gavin J	45	69	_
4th	8	Western Suburbs	1	Higgins,Oliver W	43	Pereira,Gavin J	91	113	
4th	13	St.George	1	Elliott,Timothy J	60	Cowan,Simon J	76	63	
4th	5	UTS-Balmain	1	Webb,Joshua	39	Higgins,Oliver W	34	51	
5th	15	Gordon	1	Owers, Matthew S	70	O'Sullivan, Anthony J	84	141	#
5th	1	Fairfield-Lilverpool	1	McKay,Stuart W	64	Nikolovski,Richard	53	105	
5th	13	St.George	1	Morris, Christopher J	56	Cowan,Simon J	76	98	
5th	5	UTS-Balmain	1	Higgins,Oliver W	34	Nikolovski,Richard	124*	64	
5th	12	Northern Districts	1	Higgins,Oliver W	76	Gerber,Simon B H	59	60	_
6th	7	Bankstown	1	Elliott,Timothy J	60	Dixon, James S	117	115	
6th	4	Campbelltown-Camden	1	Nikolovski,Richard	51	Dixon, James S	139*	89	
6th	13	St.George	1	Cowan,Simon J	76	Dixon, James S	52*	57	
6th	14	Sydney University	1	Leahy,Mark C	76	Dixon, James S	50	57	
6th	9	Manly Warringah	1	Jebb,David C	25	Dixon, James S	61	57	_
7th	7	Bankstown	1	Dixon, James S	117	Dooley,Robert A	61	59	_
8th	5	UTS-Balmain	1	Mann,David L	5*	Nikolovski,Richard	124*	93*	
8th	7	Bankstown	1	Dooley,Robert A	61	Dobbie,Glen W	34	73	
8th	11	Penrith	1	Mann,David L	12	Hayward, Matthew W	55	60	_
9th	8	Western Suburbs	1	Culhane, Daniel J	38	Lockett,Benjamin M	37	68	
9th	4	Campbelltown-Camden	1	Mann,David L	0*	Dixon, James S	139*	50*	_
10th	15	Gordon	1	Taylor,Lachlan R	26	Mann,David L	9*	39	_

# # New club record.

Partnership Averages

Wkt	Inns	NO	Runs	Avg
1st	15	-	394	26.27
2nd	15	-	418	27.87
3rd	15	-	332	22.13
4th	15	-	486	32.40
5th	15	-	585	39.00
6th	15	-	463	30.87
7th	15	1	237	16.93
8th	14	2	458	38.17
9th	11	1	233	23.30
10th	10	2	152	19.00

## FOURTH GRADE REPORT

A record of 6 wins (1 outright), 2 draws, 1 tie and 6 losses in a very even 4th grade competition left 4's in 9th place at season's end just 6 points out of a play-off position. Considering that at Christmas the team languished in 17th place with just 15 points it was a stirring 2nd half of the year that saw us leap 8 spots in 6 rounds and notch more points than any other team in the competition after Christmas. From a negative viewpoint our status as the supposed "post-Christmas Champions" was nothing but an indication of the hole we had dug for ourselves during the first half of the year but from a more positive perspective it was hopefully an indication that as a team we improved with each performance and ultimately knew what we had to do to win cricket matches. With the exception of the first two games of the year, when the side felt decidedly short of a gallop, 4's were competitive in every game played and had any one of our losses or draws been turned into a win we would have been playing finals cricket. It was ultimately a shame that it took us half a season to get going however a season is played over 15 rounds and over 15 rounds we finished where we deserved to.

Speaking in general terms the team developed as the season progressed into a competitive unit by improving in all areas of the game. A poor fielding team at the start of the year we were, by recent UNSW standards, a solid enough fielding outfit by the end of the year with some smart catches and quality run outs helping us to some comprehensive wins over North Sydney, Penrith and Gordon in particular. Our overall batting was average at the season's beginning but after Christmas we were regularly notching scores of 250 plus or chasing down totals with plenty of wickets in hand. A quick skim over the bowling stats on the following pages reveals some pretty average numbers but with the exception of a complacent display against ND's in Round 12 the bowling generally stuck well to its task and in other seasons would have been much better rewarded for its generally disciplined approach. However if there was one frustratingly common theme to our cricket this year it was a lack of penetration with the ball. Along with continued work on our fielding standards re-discovering that knack for taking wickets is what will turn this grade's fortunes around next season.

Players who played 5 games or more in 4's this year were:

Nadeem Abbass: Nads returned to the Club this year after a few years in the wilderness. Nads had a consistent year as 405 runs @ 31.15 would suggest. Although he only kicked on twice to pass 50 he and Webby became a very dependable opening combination. Nads bowled a mix of offies and leggies throughout the year with his return belying the pressure he often helped create. His highlight with the ball was a match winning spell of 2/15 off 8 in a rain shortened one-dayer against Mosman. His leggies were a great option to have and with a bit of luck would have brought more wickets. As the year progressed Nads came out of his shell and produced plenty of laughs. His sweaty underwear flapping in the breeze on the fence at Sydney Uni No 2 was an unforgettable sight, as was his ability to open a bottle of premium beer with his teeth. Nads also drank a lot of Pakistani tea, made a batch of tasty sambos one week and fronted up to the 4th grade end of season BBQ with a firey marinade and some "mystery meat" which to this day no-one, including Nads, knows what it was. Pretty sure it once had 4 legs though.

Mark Appleton: Apples was the only bloke to play all 15 games in 4's this year. Apples bowled a mix of unplayables and fruit and it's only a lack of consistency that stopped him from having a much better return for the year. Had a great economy rate and with a bit of extra work is very capable of having a big year. Batted 11 for most of the year but showed glimpses of being better than that and has a \$500 bat so ambition is not a problem ... either that or he just has a lot of money. He produced a cracking direct hit run out against Sydney Uni in Round 14 and took a spectacular one handed grab at mid-on against Saints. Over the season he improved out of sight in the field. Apples didn't shut his mouth all year and like his bowling his calls sometimes lacked consistency but he rarely stopped encouraging the team. His off field work lacks consistency as well although the late season addition

of a "Mrs Apples" may have brought a bit more line and length to this department.

**Hugh Backmann:** Petal had a disappointing year in 4's but is a player of great potential. Found some form at the end of the season in 5's and will be better for the experience. Sometimes a nervous starter Petal just needs to get going and will peel off plenty of runs for the Club in years to come. His fielding improved markedly on last season and he read a lot of books. An enigma in every sense of the word.

Daniel Bowcock: Bowy returned to the Club after a few years plying his trade in the Central Coast competition and finished the year as the deserving winner of the 4th Grade batting award. A return of 485 runs @ 44.09 included 4 fifties and one of the most destructive centuries I have witnessed in Grade cricket. On a balmy summer's day at Harold Fraser Oval against St.George Bowy smashed 143 runs off 129 balls. His innings included 13 fours and an amazing 9 sixes. Bowy raced from 84 to 114 in just 5 balls falling one shot short of the ultimate 6 sixes in 6 balls treatment (although they weren't in the same over). It was the innings of a player much better than 4th grade and had he started the year in the form he finished it he wouldn't have spent much time in this grade. Bowy also took a couple of wickets with the ball but the less said about his attempt to bowl orthodox spin against Penrith the better!! As one of the more experienced members of the side Bowy also offered plenty of good counsel to the captain during the year and took the "biggest hangover" prize in a dead set no contest on Day 2 against Wests at Blick. With a proper pre-season and the benefit of this season Bowy still has plenty of runs in him up the grades.

**Simon Cowan:** Merv had a slightly interrupted year due to injury and other commitments but in the 8 games he played in 4's racked up 299 runs @ 49.83 and showed that he has a great deal of ability with the willow. Capable of playing long, disciplined innings it wouldn't be a harsh comment to say that it's only a bit of extra work on his fitness that is holding Merv back from playing higher grades. His best digs of the year were a match-winning 48\* against Mosman and a patient 91\* against ND's – both innings where he had to produce under pressure. Merv's bowling probably suffered due to a lack of training time but he bowled a great spell in the 1st dig of our outright against Penrith. When the ball is swinging Merv is right in his element. Don't know if he swings off the field because we didn't see too much of him!

Greg Dennis: Yet another cricketer to return to the UNSW fold after a premature retirement of sorts last year. Grog's metamorphosis into a batsman continued in earnest this year. Grog's batting is a fantastic advertisement for keeping the game simple and sticking to your strengths. His 71 against Balmain in a genuine crisis was probably the gutsiest knock of the year in 4's. Grog is getting old and doesn't generate the pace he used to with the ball yet still managed to walk away with the 4th Grade bowling award to complement his outstanding batting. 14 wickets @ 25.86 being prize-winning stuff indicates we lacked real wicket takers but when Grog was fit he bowled some great spells. His action-packed spell of 4.2-0-28-5 against Penrith was the only 5-fa taken in 4's this year. I spent plenty of Saturday car trips with Grog this year and can vouch for his sobriety on almost all of them. He really is getting old ...

Tal Fleming: The Taliban had a year he would like to forget ... and probably has. Smacked 106 against Campbelltown out at Raby in Round 4 and 65 against Saints in Round 13 but in between scored almost exclusively in Sydney's pubs and clubs rather than on the cricket field. All in all Tal had one of those years that every cricketer goes through and I know he was frustrated by it. At his best Tal is a quality player and if he wants it will produce a big season next year. Tal is also a great bloke to have around when the beers come out of the esky and I really hope we see him back next year.

**Pete Harris:** Slippery Pete is a die-hard St.George supporter so only good things can be said about him. Made his 4<sup>th</sup> grade debut in Round 5 and played 6 games but ultimately he'd be unsatisfied with his return in 4's. Having said that he put together a promising 36 against Wests and contributed enormously in the field with his positive talk and good catching whenever he played. Took a couple of rippers against Easts to help us to a win and was just a positive influence around the team every

time he was called upon. Spent much of the year being treated like a jilted lover and the ongoing Wednesday night drop and Friday arvo take-back routine wouldn't have been out of place on the pages of New Idea or Who Weekly!

**Evan Kargas:** The Bowser had a wonderful debut season with the Club. He took 10 wickets at 18.20 in 4<sup>th</sup> grade on top of a great season in 5's. He is probably entitled to feel a little aggrieved not to have played more 4's given his numbers and if his body holds up will be well placed to make a push up the grades next year. Despite a run-up that can occasionally misfire The Bowser seems to have a real knack for taking wickets and gets that little bit of extra bounce that can trouble lower grade cricketers. Puts on some of the best post-wicket celebrations going around and doesn't mind giving opposition batsmen a bit of advice. Should have taken up Grade 10 years ago!

**Paul Searle:** Another player who came back after a few seasons away from the game. Searly only committed to a Grade comeback late in the pre-season and as a result had a few Saturday's already locked in for other commitments but in the 9 games he played in 4's he took 23 catches and went within a whisker of breaking the Club's 4th grade keeping record. Searly made few mistakes behind the pegs this year and was a reliable keeper that always set a good standard. The stop-start nature of his year meant we didn't see the best of Searly's batting skills but he is a proven performer and will be much better for the run next year. Like Bowy, Searly offered great counsel to the captain when required and was always on song with whatever he was allocated for tea. One of the few remaining lower grade cricketers that still enjoys a tub after the game.

**Alex Stuart:** Like Pete Harris Big Al moved up and down between 4's and 5's every second week and never complained. Ended up being a bit of a "Mr Fix It" in the side - sometimes opening the batting, sometimes batting down the order and on a few occasions donning the gloves. Always put in 100% and never shirked the task given to him. He really is an all-round good bloke with his only failing being his love of the Wests Tigers. His season highlight was a match-winning 89 against Easts when batting at 5 in a one-dayer and this may be the batting position that suits him best. Did a pretty solid job behind the stumps as well when required and could make a fist of it if he wanted to go down that path.

Matthias Treuberg: Matty Treuberg was the club's Green Shield player of the year this year and produced some very encouraging performances with the ball in 4's. His spell of 3-25 against Balmain was one the best in 4's this year and he beat the bat a lot all year and often bowled without luck. He also has a solid technique with the bat and produced a couple of decent digs, most notably against Balmain when he put on 50 with Grog. His fielding is improving and he is still young enough to make this part of his game much better. Is definitely one of the Club's young guns and has a long career ahead of him. His father is one of the few blokes who bothered to watch us this year.

**Josh Webb:** This was Webby's second year at the club and no doubt will arouse the suspicions of Australia's Immigration Officers should he return again next year. Webby formed one half of a very dependable opening partnership with Nads but like his opening partner didn't convert his starts as often as he would have wanted. Racked up his first 50 of the year in Round 15 but still averaged 31.29 in 4's and if he can learn to get through the 30's and 40's will score a lot of runs. With two other spinners in the line-up most weeks Webby suffered from a lack of opportunities with the ball. No doubt he was occasionally frustrated but to his credit just put his head down and concentrated on making a difference in the field where he was our best performer. Not sure if he ever made it back to the pub or to a social event this year!!

Others to play in 4's this year were Nigel Dornan, Simon Gerber, James Glenday, Phil Hamer, Liam Hansen, Olly Higgins, David Jebb, Pete Maguire, David Mann, Chris Morris, Matt Owers, David Ross, Lachie Taylor, Timm Van Der Gugten and Andrew Zell. Gerbs averaged 210 in 4's and scored 132 against Wests in our tied match. Lachie Taylor bowled out of his skin in the 4 games he played for us and his effort in the outright win against Penrith was the best bowling performance of the year in

4's. Timm Van Der Guggten played 3 games and made a huge impression for a 14 year old. He looks to have a very bright future ahead of him. David Jebb played three games including one game at the helm against Bankstown when the skipper was absent – thanks Jebby.

This year was my first year captaining a side at this club and it was a privilege and an honour to do so. Much like my entire career I scored a few runs, took a few wickets, held a few catches and drank a few beers. The 71 I scored against Mosman was my highest score in Grade and rates up there as one of my most satisfying days for the Club as it also led to my first win as captain. I enjoyed the challenge of captaincy and I hope everyone who played 4's this year enjoyed themselves as well. I hope most players felt as if they were given the opportunities they wanted and played for a captain who desperately wanted to win. From a captaincy perspective I will be better for the run and I look forward to another crack at bringing an elusive lower grade Premiership to this club.

See you next year.

### MICK MAG

## **MATCH SUMMARIES**

### 4th Grade 2005/2006

Rd	Venue	LO	Inns of:	Score	Ov	Inns of:	Score	Ov
1	Fairfield Oval	*	University of NSW	7/193	50	Fairfield-Lilverpool	2/194	42
			Cowan,Simon J	42	(55)	Cowan,Simon J	1/30	8
			Abbas,Nadeem	41	(69)	Mann,David L	1/30	4
			Dennis, Gregory M	24	(39)			
	Result:	Los	ss on first innings (0 poi	nts)				
2	David Phillips		Randwick-Petersham	8/271 d.	<b>74.3</b>	<b>University of NSW</b>	164	67.2
	North		Appleton,Mark S	2/41	15	Abbas, Nadeem	82	(189)
			Mag,Michael	2/58	17	Ross, David W	31	(123)
	Result:	Los	ss on first innings (0 poi	nts)				
3	David Phillips	*	Mosman	8/196	37	<b>University of NSW</b>	7/198	35.5
	South		Kargas,Evan	3/39	7	Mag,Michael	71	(46)
			Abbas,Nadeem	2/15	8	Cowan,Simon J	48*	(68)
			Van Der Gugten, Timm	2/42	6	Searle,Paul B	24	(29)
						Van Der Gugten, Timm	21*	(23)
	Result:	Wo	on on first innings (6 poi	nts) - 37 (	Over M	latch		
4	Raby 2		<b>University of NSW</b>	7/321 d.	83	Campbelltown-Camden	7/301	82
			Fleming, Tallaesen	106	(180)	Appleton,Mark S	2/52	16
			Bowcock, Daniel S	64	(114)	Kargas, Evan	2/65	12
			Cowan,Simon J	61	(83)	Bowcock, Daniel S	1/27	6
			Morris, Christopher J	36*	(78)			
	Result:	Dra	aw (0 points)					
5	Ryde Oval		University of NSW	199	66.3	UTS-Balmain	8/206	81.1
			Dennis, Gregory M	71	(128)	Treuberg, Matthias	3/25	12
			Treuberg, Matthias	28	(61)	Dennis, Gregory M	3/48	15
	Result:	Los	ss on first innings (0 poi	nts)				
6	David Phillips	*	University of NSW	9/242	50	Eastern Suburbs	216	45
	North		Stuart, Alexander I	89	(115)	Dennis, Gregory M	2/26	10
			Bowcock, Daniel S	50	(53)	Appleton, Mark S	2/26	8
			Mag,Michael	36	(38)	Mag,Michael	2/32	10
	Result:	Wo	on on first innings (6 poi	nts)				

the Gitteeretty ej	1 tete Sellitt Tilles Citer					. 10
7 David Phillips	University of NSW	195	62.3	Bankstown	6/211	93
North	Abbas,Nadeem	79	(151)	Taylor,Lachlan R	4/32	21
	Dennis, Gregory M	36	(85)	Zell, Andrew D	2/36	25
Result:	Loss on first innings (0 pc	oints)	, ,			
8 Blick Oval	Western Suburbs	256	65.2	University of NSW	256	93.3
	Mann,David L	4/67	14.2	Gerber,Simon B H	132	(235)
	Mag,Michael	3/70	20	Harris, Peter A	36	(94)
	Dennis,Gregory M	2/34	8	Mag,Michael	23	(31)
Result:	Tie on first innings (3 poin	nts)		o .		, ,
9 Graham Reserve		0/8	2	University of NSW		
Result:	No Result (0 points) - Mat	tch Abando	oned at	-		
10 Tunks Park	* North Sydney	95	36.1	University of NSW	7/97	27.1
	Mag,Michael	3/5	6	Webb,Joshua	29	(43)
	Appleton,Mark S	3/24	7	Abbas,Nadeem	19	(37)
	Dennis,Gregory M	2/16	6	Searle,Paul B	18	(34)
	Van Der Gugten, Timi		7.1	·		, ,
Result:	Won on first innings + BP					
11 David Phillips	Penrith	104	32.2	University of NSW	5/165 d.	. 42
North	Dennis, Gregory M	5/28	4.2	Gerber,Simon B H	54*	(77)
	Taylor,Lachlan R	2/9	7	Abbas,Nadeem	33	(58)
	Dornan,Nigel C	1/15	6	Searle,Paul B	21	(35)
	(2nd Inns)	7/209 d.	56	(2nd Inns)	2/150	24.5
	Dornan,Nigel C	2/25	10	Bowcock, Daniel S	68*	(40)
	Taylor,Lachlan R	2/27	9	Webb,Joshua	39	(40)
	Mag,Michael	2/30	4	Gerber,Simon B H	24*	(44)
Result:	Outright win after leading					( )
12 David Phillips	University of NSW	6/292 d.	82	Northern Districts	5/294	80.1
North	Cowan,Simon J	91*	(176)	Appleton,Mark S	4/46	17
	Dennis, Gregory M	59*	(74)	Cowan,Simon J	1/50	10
	Searle,Paul B	42	(102)	Searle,Paul B	5	Cts
	Webb,Joshua	35	(71)	,		
Result:	Loss on first innings (0 pc		( )			
13 Harold Fraser	St.George	3/281 d.	86	University of NSW	5/284	61
Reserve	Appleton,Mark S	1/28	9	Bowcock, Daniel S	143	(138)
	Mag,Michael	1/68	29	Fleming, Tallaesen	65	(96)
	<i>G</i> <sup>2</sup>	,		Abbas,Nadeem	48	(80)
Result:	Won on first innings (6 pc	oints)				()
14 Sydney	University of NSW	9/302 d.	73	Sydney University	8/304	79
University 2	Bowcock, Daniel S	74	(108)	Treuberg, Matthias	2/59	13
	Cowan,Simon J	50	(80)	Taylor,Lachlan R	2/76	24
	Abbas,Nadeem	32	(26)	Appleton, Mark S	1/49	17
	Owers, Matthew S	30	(46)	Tip protonyman o	1,17	
Result:	Loss on first innings (0 pc		(10)			
	* Gordon	114	43.1	University of NSW	2/119	23.4
15 David Philline				•		
15 David Phillips North		3/27	10	Webb.Joshua	52*	(04)
15 David Phillips North	Kargas,Evan	3/27 2/14	10 5	Webb,Joshua Abbas,Nadeem	52* 36	(64) (45)
_	Kargas,Evan Webb,Joshua	2/14	5	Webb,Joshua Abbas,Nadeem	52* 36	(45)
_	Kargas,Evan			· ·		

## **BATTING**

### 4th Grade 2005/2006

Overs Faced: 842.2
Runs Scored For: 3177
Wickets Lost: 106
Average / Wicket: 29.97
Balls / Wicket: 47.68
Runs / Over: 3.77

Highest Score For: 7/321 vs Campbelltown-Camden (Rd4)

Lowest Score For: 164 vs Randwick-Petersham (Rd2)

Lowest Score Por.	10 <del>1</del> V3	5 IXaII	uw.	ICK-I	eter sri	am (Ku	<del>-</del> )										
Name	Mts	Inn	No	HS	Runs	Avg	50	100	S/R	<b>4s</b>	6s	Ct	Wk	St	RD	RI	Pts
Cowan,Simon J	8	8	2	91*	299	49.83	3	-	61.52	24	1	1			-	-	469
Bowcock, Daniel S	13	13	2	143	485	44.09	4	1	78.86	58	14	3	1		-	1	840
Dennis, Gregory M	11	10	4	71	236	39.33	2	-	54.88	28	3	4			-	-	821
Webb,Joshua	8	8	1	52*	219	31.29	1	-	59.84	20	1	4			1	-	424
Abbas,Nadeem	12	13	-	82	405	31.15	2	-	54.95	58	-	-			1	2	605
Fleming,Tallaesen	8	7	-	106	197	28.14	1	1	55.34	22	3	-			-	-	362
Treuberg, Matthias	8	6	4	28	56	28.00	-	-	46.67	4	1	-			-	-	241
Mag,Michael	14	9	1	71	179	22.38	1	-	82.49	18	4	9			-	-	794
Searle,Paul B	9	8	-	42	149	18.62	-	-	48.53	16	-	-	23		-	2	894
Stuart, Alexander I	9	8	1	89	114	16.29	1	-	52.53	9	-	1	2		-	2	249
Appleton,Mark S	15	6	3	19*	48	16.00	-	-	49.48	6	-	2			1	1	553
Harris, Peter A	6	5	-	36	44	8.80	-	-	31.88	6	-	4			-	-	154
Backmann,Hugh A	6	5	-	15	40	8.00	-	-	46.51	4	-	3			-	1	140
Also Batted:																	
Gerber, Simon B H	3	3	2	132	210	210.00	1	1	58.99	35	-	1			1	-	385
Morris, Christopher J	2	2	1	36*	44	44.00	-	-	37.61	2	-	-	3	1	1	-	169
Owers, Matthew S	1	1	-	30	30	30.00	-	-	65.22	5	-	-			-	-	30
Ross,David W	2	2	-	31	35	17.50	-	-	27.56	2	1	1			-	-	85
Taylor,Lachlan R	4	3	-	25	41	13.67	-	-	89.13	6	1	-			-	-	331
Maguire,Peter H	1	1	-	13	13	13.00	-	-	68.42	2	-	-			-	-	13
Higgins,Oliver W	1	1	-	12	12	12.00	-	-	44.44	1	-	-			-	-	12
Zell, Andrew D	1	1	-	11	11	11.00	-	-	137.50	2	-	-			-	-	51
Jebb,David C	3	3	-	13	32	10.67	-	-	72.73	5	-	-			-	-	42
Mann,David L	4	3	1	12	18	9.00	-	-	25.35	1	-	-			-	1	208
Kargas,Evan	5	2	-	8	8	4.00	-	-	33.33	1	-	1			-	-	298
Van Der Gugten, Timm	3	2	2	21*	21	-	-	-	80.77	3	-	-			-	-	101
Dornan,Nigel C	4	1	1	11*	11	-	-	-	55.00	1	-	-			-	-	131
Hansen,Liam J	1	1	1	0*	0	-	-	-	-	-	-	-			-	-	-
Hamer,Phillip G	1	-	-	-	-	-	-	-	-	-	-	-			-	-	50
Glenday, James R	2	-	-	-	-	-	-	-	-	-	-	1			-	-	30
Extras					213												
Difference					7												

Difference 7

## **BOWLING**

### 4th Grade 2005/2006

Overs Bowled: 934.5
Runs Scored Against: 3260
Wickets Taken: 112
Average / Wicket: 29.11
Balls / Wicket: 50.08
Runs / Over: 3.49

Highest Score Against: 8/304 vs Sydney University (Rd14)

Lowest Score Against: 95 vs North Sydney (Rd10)

Name	О	M	$\mathbf{w}$	R	Best	Avg	Econ	S/R	5wi	Wd	Nb
Taylor,Lachlan R	65	17	11	180	4/32	16.36	2.77	36.27	_	1	8
Kargas,Evan	51.1	6	10	182	3/27	18.20	3.56	31.20	_	2	3
Dennis, Gregory M	100.3	12	14	362	5/28	25.86	3.60	43.71	1	8	1
Dornan,Nigel C	51	7	5	145	2/25	29.00	2.84	61.60	-	2	-
Appleton,Mark S	162	35	15	457	4/46	30.47	2.82	67.00	-	33	-
Mag,Michael	157.1	33	15	492	3/5	32.80	3.13	62.87	-	-	-
Treuberg, Matthias	77	13	7	303	3/25	43.29	3.94	66.57	-	4	-
Cowan,Simon J	54.3	9	4	215	1/30	53.75	3.94	84.50	-	5	6
Abbas,Nadeem	80	17	3	266	2/15	88.67	3.32	162.00	-	-	6
Also Bowled:											
Hamer,Phillip G	10	1	2	28	2/28	14.00	2.80	30.50	-	1	-
Zell,Andrew D	25	12	2	36	2/36	18.00	1.44	76.50	-	-	3
Mann,David L	21.2	3	6	117	4/67	19.50	5.48	21.50	-	-	1
Van Der Gugten, Timm	14.1	2	3	63	2/42	21.00	4.45	30.33	-	2	4
Bowcock, Daniel S	8	1	2	46	1/15	23.00	5.75	25.00	-	1	1
Webb,Joshua	17	4	2	66	2/14	33.00	3.88	51.00	-	-	-
Ross,David W	9	-	1	50	1/26	50.00	5.56	54.00	-	-	-
Glenday, James R	17	2	-	87	0/29	-	5.12	-	-	1	2
Maguire,Peter H	12	5	-	19	0/19	-	1.58	-	-	2	-
Hansen,Liam J	3	-	-	28	0/28	-	9.33	-	-	2	2
Extras				118							

## **PARTNERSHIPS**

# 4th Grade 2005/2006

Wkt	Rd	Opponent	In	Bat 1	Sc	Bat 2	Sc	P/S
1st	15	Gordon	1	Abbas,Nadeem	36	Webb,Joshua	52*	67
1st	11	Penrith	1	Abbas,Nadeem	33	Webb,Joshua	20	63
1st	11	Penrith	2	Abbas,Nadeem	11	Webb,Joshua	39	52
1st	10	North Sydney	1	Webb,Joshua	29	Abbas,Nadeem	19	50
2nd	2	Randwick-Petersham	1	Ross,David W	31	Abbas,Nadeem	82	87
2nd	13	St.George	1	Abbas,Nadeem	48	Bowcock, Daniel S	143	63
3rd	13	St.George	1	Fleming, Tallaesen	65	Bowcock, Daniel S	143	135
3rd	11	Penrith	2	Bowcock, Daniel S	68*	Gerber,Simon B H	24*	94*
3rd	8	Western Suburbs	1	Mann,David L	12	Gerber,Simon B H	132	59
4th	4	Campbelltown-Camden	1	Bowcock, Daniel S	64	Fleming, Tallaesen	106	165
4th	8	Western Suburbs	1	Harris, Peter A	36	Gerber,Simon B H	132	81
4th	6	Eastern Suburbs	1	Bowcock, Daniel S	50	Stuart, Alexander I	89	63
4th	13	St.George	1	Bowcock, Daniel S	143	Backmann,Hugh A	13	59
5th	14	Sydney University	1	Bowcock, Daniel S	74	Cowan,Simon J	50	76
6th	12	Northern Districts	1	Searle,Paul B	42	Cowan,Simon J	91*	105
6th	4	Campbelltown-Camden	1	Cowan,Simon J	61	Morris, Christopher J	36*	72
6th	6	Eastern Suburbs	1	Mag,Michael	36	Stuart, Alexander I	89	71
6th	7	Bankstown	1	Abbas,Nadeem	79	Dennis, Gregory M	36	55
7th	3	Mosman	1	Mag,Michael	71	Cowan,Simon J	48*	108
7th	12	Northern Districts	1	Dennis, Gregory M	59*	Cowan,Simon J	91*	99*
7th	5	UTS-Balmain	1	Mag,Michael	20	Dennis, Gregory M	71	51
8th	5	UTS-Balmain	1	Treuberg, Matthias	28	Dennis, Gregory M	71	55
9th	5	UTS-Balmain	1	Dennis, Gregory M	71	Appleton,Mark S	17*	25
10th	14	Sydney University	1	Appleton,Mark S	19*	Treuberg, Matthias	19*	41*

# Partnership Averages

Wkt	Inns	NO	Runs	Avg
1st	15	-	445	29.67
2nd	15	-	305	20.33
3rd	15	2	427	32.85
4th	13	-	585	45.00
5th	13	-	313	24.08
6th	13	2	407	37.00
7th	11	1	366	36.60
8th	10	4	171	28.50
9th	6	-	76	12.67
10th	6	2	82	20.50

## FIFTH GRADE REPORT

The season that started without much expectation, started to show signs of promise mid season, turned into the juggernaut by regular season end only to climax with a whimper.

With a large turnout to pre-season training and having to make some difficult decisions to cut some obviously talented cricketers, my feeling for the season ahead was one of mixed thoughts. Not knowing if we had selected the right new guys, or allowed the next **Robert J. Stark** or **James Robson** to slip through our fingers and down to the relative obscurity of Shires Cricket. Still, I though we had plenty of talented cricketers, with a good blend of experience and youth.

One comment I made to the boys in the sheds after game 1 was that I wanted to go through the season undefeated. An obviously bold claim given the length of the season and the nomad like existence of a fifth grade cricket side. The first five or so rounds produced all wins, many a lot closer than I would have liked. The positive I took out of these games was that we had a side that seemed to know how to win despite the majority of the guys having relatively little, or no, grade cricket experience prior to this season. Good signs indeed.

As history will show we went through the regular season with one narrow loss, which even then we can put down to a mad hour late on the first day when we lost 5-50 chasing a small target of 140. To go through the regular season with only one loss is a magnificent effort and the minor premiership was a just reward for some excellent cricket played throughout.

The side had a great feel about it every game - we had a mixture of ages and personalities and I can say that in my time in grade cricket I have not enjoyed a season as much as I have the season just past. Obviously winning breeds a good culture within a side, but without the great spirit we had in the sheds, I doubt we would have won as many games as we did. Captaining this side was an absolute pleasure and makes the hours put in outside of game day less of a burden. I'll save my thanks and well dones for later in the report.

To finish the season in the style we did was an obvious disappointment. However, I felt nothing but pride knowing what we had accomplished throughout the season. The pleasure I took from captaining such a great bunch of blokes to a minor premiership far outweighed the disappointment of losing in a semi-final. I still believe we were by far the best side in the competition, and I doubt you would get much of an argument from ANY of the other sides. The cricketing gods just weren't smiling on us for two days in late March.

My first thanks go to **Jebby**, **Ray**, **Campo** and **Simon** for the magnificent facilities served up to us every week. I've never seen DP or the VG looking better in my time at the club. I'd like to think we turned DP into something akin to a graveyard for visiting teams. I just loved rocking up there every second week or so and finding an absolute belter prepared for us. Thank you gentlemen.

Aside from preparing magnificent grounds each week Jebby was the cornerstone of the club for the season. His involvement and willingness to make himself available whenever required made my job of captaining the side much easier. Thanks for everything Jebby.

Our ever willing club secretary, **Paul Serov**. Again, whenever I had need for something to be done Paul was always available. I have a tendency to leave things to the last minute and contact Paul in a whirl of panic only to have him always have the right answer and bring me back down to earth. Thanks Sneaky.

Chris Morris and Simon Gerber. I had a few games off this year and had to call on both Morry and Gerbs to take up my slack while I was away. The way each of these guys took on the role was a little too good for my liking. They both immersed themselves in the role whenever required and not only

would they take on the easy on-field duties, but whenever asked they would also take on the burdensome midweek tasks as well, even down to making the dreaded phones calls to let guys know they were down with Jonesy this round. Gerbs and Morry, thank you.

Big, bad, **Barry Ross**. Always willing to traverse the countryside in order to ensure consistency within the 5th grade scorebook and to keep other scorers (and the occasional player) in line. Thanks Barry, your dedication to the cause was very much appreciated. Anyone willing to travel to lovely downtown Werrington should either be institutionalised or commended for their dedication.

**Mick Treuberg** and **Mick O'Brien**. Both guys provided me invaluable assistance mainly towards the latter stages of the season. Whether it was scoring or general organising during game day both guys were always willing to put in whenever required.

Onto playing highlights. I'm not going to quote individual statistics, simply give my view on a few guys ...

Season 2005/2006 proved no different in that **Jim Robson** again was the go to guy for 5's. Jungle not only continues to play at a much higher level than 5th grade, but his enthusiasm for the game and for the development of the younger guys in the side is higher now than I've ever seen it. Whether Jungle is out on the field taking 5 for's or making hundreds or leading the story telling in the sheds his role in the side was invaluable. In my view and I'm sure this will be shared by anyone else who played in 5's this season, Jungle made the atmosphere in the team. Needless to say, Jungle topped the batting average and aggregate and topped the bowling average and aggregate.

Morry, Gerbs and Pete "Mr Cricket" Harris all had fine seasons with the bat and Morry also shone with the gloves. Not only did they put together stats they should be proud of, but each of them displayed to me that they were thinking cricketers and looking for ways to better the team both on the field and off. If there was an exception to this it would be Mr Cricket's constant whinging for a bowl. Mr Cricket, I'm sorry, but as long as I'm in charge of 5's, for the good of the game, you will not be getting a bowl.

Sammy Crowl and Evan Kargas. Both in their first season of grade cricket and both guys played with much potential. Sammy plies his trade in one of the toughest a cricketer can take on, a left arm chinaman and for a young guy, does this very well. On top of this Sam's batting improved as his confidence did and his fielding is simply outstanding. Evan, his enthusiasm for the bumble-bee is unparalleled. Ev is a genuine wicket taker and someone I would go to if wickets were required. I used the term potential for both Sam and Evan even though both guys had very good seasons in 2005/06 and ones they should be proud of. Well done and hope to see you both at pre-season.

**Hugh Bachmann** had a mixed season, comprising many highs with a few lows in between. Even though I wasn't there to see it Petal pulled out one particular hundred which had many fine judges telling me it was the finest 5th grade hundred they have ever seen. My view on Hugh for the upcoming season is that he should be aiming for a regular 2nd grade spot with a view to 1st grade the season after. Well done Petal on a great season.

Finally, the greenies in the side. **Timm Van Der Gugten, Chris O'Brien** and **Matthias Treuberg**. While TVDG was only part of the side for a few games early in the season, his undoubted potential was evident from ball one and culminated in his selection in 2's for the final game (which he was unfortunately unable to play) and in his being named the club's Rookie of the Year. Chris took an opportunity late in the season and grabbed it with both hands, retaining his spot in the side for the finals in a highly contested final XI. In his first grade game Chris came in late on the second day with us still requiring a few runs and with only a couple of wickets in hand, and proceeded to smash the St George attack to all corners of the park to ensure victory. Matthias was in my opinion the most improved cricketer in the club from the season prior. I saw him improve all aspects of his game and

believe if he can maintain this level of improvement in the coming seasons a regular first grade spot is his for the taking. Congrats guys on your season and I look forward to watching you all progress throughout the grades.

A much pleasing season, to finish any season as Minor Premiers is a feat to be proud of.

### PETER MITCHELL

### **MATCH SUMMARIES**

## 5th Grade 2005/2006

Rd	Venue	LO Inns of:	Score	Ov	Inns of:	Score	Ov
1	David Phillips	* Fairfield-Lilverpool	9/179	50	University of NSW	7/180	49.2
	South	Kargas,Evan	5/36	10	Robson, James G	49	(85)
		Van Der Gugten, Timm	3/25	8	Afzal,Faisal	43	(42)
					Maguire,Peter H	36	(40)
	Result:	Won on first innings (6 poin	ts)				
2	Snape Park	Randwick-Petersham	210	70.2	University of NSW	9/231	90
		Hamer,Phillip G	3/35	9	Harris, Peter A	71	(155)
		Crowl,Samuel J	3/73	17	Robson, James G	39	(124)
		Robson, James G	2/37	19	Kulkarni,Mayur	26	(48)
		Van Der Gugten, Timm	1/14	7.2	Afzal,Faisal	22	(35)
	Result:	Won on first innings (6 poin	ts)				
3	Balmoral Oval	* University of NSW	6/210	50	Mosman	9/204	50
		Afzal,Faisal	60	(69)	Treuberg, Matthias	3/46	10
		Harris, Peter A	54	(113)	Robson, James G	2/49	10
		Mitchell,Peter B	26	(41)			
	Result:	Won on first innings (6 poin	ts)				
4	David Phillips	Campbelltown-Camden	218	<b>72.1</b>	University of NSW	7/220	87
	South	Hamer,Phillip G	3/19	11.1	Robson, James G	90	(172)
		Crowl,Samuel J	2/26	7	Mitchell,Peter B	47	(151)
		Dornan, Nigel C	2/34	14	Crowl,Samuel J	22*	(56)
	Result:	Won on first innings (6 poin	ts)				
5	David Phillips	UTS-Balmain	131	57.2	University of NSW	9/198 d.	59.5
	South	Crowl,Samuel J	3/3	2.2	Morris, Christopher J	76	(126)
		Robson, James G	2/9	15	Foster,Paul	28	(64)
		Dornan, Nigel C	2/31	10	Gerber, Simon B H	25	(42)
		(2nd Inns)	2/129	37			
		Dornan, Nigel C	1/37	10			
		Crowl,Samuel J	1/43	11			
	Result:	Won on first innings (6 poin	ts)				
6	Snape Park	* Eastern Suburbs	142	48.5	University of NSW	6/146	44.5
		Dornan, Nigel C	4/21	9.5	Afzal,Faisal	40	(58)
		Kargas, Evan	2/28	10	Gerber, Simon B H	38	(65)
		Lucas,Mark S	2/34	10	Robson, James G	29*	(59)
		Backmann,Hugh A	3	Cts			
	Result:	Won on first innings (6 poin	ts)				
7	Jensen Park	Bankstown	157	58	University of NSW	1/76	22
		Robson, James G	4/18	16	Gerber, Simon B H	26*	(58)
		Kargas,Evan	3/49	15	Afzal,Faisal	24	(19)
	Result:	No Result (0 points) - 2nd D	ay Wasl	ned Ou	t		

				) <u>, , , , , , , , , , , , , , , , , , ,</u>		
8 David Phillips	Western Suburbs	155	66.1	University of NSW	137	51.3
South	Robson, James G	4/26	24.1	Crowl,Samuel J	45	(85)
	Ross,David W	2/18	9	Mitchell,Peter B	29	(86)
	Kargas,Evan	2/47	16			
Result:	Loss on first innings (0 po					
9 David Phillips	* University of NSW	191	49.3	Manly Warringah	154	47
South	Mitchell,Peter B	76	(105)	Kargas,Evan	3/26	10
	Robson, James G	45	(88)	Dornan, Nigel C	2/19	10
				Ross, David W	2/40	9
				Morris, Christopher J	4	Cts
Result:	Won on first innings (6 po	•				
10 David Phillips	<ul><li>North Sydney</li></ul>	7/137	38	University of NSW	5/138	34
South	Treuberg, Matthias	4/19	8	Backmann,Hugh A	60	(79)
	Hamer,Phillip G	1/23	4	Stuart, Alexander I	35	(70)
Result:	Won on first innings (6 po		Over M			
11 Rance Oval	<b>University of NSW</b>	265	86.2	Penrith	156	54.4
	Morris, Christopher J	72*	(103)	Stark,Robert W	4/63	21
	Backmann,Hugh A	69	(134)	Ross,David W	3/67	16
	Harris, Peter A	67	(154)	Glenday, James R	2/8	11.4
Result:	Won on first innings (6 po	ints)				
12 Somerville Park	University of NSW	188	<b>75.3</b>	Northern Districts	168	66.5
	Backmann,Hugh A	39	(91)	Robson, James G	5/34	24
	Morris, Christopher J	33	(88)	Glenday, James R	4/50	21
	Robson, James G	33	(77)			
Result:	Won on first innings (6 po	ints)				
13 David Phillips	St.George	4/305 d.	84	University of NSW	7/310	78.2
South	O'Brien,Christopher	1/44	13	Afzal,Faisal	92	(117)
	Robson, James G	1/57	17	Robson, James G	53	(62)
	Ross, David W	1/66	14	Mitchell,Peter B	45	(98)
				O'Brien, Christopher	34*	(17)
Result:	Won on first innings (6 po	ints)				
14 David Phillips	University of NSW	9/387 d.	82	Sydney University	119	59.3
South	Backmann,Hugh A	145	(154)	Stark,Robert W	3/16	10
	Robson, James G	84	(162)	Hamer,Phillip G	3/31	15
	O'Brien, Christopher	53	(42)	Crowl,Samuel J	2/12	5.3
	Gerber, Simon B H	45	(59)	Glenday, James R	2/23	13
Result:	Won on first innings (6 po	ints)				
15 Chatswood Oval	l * Gordon	104	42.1	University of NSW	6/105	44.3
	Ross, David W	4/18	5.1	Ross, David W	26	(106)
	Treuberg, Matthias	1/7	6	Mitchell,Peter B	22*	(62)
	O'Brien,Christopher	1/11	6			
	Robson, James G	1/13	5			
Result:	Won on first innings (6 po	ints)				
QF Village Green	University of NSW	392	138.4	Campbelltown-Camden	339	59.4
	Gerber,Simon B H	107	(223)	Glenday, James R	4/113	21.4
	Morris, Christopher J	91	(147)	Robson, James G	3/55	13
			, ,			6
	Robson, James G	53*	(175)	Treuberg,Matthias	1/31	O
	Robson,James G Harris, Peter A	53* 34	(175) (74)	Treuberg, Matthias	1/31	O

SF	Village Green	<b>University of NSW</b>	117	48.5	Fairfield-Lilverpool	240	78.5
		Harris, Peter A	22	(55)	Glenday, James R	5/69	25
		Mitchell,Peter B	22	(75)	Kargas, Evan	2/50	14
		Afzal,Faisal	21	(32)	Robson, James G	1/27	18
		O'Brien, Christopher	20*	(28)			
		(2nd Inns)	2/50	12			
		Morris, Christopher J	19	(35)			
	Result:	Loss on first innings					

## **BATTING**

## 5th Grade 2005/2006

Overs Faced: 1104.1
Runs Scored For: 3541
Wickets Lost: 134
Average / Wicket: 26.43
Balls / Wicket: 49.44
Runs / Over: 3.21

Highest Score For: 392 vs Campbelltown-Camden (QF)

Lowest Score For: 117 vs Fairfield-Lilverpool (SF)

Lowest Score 1 or.	11/ V	) I all	iicic	1-DII (	cipoo	1 (31)											
Name	Mts	Inn	No	HS	Runs	Avg	50	100	S/R	<b>4s</b>	6s	Ct	Wk	St	RD	RI	Pts
O'Brien, Christopher	5	6	4	53	130	65.00	1	-	104.00	16	1	4			-	2	244
Gerber, Simon B H	6	6	1	107	243	48.60	-	1	52.60	35	-	4			-	_	256
Robson, James G	16	14	3	90	519	47.18	4	-	45.97	41	-	5			-	1	1439
Hamer,Phillip G	9	7	5	19	75	37.50	-	-	49.67	7	1	2			-	1	500
Morris, Christopher J	10	11	2	91	331	36.78	3	-	53.30	36	-	-	11	1	-	4	671
Backmann,Hugh A	10	9	-	145	326	36.22	2	1	65.59	43	1	8			-	-	676
Harris, Peter A	8	7	-	71	253	36.14	3	-	42.38	30	-	3	3		-	-	447
Mitchell,Peter B	12	13	2	76	324	29.45	1	-	39.13	18	3	5	2		1	1	501
Afzal,Faisal	13	14	-	92	339	24.21	2	-	76.18	40	4	6			1	-	577
Crowl,Samuel J	11	10	3	45	148	21.14	-	-	43.53	15	-	10			-	-	748
Stuart, Alexander I	5	5	-	35	82	16.40	-	-	37.10	8	-	1	3		-	-	237
Kulkarni,Mayur	5	5	-	26	58	11.60	-	-	34.94	7	-	2			-	1	158
Treuberg, Matthias	9	6	1	32	55	11.00	-	-	37.93	6	-	1			-	-	365
Ross,David W	13	13	1	26	130	10.83	-	-	39.39	14	1	4			2	1	711
Roucek,Michael J	7	7	1	22	62	10.33	-	-	41.61	7	-	-			-	1	142
Tibbetts, Joel A	4	4	-	16	21	5.25	-	-	23.33	2	-	1			-	-	81
Glenday, James R	7	6	-	13	28	4.67	-	-	35.44	2	1	2			-	1	335
Kargas,Evan	9	5	-	12	16	3.20	-	-	29.63	2	-	10			1	-	715
Also Batted:																	
Maguire,Peter H	1	1	-	36	36	36.00	-	-	90.00	4	-	2			-	-	106
Stark,Robert W	3	2	1	8*	15	15.00	-	-	150.00	1	1	-			-	-	280
Foster,Paul	2	2	-	28	28	14.00	-	-	41.79	3	1	-			-	-	48
Weerakkody,Nivan	3	2	-	18	21	10.50	-	-	39.62	-	-	1			-	-	51
Mark,Julian	1	1	-	4	4	4.00	-	-	25.00	-	-	-			-	-	14
Dornan, Nigel C	4	2	1	2*	2	2.00	-	-	22.22	-	-	-			-	-	312

Van Der Gugten, Timm	2	1	-	2	2	2.00	-	-	11.11	-	-	1	-	-	147
Smith,Mitchell D M	1	1	1	15*	15	-	-	-	71.43	1	1	-	-	-	25
Crichton,Samuel L	1	1	1	4*	4	-	-	-	30.77	-	-	2	-	-	54
Garland, Matthew	2	1	1	1*	1	-	-	-	12.50	-	-	1	-	1	51
Lucas,Mark S	6	1	1	0*	0	-	-	-	-	-	-	1	-	-	180
Kalagara,Suresh K	1	-	-	-	-	-	-	-	-	-	-	-	-	-	10
Hansen,Liam J	1	-	-	-	-	-	-	-	-	-	-	1	-	-	40
Pereira,Gavin J	-	-	-	-	-	-	-	-	-	-	-	1	-	-	20
Extras					273										

## **BOWLING**

### 5th Grade 2005/2006

Overs Bowled: 1040.3
Runs Scored Against: 3247
Wickets Taken: 161
Average / Wicket: 20.17
Balls / Wicket: 38.78
Runs / Over: 3.12

Highest Score Against: 339 vs Campbelltown-Camden (QF)

Lowest Score Against: 104 vs Gordon (Rd15)

Name	О	M	W	R	Best	Avg	Econ	S/R	5wi	Wd	Nb
Stark,Robert W	41	7	8	101	4/63	12.62	2.46	30.75	-	-	-
Dornan, Nigel C	53.5	16	11	142	4/21	12.91	2.64	29.45	-	-	1
Kargas,Evan	82	10	17	256	5/36	15.06	3.12	29.29	1	3	3
Robson, James G	217.1	74	28	444	5/34	15.86	2.04	46.54	1	-	-
Glenday, James R	110.2	19	19	323	5/69	17.00	2.93	35.42	1	-	11
Treuberg, Matthias	69	17	10	202	4/19	20.20	2.93	42.20	-	6	2
Hamer,Phillip G	92.1	26	11	259	3/19	23.55	2.81	50.73	-	4	1
Crowl,Samuel J	78.5	5	13	317	3/3	24.38	4.02	36.62	-	2	1
Lucas,Mark S	55	15	6	175	2/34	29.17	3.18	55.00	-	-	-
O'Brien, Christopher	36.5	8	4	130	1/11	32.50	3.53	56.00	-	1	2
Ross,David W	131	23	15	550	4/18	36.67	4.20	52.53	-	2	_
Also Bowled:											
Van Der Gugten, Timm	15.2	2	4	39	3/25	9.75	2.54	23.75	-	-	3
Roucek, Michael J	5	-	1	24	1/24	24.00	4.80	34.00	-	4	-
Hansen,Liam J	9	2	1	28	1/28	28.00	3.11	57.00	-	-	3
Maguire,Peter H	10	1	1	45	1/45	45.00	4.50	61.00	-	1	-
Garland, Matthew	13	1	-	35	0/17	-	2.69	-	-	2	-
Smith, Mitchell D M	9	2	-	25	0/25	-	2.78	-	-	2	-
Kalagara,Suresh K	9	3	-	31	0/31	-	3.44	-	-	-	2
Tibbetts, Joel A	3	-	-	19	0/9	-	6.33	-	-	-	-
Extras				98							
Difference				4							

## **PARTNERSHIPS**

# 5th Grade 2005/2006

Wkt	Rd	Opponent	In	Bat 1	Sc	Bat 2	Sc	P/S
1st	6	Eastern Suburbs	1	Afzal,Faisal	40	Gerber,Simon B H	38	64
1st	QF	Campbelltown-Camden	1	Harris, Peter A	34	Gerber,Simon B H	107	59
2nd	QF	Campbelltown-Camden	1	Gerber, Simon B H	107	Morris, Christopher J	91	170
2nd	3	Mosman	1	Afzal,Faisal	60	Harris, Peter A	54	80
2nd	13	St.George	1	Crowl,Samuel J	30	Afzal,Faisal	92	75
3rd	10	North Sydney	1	Stuart, Alexander I	35	Backmann,Hugh A	60	103
3rd	11	Penrith	1	Harris, Peter A	67	Backmann,Hugh A	69	98
3rd	13	St.George	1	Tibbetts, Joel A	16	Afzal,Faisal	92	51
4th	14	Sydney University	1	Gerber, Simon B H	45	Backmann,Hugh A	145	79
4th	5	UTS-Balmain	1	Foster,Paul	28	Morris, Christopher J	76	76
4th	12	Northern Districts	1	Backmann,Hugh A	39	Morris, Christopher J	33	62
4th	3	Mosman	1	Mitchell,Peter B	26	Harris, Peter A	54	50
5th	14	Sydney University	1	Backmann,Hugh A	145	Robson, James G	84	161
5th	4	Campbelltown-Camden	1	Mitchell,Peter B	47	Robson, James G	90	123
5th	9	Manly Warringah	1	Robson, James G	45	Mitchell,Peter B	76	86
5th	13	St.George	1	Robson, James G	53	Mitchell,Peter B	45	82
5th	2	Randwick-Petersham	1	Harris, Peter A	71	Robson, James G	39	68
6th	14	Sydney University	1	O'Brien, Christopher	53	Robson, James G	84	82
6th	1	Fairfield-Lilverpool	1	Maguire,Peter H	36	Robson, James G	49	63
7th	15	Gordon	1	O'Brien, Christopher	12*	Mitchell,Peter B	22*	27*
8th	QF	Campbelltown-Camden	1	Treuberg, Matthias	32	Robson, James G	53*	55
9th	QF	Campbelltown-Camden	1	Glenday, James R	13	Robson, James G	53*	30
10th	2	Randwick-Petersham	1	Hamer,Phillip G	9*	Smith, Mitchell D M	15*	25*

## Partnership Averages

Wkt	Inns	NO	Runs	Avg
1st	18	-	417	23.17
2nd	18	1	578	34.00
3rd	17	1	378	23.62
4th	16	-	399	24.94
5th	16	-	719	44.94
6th	16	1	397	26.47
7th	15	3	211	17.58
8th	12	3	272	30.22
9th	9	-	80	8.89
10th	8	2	90	15.00

# **SIXTH GRADE REPORT**

Well, what a season for 6<sup>th</sup> Grade. 13 wins and 3 draws in 19 games, a new batting record and a minor premiership. Most importantly, one of the most enjoyable seasons I've been involved in, with terrific camaraderie on and off the field. We ended up losing our semi-final after a bad opening session, but even in that game we fought all the way to the finish. I could not have been prouder of the team on the final day. Thanks to all for a wonderful season, in particular the following team members (a full account of each game follows for those who are interested):

**Matt Garland** – Garlo is a great guy to have on the team. He loves the game, loves the Uni club (father Geoff is the club's 3<sup>rd</sup>-leading wicket-taker) and always gives 100%. He was rewarded this year with his best-ever season: 24 wickets at 19 with 2 five-fors and a couple of match-winning performances, against Sydney Uni and UTS Balmain

**Steve Halikas** – feisty "Spinal Tap" kept the verbals up and the runs down, claiming 20 wickets for the season at 21, plus 4 catches patrolling mid-on as only he can.

**Suresh Kalagara** – this former Hyderabad U-19 representative had a blinding first season for the club, taking 28 wickets at 16 with 2 five-fors, and blasting 366 runs at 36 and a strike rate of 105. In a photofinish with Nivan for player of the year.

**Mayur Kulkarni** – "Chili" found form through the season and played important hands with bat and ball. A matchwinning partnership with Jono Tan at Penrith and a matchwinning spell against Hawkesbury, plus 47 out of 108 in the first innings of our losing semi-final. 232 runs at 25, 7 wickets at 18 and 4 catches.

**Mark Lucas** – "Mustard" contributed another year of yeoman service to the club. 12 wickets at 24 in 6s (he also played a number of games in 5s) and 6 not outs in 8 innings. A great team man.

**Michal Roucek** – Mick injected class into the top order when he wasn't playing 5s, easing 345 runs at 43 with 3 fifties and a top score of 97. Executed 3 direct hit run-outs and was a partnership-breaker with the ball, including the wicket of the Penrith skipper in the semi-final.

**Hugh Sangster** – another great team man, who enjoyed a solid first season with the bat. Hugh was desperately unlucky to be 12<sup>th</sup> man for the finals as 198 runs at 25 would have secured a middle order spot in 6s in any other year. 3 catches and a run out, mainly fielding at square leg, showed his quality in the field.

**Paul Serov** – appearances limited before Christmas by family and work commitments, Paul nevertheless finished with 12 wickets at 25, including 5/39 vs Holroyd. The consummate clubman, he does more work behind the scenes than anyone realises.

**Jonathan Tan** – a very handy cricketer who would have played higher had work not limited his training appearances. Played the innings of the season in the Qualifying Final for 120\*, hit 2 fifties and collected 6 wickets as well. 353 runs at 44 marked an outstanding season.

**Ben Tate** – "Triple T" was unstoppable when on-song. Typically tried to belt the cover off the ball and often succeeded. His 332 runs at 22 included 88 off 60 against Souths and 69 off 41 against Burwood. 8 catches, 6 as keeper and 2 in the slips – including a blinder at leg slip versus Holroyd.

**Nivan Weerakkody** – This team scored far more runs than any other 6th grade outfit I am aware of, averaging totals in excess of 300 in 2-day games (excluding the semi-final), and 230-plus in one-dayers. Nivan was the single biggest contributor. In his first season with UNSW, Nivan scored 566 runs in 6th Grade at the remarkable average of 70.75. He hit one century – a matchwinning 124 against UTS Balmain – and 4 fifties, including an 85, 87\* and 99\*. He scored runs under pressure and scored

them quickly when required. He was simply outstanding. Congratulations Nivan on a great season and a new 6<sup>th</sup> grade single-season run-scoring record.



6th Grade Semi-Final Team v Penrith at David Phillips North

Back Row: Steve Halikas, Mark Lucas, Suresh Kalagara, Michael Roucek, Jonathan Tan,
 Matt Garland, Hugh Sangster (12th Man).
 Front Row: Paul Serov, Mayur Kulkarni, Andrew Jones, Nivan Weerakkody, Ben Tate.

Other notable contributors to the cause were:

**Chris O'Brien** – a fine young cricketer promoted to 5s after scoring runs and taking wickets, his signature shot is the lofted straight drive. Handy.

**Sam Crowl** – bowled his chinamen well under pressure in 4 games and was one of the top couple of fielders in the club.

**Victor Jauregui** – unlucky not to get more games but was always willing to do what was best for the team.

**Faisal Afzal** – blasted boundaries and selectors with almost equal frequency! Will be a handful if his shot selection improves.

**Liam Hansen** – transferred up north for work after some robust early season performances.

**Marty Kaye** – scored runs and kept wicket competently until concluding that the grass was greener at North Sydney.

**Ben Wakim** – a technically sound player whose season was truncated by school cricket commitments.

**Michael Rea** – a fine young bloke who trained his heart out all season and made the most of his couple of opportunities. Will contribute more in the future.

#### Full season review

The season began with, of all things, a 6th grade trial game - the first such fixture I can remember since

joining the lower grades in 1992. It seems the success of 1st Grade last season and a vibrant 2005 Ashes series in England had combined to attract hundreds of hopefuls to cricket and to the club. A trial was the only way we could reasonably evaluate all the new players, and select a squad of the correct size: sufficiently large to ensure we had eleven on the park each week, but sufficiently small to ensure interested players would get a game consistently.

As it turned out, giving people games was the biggest problem we had all season: in only one round was it a challenge to assemble a full side. This is very unusual for 6<sup>th</sup> Grade, given selections are always subject to unavailabilities, injuries and late withdrawals in the five teams above. Anyway, the final squad featured a mix of old names (such as Garland, Halikas, Lucas and Tate) and rather exotic new ones (such as Kalagara, Wakim and Weerakkody). Overworked new father, worker, law student and Club Secretary Serov retained his place but handed the captaincy back to Jones after 4 seasons of sterling service. The squad looked strong on paper, but as Jack Gibson (I think) observed: "Paper never won nothing."

We did win the first game, though. 6/19 off 10 from Matt Garland and 3/24 from Mark "Mustard" Lucas allowed us to defend a seemingly modest 174 in a limited-over match against the old enemy, Sydney Uni. Nivan Weerakkody contributed 49 on debut: it would not be the last time he scored runs this season, nor the last time his innings ended one run short of a milestone.

Rounds 2-4 were frustrating: a loss to a very good Gordon Colts side in a one-dayer, a controversial second-week washout against UTS Balmain and a forfeit against apparent competition easybeats Lindfield. Weerakkody featured in the Balmain game with 68 while Dr Simon Gerber contributed 59 in a rare 6<sup>th</sup> Grade cameo. Stand-out performances though were 87 against Gordon by the enigmatic Nirjon Kader and 84 by new prospect Chris O'Brien against UTS.

We were mid-table after four rounds, but that was about to change. Rounds 5 & 6 were in the "solid win" category; in Rounds 7 & 8 we lit the afterburners.

Round 5 was against North Sydney: chasing a very respectable 50-over total of 231, we did it easily. Michal Roucek raced to 86 off 65 balls with characteristically elegant on-side play, threading the ball through (or over) a field which ended up having a mid-on, square leg and two mid-wickets. At the other end, The Great Weerakkody punched the ball through cover until the target had been reached: the only problem was he was 95 not out when we passed their score. Using the "dodgy scorebook" excuse, I suggested to the opposing captain that we finish the over. This suggestion was accepted – until Nivan hit the next ball for four. They marched off, five runs behind, game over, and with Nivan stranded on 99\*. Plainly he should have hit the last ball for six.

Round 6 was a two-day win over Randwick-Petersham. We set out to bat all of Day 1, and succeeded, with Hugh Sangster contributing 61, Jono Tan 42 and Phil Hamer 38 of an excellent team total of 318. Jono backed up to take 3/49 in the Randwick innings and Steve "Spinal Tap" Halikas got a couple as well, to follow up his 3/50 against Norths.

Round 7 was a crushing outright win against Holroyd-Hills. Man of the Match was Suresh Kalagara with combined figures of 9/72, including 5/19 in the first dig. Matt Garland took 5/25 to complete the first innings rout, while Paul "Sneaky" Serov claimed 5/39 to seal the outright. With the bat, Marty Kaye made 54 in what turned out to be his last innings for the club. Andrew Jones fulfilled a lifetime ambition by scoring his first century, after 25 seasons of trying.

Round 8, the last before Christmas, propelled us to the top of the table as we enjoyed a dominant one-day win over Souths. They made 8/187 off 50, with Garlo (3/34) and Spinal (a miserly 1/15 off 10) the pick of the bowlers. Then it was the Ben Tate show – he blasted 88 off 60 balls to get us within sight of the finish. Hugh Sangster (34\*) and Suresh Kalagara (18 off 10) got us home inside 25 overs for a win and 2 bonus points.

After Christmas, the momentum continued. We had 5 wins, 1 washout, 1 forfeit and just one loss – by 1 wicket, on the last ball of the 50<sup>th</sup> over – taking us into the Quarter Finals:

Round 9 was a washout against the second Lindfield team.

Round 10 was a heroic win against new enemies UTS Balmain. Weerakkody scored a magnificent 124 and Kalagara a decisive 44 off 24 to get us to 9/252 off 50. Then, with Balmain 3-201 in the 44<sup>th</sup> over, stand-in captain Matt Garland picked up 4 wickets to seal a 20 run win. All four wickets were bowled. Great effort by the team, particularly as a nervous skipper was checking the results by text from his honeymoon!

Round 11 was a forfeit by Blacktown.

Round 12 was a monumental batting performance as we blasted 320 in a one-dayer off 49.4 overs. Roucek was again in superb form, with 97 off 81, while Tate chanced his arm for 69 off 41 and the rest of the team chipped in. Burwood could manage only 239 in reply, 136 of which were scored by one batter.

Round 13 was the one that got away: UNSW 233 off 47.1, Auburn 9-234 off exactly 50. Jonathan Tan made a superb 75 and Roucek another 65. Sam Crowl took 4/54 bowling under pressure at the end, but we couldn't quite force the win – dropping the no.11 in the second last over didn't help.

Round 14 was a courageous win vs Penrith. A century partnership between Jono Tan and Mayur "Chili" Kulkarni got us out of trouble at 4/84. Jono finished with 65 and Chili 61 as we compiled a respectable 277. Penrith was looking good at 3/163 in reply before last-minute recruit Arjun Khurmi took a crucial outfield catch to dismiss their skipper – Paul Serov was the bowler. Chili and Mustard finished off the tail – evidently the Penrith lads struggle with condiments – with the final score 213. Special mention in this game for Michael Rea, who chipped in 2/21 and a handy 24 on debut for the club, just reward for his constant efforts at training through the season.

Round 15 was a ridiculous game against ourselves, although a Hawkesbury team also appeared to be present. Flying along on a superb batting deck at 0/83 (volunteer opener Suresh Kalagara blasting 53 and the skipper grundling 30), we lost 6/36 and only 20 from Serov got us to 159. Hawkesbury was cruising at 2/115 when this skipper's brain melted down entirely – we were simply playing pathetic cricket. I don't know if my drinks-break rant played a part but we returned to take 8/35 and steal the game. Steve Halikas nabbed 3/32, Mayur Kulkarni 3/20 and Mustard Lucas 2/1, while both Jono Tan and Nivan Weerakkody grabbed screamers in the covers. The Great Escape.

Round 16 was a comfortable win against Randwick-Petersham. Suresh cemented his place at the top of the order with an explosive century (116 off 118 balls, 10 fours, 1 six) and Nivan continued his golden season with 87\*. We made 5/260 off 50 and held them to 9/186, with a couple of run outs and wickets shared around.

Round 17, the last of the regular season, was another strong win. We restricted South Sydney Green to 8/172 off 50 (again, wickets shared around) and decided to chase two bonus points and the minor premiership by getting the runs inside 25 overs. Suresh (79 off 64), Mick Roucek (30 off 29) and special guest star Pete Harris (32 off 23) saw us home inside 24. We had momentum and the minor premiership. Now it was finals time.

Our first match, the qualifying final, was our finest hour. Or finest nine hours. Determined to bat the 96 over day against UTS Balmain, we ended up batting until halfway through Day 2, facing 148 overs and scoring 375 runs. Most batters chipped in (Tate 41, Kulkarni 32, Roucek 26, Jones 25) but the major contributions came from Nivan Weerakkody and Jono Tan. Nivan scored a classy 85, in the process breaking the 6th Grade single-season run-scoring record, which had stood for 25 years. Jono played the single best innings I've seen in 6th Grade. A masterpiece of concentration, he batted 303

minutes and 272 balls for an unbeaten century. 120 not out, 14 boundaries and one stake to Balmain's heart. With only 40-odd overs to bat, UTS called off the chase at 4/76.

Unfortunately we could not sustain this form. One bad morning and one fine opposition innings destroyed our hopes in the semi-final. Against a Penrith side we'd done well to beat in Round 14, we elected to bat on a somewhat cloudy and windy Saturday morning. A combination of the moving ball, good bowling and some injudicious shots saw us lose early wickets, to be 5 down at lunch. Only Chili Kulkarni offered resistance with 47 and we were all out 108. Penrith slumped to 4/25 but we were always chasing the game. A 168 run partnership between their skipper and a bloke named C.Dent got them out of trouble. Dent batted superbly, blocking good balls without exception but murdering anything loose. He hit 16 fours and 5 sixes in his 139, which represented two-thirds of their final total of 206.

We were 98 runs behind on first innings with just 69 overs left on the second day. Damn the torpedoes and full speed ahead! We blasted 9/189 to set them 92 to win and allow 36 overs to get them out. At 3/11 we had a chance, but again their skipper consolidated. Another mini-collapse saw them fall to 6/78 with the skipper out, but our nemesis Mr. Dent blocked resolutely for 12 overs and they finished 6/86. We lost on first innings but we fought all the way. I was very proud of the guts shown by the team. Special commendations in this game to Suresh, who bowled his heart out to take 8/77 across the two innings, including 5/26 in the second, and to Hugh Sangster, who was unlucky to be 12th man for the finals but gave up his time to field in place of the injured Serov in this game.

And a final thanks to all involved for making this such an enjoyable and successful season.

#### **ANDREW JONES**

#### **MATCH SUMMARIES**

### Metropolitan Cup 2005/2006

Rd	Venue	LO	Inns of:	Score	Ov	Inns of:	Score	Ov
1	David Phillips	*	University of NSW	174	48.3	Sydney University	128	37
	North		Weerakkody,Nivan	49	(69)	Garland, Matthew	6/19	10
			Kaye,Martin R	34	(44)	Lucas,Mark S	3/24	9
			Tate,Benjamin D	20	(44)	O'Brien, Christopher	1/22	8
						Wakim,Benjamin	4	Cts
	Result:	Wo	n on first innings (6 points)	l				
2	David Phillips	*	Gordon Colts	5/243	50	University of NSW	216	49.2
	South		Hansen,Liam J	3/42	10	Kader, Nirjon	87	(103)
			O'Brien, Christopher	1/44	10	O'Brien, Christopher	32	(37)
	Result:	Los	s on first innings (0 points)					
3	Jubilee Oval		University of NSW	8/312 d.	77	UTS-Balmain (2)	0/15	3
			O'Brien, Christopher	84	(105)			
			Weerakkody, Nivan	68	(97)			
			Gerber, Simon B H	59	(95)			
			Kaye,Martin R	23	(36)			
	Result:	No	Result (0 points) - 2nd Day	Washed	l Out			
4	ELS Hall Park		Lindfield			University of NSW		
	Result:	Wir	on Forfeit (10 points)					
5	David Phillips	*	North Sydney	231	49.5	University of NSW	5/236	44.1
	South		Halikas, Steven	3/50	9.5	Weerakkody,Nivan	99*	(105)
			Hansen,Liam J	2/34	10	Roucek, Michael J	86	(73)
	Result:	Wo	n on first innings (6 points)					

6	David Phillips	University of NSW	318	82.5	Randwick-Petersham 1	260	78.2
	South	Sangster,Hugh	61		Tan,Jonathan J H	3/49	12
		Tan,Jonathan J H	42	` '	Halikas,Steven	2/68	23
		Hamer,Phillip G	38	(35)			
		Jones, Andrew C	34	(86)			
	Result:	Won on first innings (6 points)					
7	Castlewood	Holroyd-Hills	44	18	University of NSW	4/205 d.	39
		Garland, Matthew	5/19	9	Jones, Andrew C	100	(119)
		Kalagara,Suresh K	5/25	9	Kaye,Martin R	54	(62)
		(2nd Inns)	185	67.2	Kulkarni,Mayur	25	(35)
		Serov,Paul	5/39	17.2	(2nd Inns)	0/28	12.3
		Kalagara,Suresh K	4/47	19	Jaregui,Victor	20*	(37)
	Result:	Outright win after leading on t	irst inni	ings (1	0 points)		
8	David Phillips	* South Sydney (Red)	8/187	50	University of NSW	4/189	24.2
	South	Garland, Matthew	3/34	10	Tate,Benjamin D	88	(60)
		Kalagara,Suresh K	2/65	10	Sangster, Hugh	39*	(54)
		Halikas,Steven	1/15	10	Jones, Andrew C	22	(23)
	Result:	Won on first innings + 2BP (8 p	oints)				
9	Koola Park	* Linfield			University of NSW		
	Result:	No Result (0 points) - Washout					
	David Phillips	* University of NSW	9/252	50	UTS-Balmain (1)	8/232	50
	South	Weerakkody,Nivan	124	` ,	Garland, Matthew	4/49	10
		Kalagara,Suresh K	44	(24)	Roucek,Michael J	1/17	5
	Result:	Won on first innings (6 points)					
11	David Phillips	* Blacktown			University of NSW		
	South	T. C.					
	Result:	Win on Fortait (6 noints)					
10		Win on Forfeit (6 points)	220	10.1	D 1	220	40.0
12	David Phillips	* University of NSW	320		Burwood	239	42.2
12		* University of NSW Roucek,Michael J	97	(81)	Kalagara,Suresh K	3/54	9
12	David Phillips	* University of NSW Roucek,Michael J Tate,Benjamin D	97 69	(81) (41)	Kalagara,Suresh K O'Brien,Christopher	3/54 2/27	9 6
12	David Phillips	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C	97 69 33	(81) (41) (52)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J	3/54 2/27 2/38	9 6 8.2
	David Phillips South	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal	97 69 33 28	(81) (41) (52)	Kalagara,Suresh K O'Brien,Christopher	3/54 2/27	9 6
	David Phillips South Result:	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points)	97 69 33 28	(81) (41) (52) (32)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven	3/54 2/27 2/38 2/41	9 6 8.2 10
	David Phillips South Result: David Phillips	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points) * University of NSW	97 69 33 28 <b>233</b>	(81) (41) (52) (32) <b>47.1</b>	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven	3/54 2/27 2/38 2/41 9/234	9 6 8.2 10 <b>50</b>
	David Phillips South Result:	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points) * University of NSW Tan,Jonathan J H	97 69 33 28 <b>233</b> 75	(81) (41) (52) (32) <b>47.1</b> (105)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J	3/54 2/27 2/38 2/41 <b>9/234</b> 4/54	9 6 8.2 10 <b>50</b> 10
	David Phillips South Result: David Phillips	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points) * University of NSW Tan,Jonathan J H Roucek,Michael J	97 69 33 28 <b>233</b> 75 65	(81) (41) (52) (32) <b>47.1</b> (105) (76)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J Serov,Paul	3/54 2/27 2/38 2/41 <b>9/234</b> 4/54 2/42	9 6 8.2 10 <b>50</b> 10 8
	David Phillips South Result: David Phillips South	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points) * University of NSW Tan,Jonathan J H Roucek,Michael J Tate,Benjamin D	97 69 33 28 <b>233</b> 75	(81) (41) (52) (32) <b>47.1</b> (105) (76)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J	3/54 2/27 2/38 2/41 <b>9/234</b> 4/54	9 6 8.2 10 <b>50</b> 10
13	David Phillips South  Result: David Phillips South  Result:	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points) * University of NSW Tan,Jonathan J H Roucek,Michael J Tate,Benjamin D Loss on first innings (0 points)	97 69 33 28 <b>233</b> 75 65 26	(81) (41) (52) (32) <b>47.1</b> (105) (76) (15)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J Serov,Paul Halikas,Steven	3/54 2/27 2/38 2/41 9/234 4/54 2/42 1/31	9 6 8.2 10 <b>50</b> 10 8 8
13	David Phillips South Result: David Phillips South	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points) * University of NSW Tan,Jonathan J H Roucek,Michael J Tate,Benjamin D Loss on first innings (0 points) University of NSW	97 69 33 28 <b>233</b> 75 65 26	(81) (41) (52) (32) <b>47.1</b> (105) (76) (15)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J Serov,Paul Halikas,Steven  Penrith	3/54 2/27 2/38 2/41 9/234 4/54 2/42 1/31	9 6 8.2 10 <b>50</b> 10 8 8
13	David Phillips South  Result: David Phillips South  Result:	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points) * University of NSW Tan,Jonathan J H Roucek,Michael J Tate,Benjamin D Loss on first innings (0 points) University of NSW Tan,Jonathan J H	97 69 33 28 <b>233</b> 75 65 26 <b>277</b>	(81) (41) (52) (32) <b>47.1</b> (105) (76) (15) <b>67.5</b> (82)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J Serov,Paul Halikas,Steven  Penrith Lucas,Mark S	3/54 2/27 2/38 2/41 9/234 4/54 2/42 1/31 213 3/44	9 6 8.2 10 50 10 8 8 64.5 11.5
13	David Phillips South  Result: David Phillips South  Result:	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points) * University of NSW Tan,Jonathan J H Roucek,Michael J Tate,Benjamin D Loss on first innings (0 points) University of NSW Tan,Jonathan J H Kulkarni,Mayur	97 69 33 28 <b>233</b> 75 65 26 <b>277</b> 65 61	(81) (41) (52) (32) <b>47.1</b> (105) (76) (15) <b>67.5</b> (82) (75)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J Serov,Paul Halikas,Steven  Penrith Lucas,Mark S Kulkarni,Mayur	3/54 2/27 2/38 2/41 9/234 4/54 2/42 1/31 213 3/44 2/21	9 6 8.2 10 <b>50</b> 10 8 8 <b>64.5</b> 11.5
13	David Phillips South  Result: David Phillips South  Result:	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points) * University of NSW Tan,Jonathan J H Roucek,Michael J Tate,Benjamin D Loss on first innings (0 points) University of NSW Tan,Jonathan J H Kulkarni,Mayur Sharma,Abhishek	97 69 33 28 <b>233</b> 75 65 26 <b>277</b> 65 61 32	(81) (41) (52) (32) <b>47.1</b> (105) (76) (15) <b>67.5</b> (82) (75) (39)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J Serov,Paul Halikas,Steven  Penrith Lucas,Mark S Kulkarni,Mayur Rea,Michael	3/54 2/27 2/38 2/41 9/234 4/54 2/42 1/31 213 3/44 2/21 2/24	9 6 8.2 10 50 10 8 8 64.5 11.5 7
13	David Phillips South  Result: David Phillips South  Result: Rance Oval	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points) * University of NSW Tan,Jonathan J H Roucek,Michael J Tate,Benjamin D Loss on first innings (0 points) University of NSW Tan,Jonathan J H Kulkarni,Mayur Sharma,Abhishek Rea,Michael	97 69 33 28 233 75 65 26 277 65 61 32 24	(81) (41) (52) (32) <b>47.1</b> (105) (76) (15) <b>67.5</b> (82) (75) (39)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J Serov,Paul Halikas,Steven  Penrith Lucas,Mark S Kulkarni,Mayur	3/54 2/27 2/38 2/41 9/234 4/54 2/42 1/31 213 3/44 2/21	9 6 8.2 10 <b>50</b> 10 8 8 <b>64.5</b> 11.5
13	David Phillips South  Result: David Phillips South  Result: Rance Oval	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points) * University of NSW Tan,Jonathan J H Roucek,Michael J Tate,Benjamin D Loss on first innings (0 points) University of NSW Tan,Jonathan J H Kulkarni,Mayur Sharma,Abhishek Rea,Michael Won on first innings (6 points)	97 69 33 28 <b>233</b> 75 65 26 <b>277</b> 65 61 32 24	(81) (41) (52) (32) <b>47.1</b> (105) (76) (15) <b>67.5</b> (82) (75) (39) (33)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J Serov,Paul Halikas,Steven  Penrith Lucas,Mark S Kulkarni,Mayur Rea,Michael Halikas,Steven	3/54 2/27 2/38 2/41 9/234 4/54 2/42 1/31 213 3/44 2/21 2/24 2/26	9 6 8.2 10 50 10 8 8 64.5 11.5 7
13	David Phillips South  Result: David Phillips South  Result: Rance Oval	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points)  * University of NSW Tan,Jonathan J H Roucek,Michael J Tate,Benjamin D Loss on first innings (0 points)  University of NSW Tan,Jonathan J H Kulkarni,Mayur Sharma,Abhishek Rea,Michael Won on first innings (6 points)  * University of NSW	97 69 33 28 233 75 65 26 277 65 61 32 24	(81) (41) (52) (32) <b>47.1</b> (105) (76) (15) <b>67.5</b> (82) (75) (39) (33)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J Serov,Paul Halikas,Steven  Penrith Lucas,Mark S Kulkarni,Mayur Rea,Michael Halikas,Steven  Hawkesbury	3/54 2/27 2/38 2/41 9/234 4/54 2/42 1/31 213 3/44 2/21 2/24 2/26	9 6 8.2 10 50 10 8 8 64.5 11.5 7 7
13	David Phillips South  Result: David Phillips South  Result: Rance Oval  Result: Ron Routley	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points)  * University of NSW Tan,Jonathan J H Roucek,Michael J Tate,Benjamin D Loss on first innings (0 points)  University of NSW Tan,Jonathan J H Kulkarni,Mayur Sharma,Abhishek Rea,Michael Won on first innings (6 points)  * University of NSW Kalagara,Suresh K	97 69 33 28 233 75 65 26 277 65 61 32 24	(81) (41) (52) (32) <b>47.1</b> (105) (76) (15) <b>67.5</b> (82) (75) (39) (33) <b>46.2</b> (60)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J Serov,Paul Halikas,Steven  Penrith Lucas,Mark S Kulkarni,Mayur Rea,Michael Halikas,Steven  Hawkesbury Kulkarni,Mayur	3/54 2/27 2/38 2/41 9/234 4/54 2/42 1/31 213 3/44 2/21 2/24 2/26	9 6 8.2 10 50 10 8 8 64.5 11.5 7 7 13
13	David Phillips South  Result: David Phillips South  Result: Rance Oval  Result: Ron Routley	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points)  * University of NSW Tan,Jonathan J H Roucek,Michael J Tate,Benjamin D Loss on first innings (0 points)  University of NSW Tan,Jonathan J H Kulkarni,Mayur Sharma,Abhishek Rea,Michael Won on first innings (6 points)  * University of NSW	97 69 33 28 233 75 65 26 277 65 61 32 24	(81) (41) (52) (32) <b>47.1</b> (105) (76) (15) <b>67.5</b> (82) (75) (39) (33) <b>46.2</b> (60) (73)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J Serov,Paul Halikas,Steven  Penrith Lucas,Mark S Kulkarni,Mayur Rea,Michael Halikas,Steven  Hawkesbury Kulkarni,Mayur Halikas,Steven	3/54 2/27 2/38 2/41 9/234 4/54 2/42 1/31 213 3/44 2/21 2/24 2/26 150 3/20 3/32	9 6 8.2 10 50 10 8 8 64.5 11.5 7 7 13
13	David Phillips South  Result: David Phillips South  Result: Rance Oval  Result: Ron Routley	* University of NSW Roucek,Michael J Tate,Benjamin D Jones,Andrew C Afzal,Faisal Won on first innings (6 points) * University of NSW Tan,Jonathan J H Roucek,Michael J Tate,Benjamin D Loss on first innings (0 points) University of NSW Tan,Jonathan J H Kulkarni,Mayur Sharma,Abhishek Rea,Michael Won on first innings (6 points) * University of NSW Kalagara,Suresh K Jones,Andrew C	97 69 33 28 233 75 65 26 277 65 61 32 24 159 53 30 20	(81) (41) (52) (32) <b>47.1</b> (105) (76) (15) <b>67.5</b> (82) (75) (39) (33) <b>46.2</b> (60) (73)	Kalagara,Suresh K O'Brien,Christopher Crowl,Samuel J Halikas,Steven  Auburn Crowl,Samuel J Serov,Paul Halikas,Steven  Penrith Lucas,Mark S Kulkarni,Mayur Rea,Michael Halikas,Steven  Hawkesbury Kulkarni,Mayur	3/54 2/27 2/38 2/41 9/234 4/54 2/42 1/31 213 3/44 2/21 2/24 2/26	9 6 8.2 10 50 10 8 8 64.5 11.5 7 7 13

16	David Phillips	*	University of NSW	5/260	50	Randwick-Petersham 2	9/186	50
	North		Kalagara,Suresh K	116	(122)	Garland, Matthew	2/28	10
			Weerakkody, Nivan	87*	(115)	Halikas, Steven	2/33	10
	Result:	Wor	n on first innings + BP (7 pc	oints)				
17	David Phillips	*	South Sydney (Green)	8/172	50	University of NSW	3/174	22.4
	South		Serov,Paul	2/27	10	Kalagara,Suresh K	79	(65)
			Kalagara,Suresh K	2/29	10	Harris, Peter A	32*	(23)
			Garland, Matthew	1/26	10	Roucek, Michael J	30	(29)
	Result:	Wor	n on first innings + 2BP (8 p	oints)				
QF	David Phillips		University of NSW	375	148	UTS-Balmain (1)	4/76	28.4
	North		Tan, Jonathan J H	120*	(286)	Halikas, Steven	2/30	4.4
			Weerakkody, Nivan	85	(184)	Lucas,Mark S	1/14	10
			Tate,Benjamin D	41	(65)	Kalagara,Suresh K	1/16	9
			Kulkarni,Mayur	32	(112)			
	Result:	Dra	W					
SF	David Phillips		University of NSW	108	47.1	Penrith	206	71.1
	North		Kulkarni,Mayur	47	(78)	Kalagara,Suresh K	3/51	22
			(2nd Inns)	9/189 d.	31	Roucek,Michael J	2/18	9
			Weerakkody, Nivan	35	(31)	Tan,Jonathan J H	1/12	6
			Tan, Jonathan J H	34	(37)	(2nd Inns)	6/86	36
			Kalagara,Suresh K	31	(21)	Kalagara,Suresh K	5/26	11
			Roucek, Michael J	31	(26)	Garland, Matthew	1/20	7
	Result:	Loss	s on first innings					

## **BATTING**

## Metropolitan Cup 2005/2006

Overs Faced: 937.3
Runs Scored For: 4025
Wickets Lost: 137
Average / Wicket: 29.38
Balls / Wicket: 41.06
Runs / Over: 4.29

Highest Score For: 375 vs UTS-Balmain (1) (QF)

Lowest Score For: 108 vs Penrith (SF)

				` '													
Name	Mts	Inn	No	HS	Runs	Avg	50	100	S/R	<b>4s</b>	6s	Ct	Wk	St	RD	RI	Pts
Weerakkody,Nivan	10	11	3	124	566	70.75	4	1	71.11	45	-	8			1	-	782
Tan,Jonathan J H	10	10	2	120*	353	44.12	2	1	56.39	40	2	2			-	1	483
Roucek,Michael J	7	8	-	97	345	43.12	3	-	100.58	30	2	1			3	-	500
Kalagara,Suresh K	11	11	1	116	366	36.60	2	1	104.87	33	2	1			-	1	1119
Kaye,Martin R	5	5	-	54	143	28.60	1	-	69.42	15	-	-	5	2	-	1	383
O'Brien, Christopher	6	5	-	84	130	26.00	1	-	77.84	2	2	3			-	-	365
Kulkarni,Mayur	10	9	-	61	232	25.78	1	-	58.44	25	-	4			1	-	498
Sangster, Hugh	11	11	3	61	198	24.75	1	-	51.56	16	-	3			1	-	353
Kader,Nirjon	5	5	-	87	117	23.40	1	-	67.24	11	-	1			-	-	192
Jones, Andrew C	14	14	-	100	321	22.93	-	1	50.47	32	-	2			1	-	504
Tate,Benjamin D	14	15	-	88	332	22.13	2	-	87.83	30	6	2	6		-	-	533
Jaregui, Victor	5	5	1	29	60	15.00	-	-	27.52	5	-	2			-	-	140
Garland, Matthew	13	9	5	14*	40	10.00	-	-	36.70	3	-	1			1	-	945

	1															
Lucas,Mark S	9	8	6	9	19	9.50	-	-	30.16	1	-	-		-	-	330
Serov,Paul	10	8	1	20	56	8.00	-	-	29.02	3	-	1		-	-	471
Halikas,Steven	13	8	1	15	40	5.71	-	-	56.34	5	-	4		-	-	593
Also Batted:																
Hamer,Phillip G	1	1	-	38	38	38.00	-	-	108.57	2	1	-		-	1	78
Hansen,Liam J	3	2	1	20*	38	38.00	-	-	67.86	2	-	1		-	-	193
Sharma, Abhishek	1	1	-	32	32	32.00	-	-	82.05	6	-	-		-	-	42
Gerber, Simon B H	2	2	-	59	60	30.00	1	-	59.41	-	-	1		-	-	105
Afzal,Faisal	3	3	-	28	62	20.67	-	-	71.26	10	-	2		-	-	122
Das,Kushal	1	1	-	19	19	19.00	-	-	55.88	1	-	-		-	-	29
Rea,Michael	2	2	-	24	31	15.50	-	-	57.41	5	-	-		-	-	91
Wakim,Benjamin	3	3	1	17	26	13.00	-	-	32.91	-	-	-	4	-	-	176
Khurmi,Arjun	1	1	-	7	7	7.00	-	-	41.18	-	-	1		-	-	37
McKinnon, Lachlan	1	1	-	3	3	3.00	-	-	21.43	-	-	1		-	-	23
Crowl,Samuel J	4	3	-	5	8	2.67	-	-	40.00	1	-	-		1	-	248
Harris, Peter A	1	1	1	32*	32	-	-	-	139.13	-	-	2		-	-	82
Substitute												1				
Extras					360											

Difference -9

**Note**: N Weerakkody's 566 runs is a new 6th Grade club record.

## **BOWLING**

## Metropolitan Cup 2005/2006

Overs Bowled: 831.2
Runs Scored Against: 3087
Wickets Taken: 147
Average / Wicket: 21.00
Balls / Wicket: 33.93
Runs / Over: 3.71

Highest Score Against: 260 vs Randwick-Petersham (Grn) (Rd6)

Lowest Score Against: 44 vs Holroyd-Hills (Rd7)

Lowest Score riganist.	11 10 11	01109		(1ta)							
Name	О	M	W	R	Best	Avg	Econ	S/R	5wi	Wd	Nb
Kalagara,Suresh K	133	31	28	459	5/25	16.39	3.45	29.14	2	11	7
Garland, Matthew	129	18	24	456	6/19	19.00	3.53	32.96	2	17	-
Halikas,Steven	130.3	27	20	427	3/32	21.35	3.27	39.85	-	7	7
Crowl,Samuel J	36.2	3	7	169	4/54	24.14	4.65	31.43	-	2	-
Lucas,Mark S	91.5	14	12	294	3/24	24.50	3.20	46.75	-	8	2
Serov,Paul	85.4	17	12	295	5/39	24.58	3.44	43.17	1	3	1
Tan,Jonathan J H	44	4	6	162	3/49	27.00	3.68	45.50	-	9	-
O'Brien, Christopher	43	5	6	178	2/27	29.67	4.14	45.67	-	6	10
Roucek,Michael J	35	6	3	111	2/18	37.00	3.17	71.67	-	3	2
Also Bowled:											
Rea,Michael	7	1	2	24	2/24	12.00	3.43	21.00	-	-	-
Hansen,Liam J	21	2	5	81	3/42	16.20	3.86	27.80	-	6	7
Kulkarni,Mayur	28	2	7	130	3/20	18.57	4.64	24.00	-	-	-
Weerakkody,Nivan	7	-	1	37	1/15	37.00	5.29	43.00	-	1	-

Hamer,Phillip G	21	6	1	48	1/48	48.00	2.29	127.00	-	1	-
McKinnon, Lachlan	10	-	-	74	0/74	-	7.40	-	-	-	-
Sharma, Abhishek	7	-	-	37	0/37	-	5.29	-	-	-	1
Jones, Andrew C	1	-	-	16	0/16	-	16.00	-	-	-	-
Khurmi,Arjun	1	-	-	1	0/1	-	1.00	-	-	-	-
Absent			2								
Extras				86							
Difference				2							

## **PARTNERSHIPS**

Metropolitan Cup 2005/2006

1st7Holroyd-Hills1Kaye,Martin R54Jones,Andrew C101st15Hawkesbury1Kalagara,Suresh K53Jones,Andrew C301st16Randwick-Petersham (Gld)1Jones,Andrew C16Kalagara,Suresh K111st12Burwood1Afzal,Faisal28Jones,Andrew C331st3UTS-Balmain (2)1Kaye,Martin R23Gerber,Simon B H592nd16Randwick-Petersham (Gld)1Kalagara,Suresh K116Weerakkody,Nivan872nd7Holroyd-Hills1Kulkarni,Mayur25Jones,Andrew C102nd17South Sydney (Green)1Roucek,Michael J30Kalagara,Suresh K792ndQFUTS-Balmain (1)1Jones,Andrew C22Tate,Benjamin D882ndQFUTS-Balmain (1)1Jones,Andrew C25Weerakkody,Nivan853rd5North Sydney1Roucek,Michael J86Weerakkody,Nivan993rd6Randwick-Petersham (Grn)1Jaregui,Victor29Sangster,Hugh613rd17South Sydney (Green)1Kalagara,Suresh K79Harris, Peter A324th8South Sydney (Red)1Tate,Benjamin D88Sangster,Hugh404th5North Sydney1Sangster,Hugh23Weerakkody,Nivan99 </th <th>P/S</th>	P/S
1st16Randwick-Petersham (Gld)1Jones,Andrew C16Kalagara,Suresh K111st12Burwood1Afzal,Faisal28Jones,Andrew C331st3UTS-Balmain (2)1Kaye,Martin R23Gerber,Simon B H552nd16Randwick-Petersham (Gld)1Kalagara,Suresh K116Weerakkody,Nivan872nd7Holroyd-Hills1Kulkarni,Mayur25Jones,Andrew C102nd17South Sydney (Green)1Roucek,Michael J30Kalagara,Suresh K792nd8South Sydney (Red)1Jones,Andrew C22Tate,Benjamin D882ndQFUTS-Balmain (1)1Jones,Andrew C25Weerakkody,Nivan853rd5North Sydney1Roucek,Michael J86Weerakkody,Nivan993rd6Randwick-Petersham (Grn)1Jaregui,Victor29Sangster,Hugh613rd12Burwood1Tate,Benjamin D69Kulkarni,Mayur223rd17South Sydney (Green)1Kalagara,Suresh K79Harris, Peter A324th8South Sydney (Red)1Tate,Benjamin D88Sangster,Hugh404th5North Sydney1Sangster,Hugh23Weerakkody,Nivan995th14Penrith1Kulkarni,Mayur61Tan,Jonathan J H75 </td <td>102</td>	102
1st12Burwood1Afzal,Faisal28Jones,Andrew C331st3UTS-Balmain (2)1Kaye,Martin R23Gerber,Simon B H552nd16Randwick-Petersham (Gld)1Kalagara,Suresh K116Weerakkody,Nivan872nd7Holroyd-Hills1Kulkarni,Mayur25Jones,Andrew C102nd17South Sydney (Green)1Roucek,Michael J30Kalagara,Suresh K752nd8South Sydney (Red)1Jones,Andrew C22Tate,Benjamin D882ndQFUTS-Balmain (1)1Jones,Andrew C25Weerakkody,Nivan853rd5North Sydney1Roucek,Michael J86Weerakkody,Nivan993rd6Randwick-Petersham (Grn)1Jaregui,Victor29Sangster,Hugh613rd12Burwood1Tate,Benjamin D69Kulkarni,Mayur223rd17South Sydney (Green)1Kalagara,Suresh K79Harris, Peter A324th8South Sydney (Red)1Tate,Benjamin D88Sangster,Hugh404th5North Sydney1Sangster,Hugh23Weerakkody,Nivan995th14Penrith1Kulkarni,Mayur61Tan,Jonathan J H655th13Auburn1Roucek,Michael J65Tan,Jonathan J H756th <td>83</td>	83
1st3UTS-Balmain (2)1Kaye,Martin R23Gerber,Simon B H592nd16Randwick-Petersham (Gld)1Kalagara,Suresh K116Weerakkody,Nivan872nd7Holroyd-Hills1Kulkarni,Mayur25Jones,Andrew C102nd17South Sydney (Green)1Roucek,Michael J30Kalagara,Suresh K792nd8South Sydney (Red)1Jones,Andrew C22Tate,Benjamin D882ndQFUTS-Balmain (1)1Jones,Andrew C25Weerakkody,Nivan853rd5North Sydney1Roucek,Michael J86Weerakkody,Nivan993rd6Randwick-Petersham (Grn)1Jaregui,Victor29Sangster,Hugh613rd12Burwood1Tate,Benjamin D69Kulkarni,Mayur223rd17South Sydney (Green)1Kalagara,Suresh K79Harris, Peter A324th8South Sydney (Red)1Tate,Benjamin D88Sangster,Hugh404th5North Sydney1Sangster,Hugh23Weerakkody,Nivan995th14Penrith1Kulkarni,Mayur61Tan,Jonathan J H756th3UTS-Balmain (2)1Weerakkody,Nivan68O'Brien,Christopher846thQFUTS-Balmain (1)1Tate,Benjamin D41Tan,Jonathan J H12	80
2nd16Randwick-Petersham (Gld)1Kalagara,Suresh K116Weerakkody,Nivan872nd7Holroyd-Hills1Kulkarni,Mayur25Jones,Andrew C102nd17South Sydney (Green)1Roucek,Michael J30Kalagara,Suresh K792nd8South Sydney (Red)1Jones,Andrew C22Tate,Benjamin D882ndQFUTS-Balmain (1)1Jones,Andrew C25Weerakkody,Nivan853rd5North Sydney1Roucek,Michael J86Weerakkody,Nivan993rd6Randwick-Petersham (Grn)1Jaregui,Victor29Sangster,Hugh613rd12Burwood1Tate,Benjamin D69Kulkarni,Mayur223rd17South Sydney (Green)1Kalagara,Suresh K79Harris, Peter A324th8South Sydney (Red)1Tate,Benjamin D88Sangster,Hugh404th5North Sydney1Sangster,Hugh23Weerakkody,Nivan995th14Penrith1Kulkarni,Mayur61Tan,Jonathan J H755th13Auburn1Roucek,Michael J65Tan,Jonathan J H756thQFUTS-Balmain (1)1Tate,Benjamin D41Tan,Jonathan J H120	54
2nd7Holroyd-Hills1Kulkarni,Mayur25Jones,Andrew C102nd17South Sydney (Green)1Roucek,Michael J30Kalagara,Suresh K792nd8South Sydney (Red)1Jones,Andrew C22Tate,Benjamin D882ndQFUTS-Balmain (1)1Jones,Andrew C25Weerakkody,Nivan853rd5North Sydney1Roucek,Michael J86Weerakkody,Nivan993rd6Randwick-Petersham (Grn)1Jaregui,Victor29Sangster,Hugh613rd12Burwood1Tate,Benjamin D69Kulkarni,Mayur223rd17South Sydney (Green)1Kalagara,Suresh K79Harris, Peter A324th8South Sydney (Red)1Tate,Benjamin D88Sangster,Hugh404th5North Sydney1Sangster,Hugh23Weerakkody,Nivan995th14Penrith1Kulkarni,Mayur61Tan,Jonathan J H755th13Auburn1Roucek,Michael J65Tan,Jonathan J H756thQFUTS-Balmain (2)1Weerakkody,Nivan68O'Brien,Christopher846thQFUTS-Balmain (1)1Tate,Benjamin D41Tan,Jonathan J H120	54
2nd17South Sydney (Green)1Roucek, Michael J30Kalagara, Suresh K792nd8South Sydney (Red)1Jones, Andrew C22Tate, Benjamin D882ndQFUTS-Balmain (1)1Jones, Andrew C25Weerakkody, Nivan853rd5North Sydney1Roucek, Michael J86Weerakkody, Nivan993rd6Randwick-Petersham (Grn)1Jaregui, Victor29Sangster, Hugh613rd12Burwood1Tate, Benjamin D69Kulkarni, Mayur223rd17South Sydney (Green)1Kalagara, Suresh K79Harris, Peter A324th8South Sydney (Red)1Tate, Benjamin D88Sangster, Hugh404th5North Sydney1Sangster, Hugh23Weerakkody, Nivan995th14Penrith1Kulkarni, Mayur61Tan, Jonathan J H755th13Auburn1Roucek, Michael J65Tan, Jonathan J H756thQFUTS-Balmain (2)1Weerakkody, Nivan68O'Brien, Christopher846thQFUTS-Balmain (1)1Tate, Benjamin D41Tan, Jonathan J H120	106
2nd8South Sydney (Red)1Jones, Andrew C22Tate, Benjamin D882ndQFUTS-Balmain (1)1Jones, Andrew C25Weerakkody, Nivan853rd5North Sydney1Roucek, Michael J86Weerakkody, Nivan993rd6Randwick-Petersham (Grn)1Jaregui, Victor29Sangster, Hugh613rd12Burwood1Tate, Benjamin D69Kulkarni, Mayur223rd17South Sydney (Green)1Kalagara, Suresh K79Harris, Peter A324th8South Sydney (Red)1Tate, Benjamin D88Sangster, Hugh404th5North Sydney1Sangster, Hugh23Weerakkody, Nivan995th14Penrith1Kulkarni, Mayur61Tan, Jonathan J H755th13Auburn1Roucek, Michael J65Tan, Jonathan J H756th3UTS-Balmain (2)1Weerakkody, Nivan68O'Brien, Christopher846thQFUTS-Balmain (1)1Tate, Benjamin D41Tan, Jonathan J H120	82
2ndQFUTS-Balmain (1)1 Jones, Andrew C25 Weerakkody, Nivan853rd5 North Sydney1 Roucek, Michael J86 Weerakkody, Nivan993rd6 Randwick-Petersham (Grn)1 Jaregui, Victor29 Sangster, Hugh613rd12 Burwood1 Tate, Benjamin D69 Kulkarni, Mayur223rd17 South Sydney (Green)1 Kalagara, Suresh K79 Harris, Peter A324th8 South Sydney (Red)1 Tate, Benjamin D88 Sangster, Hugh404th5 North Sydney1 Sangster, Hugh23 Weerakkody, Nivan995th14 Penrith1 Kulkarni, Mayur61 Tan, Jonathan J H655th13 Auburn1 Roucek, Michael J65 Tan, Jonathan J H756th3 UTS-Balmain (2)1 Weerakkody, Nivan68 O'Brien, Christopher846thQFUTS-Balmain (1)1 Tate, Benjamin D41 Tan, Jonathan J H120	73
3rd5North Sydney1Roucek,Michael J86Weerakkody,Nivan993rd6Randwick-Petersham (Grn)1Jaregui,Victor29Sangster,Hugh613rd12Burwood1Tate,Benjamin D69Kulkarni,Mayur223rd17South Sydney (Green)1Kalagara,Suresh K79Harris, Peter A324th8South Sydney (Red)1Tate,Benjamin D88Sangster,Hugh404th5North Sydney1Sangster,Hugh23Weerakkody,Nivan995th14Penrith1Kulkarni,Mayur61Tan,Jonathan J H655th13Auburn1Roucek,Michael J65Tan,Jonathan J H756th3UTS-Balmain (2)1Weerakkody,Nivan68O'Brien,Christopher846thQFUTS-Balmain (1)1Tate,Benjamin D41Tan,Jonathan J H120	69
3rd6Randwick-Petersham (Grn)1Jaregui, Victor29Sangster, Hugh613rd12Burwood1Tate, Benjamin D69Kulkarni, Mayur223rd17South Sydney (Green)1Kalagara, Suresh K79Harris, Peter A324th8South Sydney (Red)1Tate, Benjamin D88Sangster, Hugh404th5North Sydney1Sangster, Hugh23Weerakkody, Nivan995th14Penrith1Kulkarni, Mayur61Tan, Jonathan J H655th13Auburn1Roucek, Michael J65Tan, Jonathan J H756th3UTS-Balmain (2)1Weerakkody, Nivan68O'Brien, Christopher846thQFUTS-Balmain (1)1Tate, Benjamin D41Tan, Jonathan J H120	66
3rd12Burwood1Tate,Benjamin D69Kulkarni,Mayur223rd17South Sydney (Green)1Kalagara,Suresh K79Harris, Peter A324th8South Sydney (Red)1Tate,Benjamin D88Sangster,Hugh404th5North Sydney1Sangster,Hugh23Weerakkody,Nivan995th14Penrith1Kulkarni,Mayur61Tan,Jonathan J H655th13Auburn1Roucek,Michael J65Tan,Jonathan J H756th3UTS-Balmain (2)1Weerakkody,Nivan68O'Brien,Christopher846thQFUTS-Balmain (1)1Tate,Benjamin D41Tan,Jonathan J H120	92
3rd17South Sydney (Green)1Kalagara, Suresh K79Harris, Peter A324th8South Sydney (Red)1Tate, Benjamin D88Sangster, Hugh404th5North Sydney1Sangster, Hugh23Weerakkody, Nivan995th14Penrith1Kulkarni, Mayur61Tan, Jonathan J H655th13Auburn1Roucek, Michael J65Tan, Jonathan J H756th3UTS-Balmain (2)1Weerakkody, Nivan68O'Brien, Christopher846thQFUTS-Balmain (1)1Tate, Benjamin D41Tan, Jonathan J H120	78
4th8South Sydney (Red)1Tate,Benjamin D88Sangster,Hugh404th5North Sydney1Sangster,Hugh23Weerakkody,Nivan995th14Penrith1Kulkarni,Mayur61Tan,Jonathan J H655th13Auburn1Roucek,Michael J65Tan,Jonathan J H756th3UTS-Balmain (2)1Weerakkody,Nivan68O'Brien,Christopher846thQFUTS-Balmain (1)1Tate,Benjamin D41Tan,Jonathan J H120	73
4th5North Sydney1Sangster, Hugh23Weerakkody, Nivan995th14Penrith1Kulkarni, Mayur61Tan, Jonathan J H655th13Auburn1Roucek, Michael J65Tan, Jonathan J H756th3UTS-Balmain (2)1Weerakkody, Nivan68O'Brien, Christopher846thQFUTS-Balmain (1)1Tate, Benjamin D41Tan, Jonathan J H120	65
5th14Penrith1Kulkarni,Mayur61Tan,Jonathan J H655th13Auburn1Roucek,Michael J65Tan,Jonathan J H756th3UTS-Balmain (2)1Weerakkody,Nivan68O'Brien,Christopher846thQFUTS-Balmain (1)1Tate,Benjamin D41Tan,Jonathan J H120	96
5th13Auburn1Roucek,Michael J65Tan,Jonathan J H756th3UTS-Balmain (2)1Weerakkody,Nivan68O'Brien,Christopher846thQFUTS-Balmain (1)1Tate,Benjamin D41Tan,Jonathan J H120	59
6th 3 UTS-Balmain (2) 1 Weerakkody,Nivan 68 O'Brien,Christopher 84 6th QF UTS-Balmain (1) 1 Tate,Benjamin D 41 Tan,Jonathan J H 120	101
6th QF UTS-Balmain (1) 1 Tate,Benjamin D 41 Tan,Jonathan J H 120	97
	93
6th 6 Randwick-Petersham (Grn) 1 Das, Kushal 19 Tan, Jonathan J H 42	67
	52
7th 3 UTS-Balmain (2) 1 O'Brien, Christopher 84 Hansen, Liam J 20	64
8th 10 UTS-Balmain (1) 1 Kalagara, Suresh K 44 Weerakkody, Nivan 12	77
8th 12 Burwood 1 Kalagara, Suresh K 11 Roucek, Michael J 97	53
9th 2 Gordon Colts 1 Kader, Nirjon 87 O'Brien, Christopher 32	74
10th QF UTS-Balmain (1) 1 Lucas, Mark S 9 Tan, Jonathan J H 120	38

Partnership Averages

Wkt	Imms	NO		A
WKt	Inns	NU	Runs	Avg
1st	18	1	610	35.88
2nd	17	-	647	38.06
3rd	17	-	514	30.24
4th	17	1	480	30.00
5th	15	1	490	35.00
6th	14	2	414	34.50
7th	12	-	301	25.08
8th	12	-	259	21.58
9th	12	1	214	19.45
10th	11	2	96	10.67
		_		

## POIDEVIN GRAY SHIELD REPORT

The success of the 2005/2006 University of New South Wales Poidevan Gray shield team was a long time overdue. Past seasons often portrayed a series of poor results that were often not reflective of the talent that individuals or the team taking the field possessed. These poor results of past seasons also did not illustrate the time and effort put into the side by managers, selectors and captains of the respective PG's sides. In relation to this point, I would like to commend **Darren Sue** on his tireless efforts for not only this season but for the past three that I have been involved in. His confronting approach to selections and his professionalism toward the management of the team are strongly appreciated. Similarly, the 2005/2006 season saw a fresh face in the management of the PG side. **Oliver Higgins**, who was highly successful in managing a competitive Green Shield team the year before was instrumental in the managerial aspects of the PG side this year, through the week and at competition fixtures. His superstitious beliefs about having a few 'relaxing ones' the night before the game provided an enlightening experience for some of the younger players.

The role of Suey and Oli was made a lot easier than past seasons by the dynamics, unity of the team and the talent of all the individuals available for selection. The establishment of a core group of senior players that had previous PG experience and who had played in some of the higher grades, granted selectors with the luxury of basing the side around these individuals. However, what must be learnt in respect to PG's is that it is the younger, less experienced and lower grader that wins your side crucial games. This was continuously exemplified throughout the 05/06 season.



### Poidevin-Gray Shield Semi-Final Team v Penrith at Village Green

Back Row: Oliver Higgins (Co-Manager), Timm Van Der Gugten, Glen Dobbie, Richard Nikolovski, Alex Stuart, Mitchell Sykes, Sam Crichton, Sam Crowl, Darren Sue (Co-Manager).

Front Row: Sam Robson, David Ross, Tom Cooper, James Day (Captain), Mitchell Gowland, Joshua Webb, Stuart McKay.

To reflect upon the success of the 2005/ 2006 season, individuals must be praised for their personal achievement and their inclusion in this side:

**Sam Robson.** Sammy was one of the younger members of the side and a member of the previous year's competitive Green Shield team. At such a young age he was by far the standout and most impressive player for the 05/06 PG season. Picked in the NSW U17 side and making his debut in the UNSW 1st grade side was a true testament to the ability and the potential of his cricketing career. Sammy opened the batting and was a key figure in the stability of the top order. However, his legspin undoubtedly won a few very tight matches for the UNSW side. Particular performances that

illustrate this point are the 6/28 against Penrith in the semi final, the 3/37 against Easts and the 2/13 off 10 against Blacktown. I wish him all the best for what looks like a very bright and successful future.

**Josh Webb.** The young Lancashire opening bat couldn't resist the temptation upon returning to the country that offers blue skies, better cricket and the love of his life. For the majority of the year, Webby opened and was quite successful in turning over the strike and allowing the side to get off to a good start. His 39 off 54 balls against North Sydney was a significant highlight of his season, as his trademark cover drive tore the heart out of the opening bowlers.

**Tom Cooper.** A very accomplished player who has represented NSW U17, NSW U19, NSW Colts, NSW Country (all ages), Australia U19's, UNSW 1st Grade and a NSW Rookie contract was inspirational in his conduct and performances on and off the field. His extremely aggressive and dominant batting style is portrayed in the statistics against North Sydney (70 off 62 balls) and a quick fire 70 against Mosman. These figures still prove a lack of justice to the way 'Coops' plays the game and the awe inspiring talent he possesses. His cheeky off- spin was also very valuable as it was in the 1st Grade limited overs competition. I wish him all the very best for his cricket future and I am sure that his accomplishments will be rewarded with a first class debut in the not to distant future.

**Mitchell Sykes.** 'Psycho', a young Warren Smith prodigy from Wagga showed some outstanding all-round talent. Predominately perceived as a left arm orthodox spinner who has gained Australian U17 honours, Psycho illustrated his potential with the bat. Also making his 1st Grade debut earlier in the year against Fairfield, (with the likes of Bollinger, Lambert and Nash) his batting at 5 proved vital in the PG's side. His exceptional fielding, his determined 50 in the final against Hawkesbury and his four wicket hall against North Sydney, illustrates that here is another valuable prospect for the club and potential representative player in later years.

**Stuart McKay**. The current bar turn winner and legend on and off the field had a very memorable and successful PG season. 'Stuey Mac' started the season batting at 6. His ability to turn the strike over, run impossible singles and two's and destroy any loose ball that came to him, earned him the right to open the batting. A well paid off move was illustrated in his destruction of North Sydney scoring a fantastic 92. This game also portrayed his incredible one day bowling talent as he finished the day with figures of 4/4. One of the best fielders in the club, this bloke has the potential to play a lot of 1st Grade and possibly representative cricket.

**Richard Nikolovski.** A genuine leader, Niko was a significant component in integrating the younger players with the senior ones. His exceptional keeping skills currently see him only a small step away from first grade, coupled with some fantastic knocks that define him as an all-round player. Niko was instrumental in some close wins, with some extraordinary catches, stumpings and valuable runs. Again, another individual who is destined to play 1st Grade cricket and perhaps attain higher honours.

**Robert Dooley.** The infamous barr-turn holder of 2004/2005 capped an exciting PG career off with another superb season. Although 'Hooley' missed a few games due to Uni commitments the games he played were invaluable. An opening bowler who ranks in the top 10 of all time wicket takers for PG's again proved his talent. Taking some key wickets against Mosman and Hawksbury in the Final were just some examples of the exceptional work he did on the field.

**Glen Dobbie.** Another state representative, 'Dobs' proved to be a key figure in the success of the PG's side. Also making his debut in 1st Grade the year before and traveling to India with the 1st Grade squad, Dobs' experience and talent with the new ball immediately put the opposition on the back foot. His consistent enthusiasm on the field coupled with his very humble nature is highly commended. Another very talented cricketer who has established himself in the UNSW top grades.

**Sam Crowl.** Another extremely young and talented cricketer whose outstanding fielding ability could not be ignored throughout the season. People often use the quote 'catches win matches', in the case of

Sammy Crowl this was done on numerous occasions. Taking some fantastic catches and saving at least fifteen to twenty runs a game through sheer fielding brilliance steered the side to some very close wins.

**Mitchell Gowland.** Mitch displayed some serious potential and ability in the few knocks he had with the PG's side. Batting at 3 and 6 his capacity to be able to take the pressure off his partner at the other end was exceptional. Another aggressive batsman in which runs came with ease through some fantastic stroke play was significant to this season's success. Mitch also is a gifted fieldsman, taking some extraordinary catches in the slip and gully region.



Jimmy Day leads the team of the field after they had successfully defended a small total in the semi-final. Jimmy's leadership was a revelation and a crucial element to the success of the PG's team this season.

A potential  $1^{st}$  grade captain of the future ...

Tim Van Der Gugten. One of the most talented fourteen year olds to don the bumblebee had an incredible 2005/2006 PG season. Timmy displayed maturity and talent far above his age. At no stage did he look out of depth and in the majority of cases dominated players 6 years his senior with the new ball. However, Timmy's ability with the bat is outstanding. Not really getting an opportunity to shine with the bat this year, future years look very exciting and promising for this young player. Timmy is a fantastic and very mature individual who has some serious potential to play representative cricket. My complete congratulations to him for a successful year by being picked and doing well in the NSW U15's, being included in the U17's squad for 06/07 and being UNSW rookie of the year.

Sammy Crichton. Another exciting young player and prospect for bigger things in future years. Sammy is a hard hitting middle order batsman that can turn the game around in a matter of a few overs. This was evident against North Sydney in which he scored a quick fire 20 off 11 balls. His talent with the bat is coupled with a unique, quick, slinging bowling action. Often perceived as the guy who bowls 'rockets' at training by 1st Graders also possesses talent far beyond his age.

**David Ross, Alex Stuart Phil Hamer.** The success of this season would not have occurred without the skills and qualities portrayed by these three individuals. 'Rossy' took some vital wickets against North Sydney and Blacktown, 'Stuey' scored some extremely valuable runs under extreme pressure also against Blacktown and took some superb catches in close. Phil Hamer's commitment in the field and

efforts with the bat are highly commended. I would like to thank these three individuals for their effort and skill portrayed in each of the games they played.

The future of the PG's side looks very promising. The return of over half the team illustrates the outstanding performances of each of these individuals throughout this season. Thankyou to all the people who supported us throughout the season and I wish each and every one of the players in this side the very best in their bright cricketing futures and want to say that it was an absolute honour to captain and lead such a talented and great group of individuals out on the field. I will never forget some of the courageous wins we had when our backs were to the wall nor will I forget the exceptional talent that each of you possess. I wish all of you the very best of luck and fortune in your future cricketing careers.

JAMES DAY

### **MATCH SUMMARIES**

### Poidevin-Gray Shield 2005/2006

Rd	Venue	LO	Inns of:	Score	Ov	Inns of:	Score	Ov		
G1 V	Village Green	* ]	Eastern Suburbs	139	39.4	University of NSW	4/142	39.5		
		]	Day,James R F	3/14	7.4	Cooper,Tom L W	44	(33)		
		]	Robson,Samuel D	3/37	8	Robson,Samuel D	34	(112		
		]	Dobbie,Glen W	2/25	8	Day, James R F	27	(40)		
F	Result:	Woı	n on first innings + BP (7	points)						
G2 C	Caringbah Oval	* (	Sutherland			University of NSW				
F	Result:	No Result (0 points) - Washout								
G3 \	Village Green	*	University of NSW	142	45.5	Blacktown	100	43.		
		]	Day,James R F	48	(82)	McKay,Stuart W	4/16	7.1		
		]	Nikolovski,Richard	33	(60)	Robson,Samuel D	2/13	10		
		]	McKay,Stuart W	20	(33)	Dobbie,Glen W	2/18	5		
F	Result:	Woı	n on first innings + BP (7	points)						
G4 N	North Sydney 2	*	University of NSW	5/311	50	North Sydney	121	31.		
		]	McKay,Stuart W	92	(106)	McKay,Stuart W	4/4	4.4		
		(	Cooper,Tom L W	70	(63)	Sykes,Mitchell C	4/42	7		
		9	Sykes,Mitchell C	45	(29)	Dobbie,Glen W	1/12	7		
		1	Webb,Joshua	39	(57)					
F	Result:	Woı	n on first innings + 2BP (	(8 points)	)					
G5 (	Owen Earle	*	University of NSW	9/195	50	Hawkesbury	5/197	47.		
(	Oval		Day,James R F	75*	(80)	Robson,Samuel D	3/45	10		
		]	McKay,Stuart W	47	(99)	Dobbie,Glen W	1/15	5		
						McKay,Stuart W	1/26	9		
F	Result:	Loss	s on first innings (0 poin	its)						
G6 <b>\</b>	Village Green	*	University of NSW	197	46.3	Parramatta	102	33.		
		]	Day,James R F	47	(51)	Day, James R F	3/22	9.5		
		]	McKay,Stuart W	33	(42)	Sykes,Mitchell C	3/33	8		
		1	Webb,Joshua	31	(30)	Van Der Gugten, Timm	2/9	5		
		]	Robson,Samuel D	30	(47)	Robson,Samuel D	2/24	8		
F	Result:	Woı	n on first innings + BP (7	points)						
G7 <b>\</b>	Village Green	* ]	Mosman	127	37.5	University of NSW	2/128	23.		
	-	]	Robson,Samuel D	4/20	10	Cooper,Tom L W	74*	(67		
			Dooley,Robert A	2/15	6	McKay,Stuart W	30	(56		
			Van Der Gugten, Timm	2/24	5	Day, James R F	17*	(11		
	Result:		n on first Innings + 2BP			J		` '		

### Scorecard - Poidevin-Gray Shield Semi Final

University of NSW vs Penrith

Played at The Village Green, 5th March, 2006

Umpires:F.Brooks & G.Finemore, Toss Won By University of NSW

(*captain,+wicket keeper)		1st Innings of University of NSW					
<u>Batsman</u>	How Out	<u>Bowler</u>	Runs	<b>Mins</b>	<b>Balls</b>	<u>4's</u>	<u>6's</u>
SW McKay	c.Sutton	Marr	15	40	24	1	-
J Webb	b.	Lalor	7	15	16	-	-
TLW Cooper	c.Sutton	Marr	19	32	16	4	-
JRF Day*	b.	Marr	59	122	75	7	-
MC Sykes	c.	Beadle	25	62	49	4	-
M Gowland	b.	Beadle	23	21	27	4	-
SD Robson	c.	Sutton	16	38	36	1	-
R Nikolovski+	Run Out	(Beadle)	11	22	18	-	-
SL Crichton	Not Out		1	22	13	-	-
T Van Der Gugten	b.	Lalor	1	4	7	-	-
GW Dobbie	Run Out	(Sutton)	2	2	2	-	-
Extras	(2lb,2w,2nb)	_	6	_			
Overs/Min	46.5/195	Total	185	_			

12th man-SJ Crowl, Sub:DW Ross

FOW: 15 (Webb), 41 (McKay), 45 (Cooper), 113 (Sykes), 141 (Gowland), 166 (Day), 173 (Robson), 182 (Nikolovski), 183 (Van Der Gugten), 185 (Dobbie)

<u>Bowler</u>	<u>Overs</u>	<u>Mdns</u>	Wkts	Runs	Wds	<u>Nbs</u>
A Marr	10	-	3	37	-	-
J Lalor	8.5	1	3	30	1	2
S Finemore	3	-	0	20	-	-
T Sutton	7	1	1	30	1	-
AC Beadle	8	1	2	20	-	-
T McKay	10	1	0	46	-	-

•	<u>1s</u>	t Innings of Penrith					
<u>Batsman</u>	How Out	<u>Bowler</u>	Runs	<u>Mins</u>	<b>Balls</b>	<u>4's</u>	<u>6's</u>
S Rhodes	lbw	Dobbie	7	26	-	1	-
B Russell	c.Robson	McKay	26	63	-	3	-
P Betros	c.& b.	Robson	34	90	-	4	-
AC Beadle	lbw	Robson	15	41	-	2	-
T Sutton	c.& b.	Robson	3	20	-	-	-
N Hodges	b.	Robson	12	13	-	1	-
J Laylor	c.Nikolovski	Robson	7	22	-	1	-
S Finemore	Not Out		28	60	-	1	-
T McKay	st.Nikolovski	Robson	4	12	-	-	-
A Marr	Not Out		32	30	-	1	1
	dnb			_			
Extras	(7lb,3nb)		10	_			
Overs/Min	50/192	Totals	8/178				

FOW:20(Rhodes),55(Russell),83(Beadle),90(Betros),99(Sutton),104(Hodges),117(Laylor), 129(McKay)

<u>Bowler</u>	<u>Overs</u>	<u>Mdns</u>	Wkts	Runs	Wds	<u>Nbs</u>
GW Dobbie	7	-	1	22	-	-
JRF Day	7	1	0	33	-	2
T Van Der Gugten	6	1	0	15	-	1
TLW Cooper	2	-	0	13	-	-
SW McKay	10	2	1	26	-	-
SD Robson	10	1	6	28	-	-
MC Sykes	8	-	0	34	-	-

University of NSW Won on 1st Innings by 7 runs

### Scorecard - Poidevin-Gray Shield Final

University of NSW vs Hawkesbury

Played at Owen Earle Oval, Richmond, 12th March, 2006

Umpires:TJ Keel & GJ Lill, Toss Won By Hawkesbury

(*captain,+wicket keeper)	<u>1st</u>	Innings of Hawkesbury					
<u>Batsman</u>	How Out	<b>Bowler</b>	<u>Runs</u>	<b>Mins</b>	<b>Balls</b>	<u>4's</u>	<u>6's</u>
D Lindsay+	lbw	Dobbie	8	13	9	-	-
L Eldridge	b.	Van Der Gugten	14	35	19	1	-
PJ Forrest	lbw	Day	106	181	141	5	1
JW Hastings	c.Day	Dooley	9	43	37	1	-
SNJ O'Keefe*	st.Nikolovski	Robson	41	85	60	1	1
J Henry	c.Webb	Robson	10	16	16	-	-
SM Mott	Not Out		28	25	18	1	-
E Brown	c.Sykes	Dobbie	4	7	4	-	-
G Clark	dnb						
J Swain	dnb						
C Hopper	dnb	_					
Extras	(3lb,1w,4nb)		8				
Overs/Min	50/204	Total	7/228				
12th man-		_		•			

FOW:13(Lindsay),35(Eldridge),62(Hastings),155(O'Keefe),181(Henry),209(Forrest),228(Brown)

<u>Bowler</u>	<u>Overs</u>	Mdns	Wkts	Runs	Wds	<u>Nbs</u>
GW Dobbie	10	2	2	42	1	3
JRF Day	4	-	1	26	-	-
T Van Der Gugten	8	1	1	28	-	1
RA Dooley	6	-	1	19	-	-
SW McKay	7	-	0	26	-	-
MC Sykes	5	-	0	25	-	-
SD Robson	8	1	2	47	-	-
TLW Cooper	2	-	0	12	-	-

1st Innings of University of NSW

How Out	Bowler	Runs	<b>Mins</b>	<b>Balls</b>	<u>4's</u>	<u>6's</u>
c.Lindsay	Hastings	8	14	13	1	-
b.	Mott	1	11	8	-	-
lbw	O'Keefe	37	56	40	7	-
lbw	Hastings	6	10	14	-	-
b.	Hastings	52	123	90	2	-
lbw	Henry	2	18	16	-	-
Run Out	(Hopper)	16	32	49	-	-
c.Brown	Eldridge	6	21	19	-	-
b.	Hastings	0	4	1	-	-
Not Out		7	11	5	1	-
Run Out	(Mott)	6	8	10	1	-
(1b,1lb)		2				
44.1/158	Totals	143	<del>_</del>			
	How Out c.Lindsay b. lbw lbw b. lbw Run Out c.Brown b. Not Out Run Out (1b,1lb)	How Out c.Lindsay b. Mott lbw O'Keefe lbw Hastings b. Hastings b. Hastings lbw Henry Run Out (Hopper) c.Brown Eldridge b. Hastings Not Out Run Out (Mott) (1b,1lb)	c.Lindsay       Hastings       8         b.       Mott       1         lbw       O'Keefe       37         lbw       Hastings       6         b.       Hastings       52         lbw       Henry       2         Run Out       (Hopper)       16         c.Brown       Eldridge       6         b.       Hastings       0         Not Out       7         Run Out       (Mott)       6         (1b,1lb)       2	How Out         Bowler         Runs         Mins           c.Lindsay         Hastings         8         14           b.         Mott         1         11           lbw         O'Keefe         37         56           lbw         Hastings         6         10           b.         Hastings         52         123           lbw         Henry         2         18           Run Out         (Hopper)         16         32           c.Brown         Eldridge         6         21           b.         Hastings         0         4           Not Out         7         11           Run Out         (Mott)         6         8           (1b,1lb)         2	How Out         Bowler         Runs         Mins         Balls           c.Lindsay         Hastings         8         14         13           b.         Mott         1         11         8           lbw         O'Keefe         37         56         40           lbw         Hastings         6         10         14           b.         Hastings         52         123         90           lbw         Henry         2         18         16           Run Out         (Hopper)         16         32         49           c.Brown         Eldridge         6         21         19           b.         Hastings         0         4         1           Not Out         7         11         5           Run Out         (Mott)         6         8         10           (1b,1lb)         2         10         10	How Out         Bowler         Runs         Mins         Balls         4's           c.Lindsay         Hastings         8         14         13         1           b.         Mott         1         11         8         -           lbw         O'Keefe         37         56         40         7           lbw         Hastings         6         10         14         -           b.         Hastings         52         123         90         2           lbw         Henry         2         18         16         -           Run Out         (Hopper)         16         32         49         -           c.Brown         Eldridge         6         21         19         -           b.         Hastings         0         4         1         -           Not Out         7         11         5         1           Run Out         (Mott)         6         8         10         1           (1b,1lb)         2         1         1         1

12th man-SJ Crowl, Sub:SL Crichton

FOW: 5 (Robson), 9 (McKay), 15 (Day), 67 (Cooper), 78 (Gowland), 114 (Nikolovski), 128 (Webb), 130 (Dooley), 131 (Sykes), 143 (Dobbie), 128 (Webb), 130 (Dooley), 131 (Sykes), 143 (Dobbie), 143 (Dobbie),

<u>Bowler</u>	Overs	<u>Mdns</u>	Wkts	Runs	Wds	Nbs
SM Mott	7	2	1	23	-	-
JW Hastings	10	2	4	40	-	-
C Hopper	2	-	0	15	-	-
SNJ O'Keefe*	10	2	1	20	-	-
J Henry	10	1	1	27	-	-
L Eldridge	5.1	1	1	16	-	-

Hawkesbury Won on 1st Innings by 85 runs

Shane Lee Medal awarded to PJ Forrest - Hawkesbury

## THE GUYS IN ACTION AT THE POIDEVON-GRAY SHIELD FINAL



 $Photos\ by\ Matt\ Garland-official\ PG's\ team\ photographer.$ 

Robbie Dooley

Season 2005/2006 Annual Report

Tom Cooper

Timm Van Der Gugten

### **BATTING**

Overs Faced: 347
Runs Scored For: 1443
Wickets Lost: 60
Average / Wicket: 24.05
Balls / Wicket: 34.70
Runs / Over: 4.16

Highest Score For: 5/311 vs North Sydney (PG4)

Lowest Score For: 142 vs Blacktown (PG3)

Name	Mts	Inn	No	HS	Runs	Avg	50	100	S/R	<b>4s</b>	6s	Ct	Wk	St 1	RD	RI	Pts^
Cooper,Tom L W	6	6	1	74*	263	52.60	2	-	110.50	42	4	1			-	-	393
Day, James R F	8	8	2	75*	299	49.83	2	-	78.89	23	5	5			-	-	719
McKay,Stuart W	8	8	1	92	263	37.57	1	-	66.75	27	1	1			-	1	698
Sykes,Mitchell C	8	7	1	52	150	25.00	1	-	71.09	11	3	5			1	-	590
Robson,Samuel D	7	6	-	34	113	18.83	-	-	38.97	8	-	7			-	-	1018
Nikolovski,Richard	8	6	1	33	82	16.40	-	-	52.23	5	-	-	7	7	-	-	472
Gowland, Mitchell	4	3	-	23	45	15.00	-	-	65.22	7	-	2			-	-	115
Webb,Joshua	7	7	-	39	93	13.29	-	-	57.76	6	-	3			-	-	203
Crichton,Samuel L	7	5	2	21*	28	9.33	-	-	49.12	1	1	2			-	-	128
Van Der Gugten, Timm	6	4	1	11	19	6.33	-	-	41.30	1	-	4			-	-	239
Dobbie,Glen W	6	4	1	6	13	4.33	-	-	46.43	1	-	-			-	-	233
Also Batted:																	
Dooley,Robert A	4	2	1	14*	14	14.00	-	-	70.00	2	-	1			-	-	124
Stuart, Alexander I	3	2	-	14	14	7.00	-	-	77.78	1	-	2			-	1	84
Crowl,Samuel J	3	2	-	3	3	1.50	-	-	18.75	-	-	2			-	-	93
Hamer,Phillip G	1	1	-	0	0	0.00	-	-	-	-	-	-			-	-	10
Ross, David W	2	1	1	8*	8	-	-	-	88.89	1	-	1			-	-	68
Extras					36												

Note: R Nikolovski's 14 dismissals is a new Poidevin-Gray wicket keeping club record.

## **BOWLING**

## Poidevin-Gray Shield 2005/2006

Overs Bowled: 333.5
Runs Scored Against: 1192
Wickets Taken: 70
Average / Wicket: 17.03
Balls / Wicket: 28.61
Runs / Over: 3.57

Highest Score Against: 7/228 vs Hawkesbury (F)
Lowest Score Against: 100 vs Blacktown (PG3)

Name	О	M	W	R	Best	Avg	Econ	S/R	5wi	Wd	Nb
Robson,Samuel D	64	14	22	214	6/28	9.73	3.34	17.50	1	1	-
McKay,Stuart W	46.4	7	11	133	4/4	12.09	2.85	25.55	-	-	1

<sup>^</sup> Poidevin-Gray Shield points do not contribute to overall Club Player of the Year Points.

	1										
Dobbie,Glen W	42	6	9	134	2/18	14.89	3.19	28.67	-	3	3
Van Der Gugten, Timm	34	4	5	97	2/9	19.40	2.85	42.20	-	3	4
Day, James R F	40.1	4	8	157	3/14	19.62	3.91	30.63	-	-	4
Sykes, Mitchell C	56	7	8	223	4/42	27.88	3.98	42.00	-	-	
Also Bowled:											
Ross,David W	7	-	1	22	1/14	22.00	3.14	42.00	-	-	-
Dooley,Robert A	20	1	3	69	2/15	23.00	3.45	40.33	-	1	-
Cooper,Tom L W	17	1	1	78	1/11	78.00	4.59	102.00	-	-	-
Crichton, Samuel L	7	-	-	24	0/5	-	3.43	-	-	1	1
Extras				36							
Difference				5							

## **PARTNERSHIPS**

## Poidevin-Gray Shield

2005/2006

Wkt	Rd	Opponent	In Bat 1		Sc	Bat 2	Sc	P/S
1st	PG4	North Sydney	1 We	ebb,Joshua	39	McKay,Stuart W	92	95
1st	PG6	Parramatta	1 Mc	Kay,Stuart W	33	Webb,Joshua	31	65
2nd	PG4	North Sydney	1 Mc	Kay,Stuart W	92	Cooper,Tom L W	70	106
2nd	PG7	Mosman	1 Mc	Kay,Stuart W	30	Cooper,Tom L W	74*	77
3rd	PG3	Blacktown	1 Ni	kolovski,Richard	33	Day, James R F	48	71
3rd	PG5	Hawkesbury	1 Mc	Kay,Stuart W	47	Day, James R F	75*	50
4th	SF	Penrith	1 Syl	kes,Mitchell C	25	Day, James R F	59	70
4th	F	Hawkesbury	1 Co	oper,Tom L W	37	Sykes, Mitchell C	52	52
4th	PG4	North Sydney	1 Da	y,James R F	20	Sykes,Mitchell C	45	52
5th	PG1	Eastern Suburbs	1 Mc	Kay,Stuart W	18*	Sykes, Mitchell C	15*	31*
6th	F	Hawkesbury	1 Ni	kolovski,Richard	16	Sykes, Mitchell C	52	36
7th	PG6	Parramatta	1 Cr	ichton,Samuel L	5	Robson,Samuel D	30	20
8th	PG5	Hawkesbury	1 We	ebb,Joshua	5	Day, James R F	75*	18
9th	PG6	Parramatta	1 Va	n Der Gugten,Timm	11	Dooley,Robert A	14*	23
10th	PG5	Hawkesbury	1 Dobbie,Glen W		5*	Day,James R F	75*	17*

## Partnership Averages

	1 -	Ŭ		
Wkt	Inns	NO	Runs	Avg
1st	8	-	269	33.62
2nd	8	-	294	36.75
3rd	8	1	274	39.14
4th	7	-	208	29.71
5th	7	1	126	21.00
6th	6	1	120	24.00
7th	5	-	43	8.60
8th	5	-	39	7.80
9th	5	-	37	7.40
10th	5	1	33	8.25

## **A.W.GREEN SHIELD REPORT**

The season had not even started when the team hit its first hurdle with coach **Rob Bennett** being summoned to Los Angeles for three months by Qantas just after selecting the talented the team. As luck would have it, **Aminul Islam** (Bully) was available to step into the breach and so commenced molding the players for a challenging series.

The first match against Sutherland at Caringbah saw UNSW dismiss the opposition for an attainable 204 with **Matthias Treuberg** the best of the bowlers taking 4/28. The bowlers and fielders could have shown more aggression to keep the score even lower, although **Timm Van Der Gugten** did manage to bring a player down ... pity it was our own **Murray Crowe** with a blistering return that bounced badly. Several UNSW batsmen got a start but none were able to capitalise and get a big score and fell short by a couple of dozen runs.

The second match vs Mosman at the VG was a happier day with UNSW once again in the field to start the match. **Timm** and **Matthias** each took a pair to set a target of 188. Uni passed the total comfortably in the end with major contributions from the young brigade of **Charlie Wakim** (52) and **Angus Robson**(42) (the youngest of the cricketing dynasty). The team was now back on track in the middle of the table with another match the next day at Parramatta, the last before the Christmas break.

**Julian Mark** got the call right and Uni got the chance to bat first. A steady start and at lunch on a hot day in the west we were 1/127. The break must not have suited **Julian** (68) and **Nick Bannehr** (44) as they were dismissed in the first two overs after the restart. A total of 6/217 was disappointing considering the great start and the feeling was it might not be enough. **Matthias** could not open the bowling after scoring 37 runs in the heat so Parramatta got off to a flyer and it looked like an early finish with their openers blazing away. Uni managed to slow the rate down and make life hard for the batsmen. With 25 overs left Parramatta needed 45 runs with 8 wickets in hand. Inspirational spin bowling from **Angus** (2/23 off 9 overs) and **Murray Crowe** (1/26 off 12) saw the match change dramatically. In the end it came to down to 1 ball, 1 run and 1 wicket. Unfortunately we could not stop the run and after a long day in the sun, Christmas would be spent ruing what might have been.

A new year and hopefully some better results. At home against neighbours Easts saw the VG too damp to start on time so the match was shortened. Easts got first use and Uni knew they had to take wickets early. An early dropped chance of Easts captain before he scored gave them the opportunity to post a challenging 8/231 with Eriq Parsons (2/21) finally getting his chance after a pre Christmas bout of mumps caused him to be a spectator for the earlier games. Timm (2/22) bowled the most ferocious spell we were to see all season and was unlucky not to have many more wickets on the day. Apparently bowling just short of a driving length can be considered intimidatory if the batsman ducks. Uni got off to a very slow start and before long lost wickets as well to make the chase virtually impossible. Julian contributed 50 before we faced getting 140 odd off 25 overs with only 5 wickets in hand. Chris O'Brien (44 off 34) tried to bring off an unlikely win but it was not to be and Uni fell 76 short in the end.

It would now be tough to make the semis but with Blacktown our next opponents and their performances so far we were hopeful the team could get back on course. Unfortunately the VG was unplayable on the day and without a deck of cards to keep them busy it was a full time job keeping the boys entertained through hours of waiting for the final decision to call it off. **Warren Smith** used the opportunity to get in some great fielding drills with the team.

Game 6 had Uni away to North Sydney at Tunks. After getting the call right Uni started slowly again but steadily got things moving thanks to an 85 run stand between **Nick Bannehr** (66) and **Ben Rabjohns** (27). Uni posted 202 helped by some untidy fielding from Norths, with **Hugo Harnett** sending ball after ball skywards only to see Norths spill the chances and **Chris O'Brien** sending a

couple of balls into the trees. A magnificent display of fast bowling from Matthias (4/19 off 11) ably supported by Angus (2/17), an unlucky Eriq (0/8 off 5) and a great fielding display led by keeper Jonno Meagher (2 catches, 1 stumping) sent Norths crashing out for 113. Looks like those fielding drills with Wazza paid immediate dividends. We had already determined that the team would have its season dinner after this match and after some exploration, Jim "Jungles" Robson had settled on the Anzac Memorial Club in North Sydney (200 metres up the road!!!) as the venue. Some time later after most of us had driven kilometres towards North Sydney and over the freeway, we found the place and celebrated the team's victory in style.

Last match of the season at Owen Earle saw us gather our passports and head west on an overcast and drizzly morning, but the weather can sometimes be different out there! It wasn't! Miserable was the only way to describe it. Bully was not available so **Dan Culhane** stepped forward to help the team but it did not look likely there would be a game at all. Somehow the umpires agreed to a slightly late start on a square that the Ian Thorpe could have trained in. This would be a good toss to win and send in the opposition. Julian should never play two-up! Sent in with wet patches crossing the pitch meant physical survival was the first priority. Losing 2/2 in the first 4 overs was not the start the team was after. Batting was tough and runs hard to come by with the ball seaming all over the place. **Timm** (70no) and **Ben** (57) showed what could be done with determination but 5 ducks in the innings brought a total of 174 which would not be enough as the pitch and square dried out. The early morning wake up to drive out to Richmond must have been too much for the boys as Hawkesbury passed it with only 4 wickets down.

The players are extremely grateful to **Rob Bennett** for his efforts in selecting the team and his constant interest throughout the series even though he was on the other side of the world, **Bully** for his advice and encouragement and **Dan Culhane** for coming all the way out to Hawkesbury in Bully's absence.

Thanks also to the parents who unselfishly took the players to games and training and prepared afternoon tea. A special thanks to **Michael Treuberg** for his assistance to the coaches at training and on match days. Many dads also assisted with the task of scoring and their help is greatly appreciated.

Two wins may not reflect the team's true abilities but with seven players from the team eligible to play again in 2006-2007, the potential is definitely there. Hopefully next season some of the Green Shield players will get a run in 5s or 6s which will see them start their path towards first grade.

#### MICHAEL O'BRIEN

#### **MATCH SUMMARIES**

#### A.W. Green Shield 2005/2006

Rd	Venue	LO	Inns of:	Score	Ov	Inns of:	Score	Ov
GS1	Caringbah Ova	1 * 9	Sutherland	204	56.3	University of NSW	178	58.3
		-	Freuberg,Matthias	4/28	10.3	Mark,Julian	39	(72)
		]	Doyle,Tim	2/39	12	Wakim,Charlie	29	(41)
		7	Van Der Gugten, Timm	1/13	8	Rabjohns,Ben	25	(69)
	Result:	Loss	s on first innings (0 poi	nts)				
GS2	Village Green	Loss on first innings (0 poi  * Mosman  Van Der Gugten, Timm		187	60	University of NSW	4/188	49.3
		•	Van Der Gugten, Timm	2/15	10	Wakim,Charlie	52	(51)
		-	Гreuberg,Matthias	2/29	12	Robson, Angus J	42	(107)
		]	Harnett,Hugo	1/15	5.3	Treuberg, Matthias	34*	(51)
		]	Mark,Julian		3.3	Mark,Julian	25	(57)
	Result:	Won on first innings (6 po		nts)				
	•			•		_		

GS3 Old Kings Ova	1 * University of NSW	6/217	60	Parramatta	9/218	60
	Mark,Julian	68	(120)	Robson, Angus J	2/23	9
	Bannehr, Nick	44	(89)	Van Der Gugten, Timm	2/38	10
	Treuberg, Matthias	37	(57)	Crowe, Murray	1/26	12
Result:	Loss on first innings (0 poin	nts)				
GS4 Village Green	* Eastern Suburbs	8/231	56	University of NSW	155	45
	Van Der Gugten, Timm	2/22	10	Mark,Julian	50	(127)
	Parsons,Eriq	2/21	4	O'Brien, Christopher	44	(34)
	Treuberg, Matthias	2/52	11	Treuberg, Matthias	22	(36)
Result:	Loss on first innings (0 poin	nts) - 56	Over N	<b>Match</b>		
GS5 Village Green	* Blacktown			University of NSW		
Result:	No Result (0 points) - Wash	nout				
GS6 Tunks Park	* University of NSW	202	58.5	North Sydney	113	42.3
	Bannehr, Nick	66	(120)	Treuberg, Matthias	4/19	11
	Rabjohns,Ben	27	(78)	Robson, Angus J	2/17	6.3
	Treuberg, Matthias	25	(31)	O'Brien, Christopher	1/20	8
				Van Der Gugten, Timm	1/22	10
Result:	Won on first innings (6 poi	nts)				
GS7 Owen Earle	* University of NSW	9/174	58	Hawkesbury	4/178	54.2
Oval	Van Der Gugten, Timm	70*	(76)	Parsons,Eriq	1/27	9
	Rabjohns,Ben	57	(142)	O'Brien, Christopher	1/44	9.2
	Treuberg, Matthias	20	(50)			
Result:	Loss on first innings (0 points)	nts) - 58	Over N	<b>latch</b>		

### **BATTING**

### A.W. Green Shield 2005/2006

Overs Faced:	329.	5															
Runs Scored For:	1114	Ļ															
Wickets Lost:	49																
Average / Wicket:	22.7	3															
Balls / Wicket:	40.3	9															
Runs / Over:	3.38																
Highest Score For:	6/21	17 vs Parramatta (GS3)															
Lowest Score For:	155	vs Eastern Suburbs (GS4)															
Name	Mts	Inn	No	HS	Runs	Avg	50	100	S/R	<b>4s</b>	6s	Ct	Wk	St	RD	RI	Pts^
Mark,Julian	6	6	-	68	204	34.00	2	-	46.58	14	2	2			-	1	319
Bannehr, Nick	5	4	-	66	132	33.00	1	-	50.38	10	-	1			1	-	217
Rabjohns,Ben	6	5	1	57	116	29.00	1	-	38.67	4	-	-	1		-	-	181
Treuberg, Matthias	6	6	1	37	142	28.40	-	-	60.17	14	-	-			-	-	502
O'Brien, Christopher	6	6	1	44	123	24.60	-	-	102.50	14	1	2			3	-	323
Van Der Gugten, Timm	6	6	2	70*	87	21.75	1	-	87.88	6	-	-			2	1	342
Wakim,Charlie	5	5	-	52	103	20.60	1	-	74.64	11	-	1			1	-	188
Robson, Angus J	6	6	-	42	91	15.17	-	-	33.46	7	-	2			-	1	261
Meagher,Jonathon	6	4	2	13*	14	7.00	-	-	25.93	-	-	-	4	3	-	2	244
Harnett,Hugo	5	4	-	9	19	4.75	-	-	50.00	-	-	2			-	-	139
Mahadaby,Sam	5	3	-	7	12	4.00	-	-	40.00	-	-	1			-	-	72

	ĺ														
Doyle,Tim	4	2	1	2	3	3.00	-	-	42.86	-	-	-	-	-	73
Parsons,Eriq	3	1	1	1*	1	-	-	-	100.00	-	-	-	-	1	81
Crowe, Murray	2	-	-	-	-	-	-	-	-	-	-	1	-	-	40
Fytras					67										

<sup>^</sup> Green Shield points do not contribute to overall Club Player of the Year Points.

### **BOWLING**

#### A.W. Green Shield 2005/2006

Overs Bowled: 329.2
Runs Scored Against: 1131
Wickets Taken: 51
Average / Wicket: 22.18
Balls / Wicket: 38.75
Runs / Over: 3.43

Highest Score Against: 8/231 vs Eastern Suburbs (GS4)

Lowest Score Against: 113 vs North Sydney (GS6)

Name	О	M	W	R	Best	Avg	Econ	S/R	5wi	Wd	Nb
Treuberg, Matthias	62.3	14	12	182	4/19	15.17	2.91	31.58	-	3	1
Van Der Gugten, Timm	58	12	8	135	2/15	16.88	2.33	45.12	-	7	6
Robson, Angus J	36.3	8	5	111	2/17	22.20	3.04	43.80	-	-	-
Harnett, Hugo	25.3	3	3	110	1/15	36.67	4.31	53.00	-	2	4
Doyle,Tim	40	4	3	137	2/39	45.67	3.42	80.33	-	1	-
O'Brien, Christopher	57.2	9	4	226	1/20	56.50	3.94	88.50	-	4	6
Also Bowled:											
Mark,Julian	3.3	1	1	13	1/13	13.00	3.71	22.00	-	-	1
Parsons, Eriq	18	2	3	56	2/21	18.67	3.11	37.00	-	-	3
Crowe, Murray	16	1	1	53	1/26	53.00	3.31	96.00	-	-	-
Mahadaby,Sam	12	-	1	57	1/31	57.00	4.75	77.00	-	2	3
Extras				51							

#### **PARTNERSHIPS**

### A.W. Green Shield 2005/2006

Wkt	Rd C	pponent	In	Bat 1	Sc	Bat 2	Sc	P/S
1st	GS3 Parran	natta	1	Robson, Angus J	12	Mark,Julian	68	42
2nd	GS3 Parran	natta	1	Mark,Julian	68	Bannehr, Nick	44	88
2nd	GS2 Mosm	an	1	Robson, Angus J	42	Wakim,Charlie	52	85
3rd	GS7 Hawke	esbury	1	Mark,Julian	12	Rabjohns,Ben	57	27
4th	GS6 North	Sydney	1	Rabjohns,Ben	27	Bannehr, Nick	66	85
5th	GS7 Hawke	esbury	1	Rabjohns,Ben	57	Van Der Gugten, Timm	70*	72
6th	GS1 Suther	land	1	Wakim,Charlie	29	O'Brien, Christopher	19	31
7th	GS4 Eastern	n Suburbs	1	O'Brien,Christopher	44	Mahadaby,Sam	7	35
8th	GS1 Suther	land	1	Harnett,Hugo	5	Bannehr, Nick	19	9

9th	GS1 Sutherland	1 Bannehr, Nick	19 Meagher, Jonathon	13*	21
10th	GS6 North Sydney	1 Robson, Angus J	15 Meagher, Jonathon	1*	12

# Partnership Averages

Wkt	Inns	NO	Runs	Avg
1st	6	-	163	27.17
2nd	6	-	268	44.67
3rd	6	-	44	7.33
4th	6	-	195	32.50
5th	6	1	187	37.40
6th	5	-	116	23.20
7th	5	1	61	15.25
8th	4	-	17	4.25
9th	4	-	39	9.75
10th	4	1	24	8.00

### UNIVERSITIES WOMEN'S CRICKET CLUB

The recently concluded 2005/2006 season has found the Universities Women's Cricket Club further down the path of success.

On the field both Second and Third Grade finished higher up the ladder than last season. Both teams won four games this season, which were three more than last season. This is significant in particular for Third Grade as their only win last season was a forfeit. First Grade on the other hand experienced two less wins that last season leaving them lower on the ladder than in their first season. Overall however the Club won four more games than in our first season and it is difficult to dispute that this does not demonstrate improvement as a club. We now have a core group of players in all teams that we can build future successes on and around.

In this our second season, the Club is starting to establish on-field leaders across the grades. Gemma Connolly did an excellent job moulding Third Grade into a team that beat the eventual premiers twice. The combination of Alex Vaughan, Wendy Maxwell and Lisa Tomlinson worked well together to provide leadership to Second Grade in the face of constantly changing line ups enforced upon them by representative duties of our First Grade players. I applaud these three for their leadership skills and commitment through out the season. Sara Hungerford's performed a tough role as acting captain of our First Grade side lacking Australian representatives. This is not an easy task yet Sara does it without complaint and has matured into one of this club's finest leaders. I have a great deal of admiration for Sara and feel that we are very privileged to have her at this Club. For Sara's talents and efforts she is the second recipient of the Anne Mitchell Shield for Club Person of the Year. Congratulations!

I must also make mention of the efforts of Lisa Sthalekar. This season she was elected UWCC Club Captain, appointed First Grade Captain and UWCC Club Coach. These duties are on top of full time job, selection in NSW and Australian sides, Captain of NSW and Vice Captain of Australia. Oh yeah and Lisa also helped bring Twilight 12's into reality. That is lot of responsibility to be placed on the shoulders of a slight gal! Despite all this responsibility Lisa has a maintained a strong commitment to developing UWCC into a successful club.

Off the field we also continued to make advances with the creation of a woman's participation twilight cricket competition called Twilight 12's. The competition was held in the evenings during the first months of daylights savings at Moore Park and had a number of objectives. Firstly it provided us with an alternative for our members who aren't quite up to grade cricket, secondly we were able to provide a cricket experience to women beyond our Club who had never played cricket before and thirdly it raised some much needed funds for the club in lieu of a lack of Club sponsorship. We intend to expand this competition this summer and have recently been awarded a grant from Cricket NSW to do just that.

I have briefly made mention of our lack of sponsorship for this season just concluded. While this has put a small strain on our finances particularly with the untimely introduction of Voluntary Student Unionism (VSU) I am very pleased that the committee pulled together to hold a very successful trivia night at UNSW's Sam Cracknell Pavillion raising approximately \$900. VSU is likely to have a large effect on the funding that we receive from both universities therefore next year we must rise to the challenges of being more successful with less funding. As a result we will continue to fundraise, seek out sponsors and manage our money in prudent fashion but despite all these actions it is likely that fees will need to be raised.

This season also saw the introduction of a club website and monthly newsletter to assist the Club in communicating with our members. As with most things the first year is always the hardest to successful implement something new but I am confident that in time we will learn to better use those

resources.

As I review the past year I can't help but look to the future. There is still so much we can achieve both on and off the field. Looking into the distance future I feel we have the potential for the Club to be competitive in the Club Championship award. To do this our teams need to be regularly competing in and winning finals. I believe that this is not beyond us and importantly it can be achieved without recruiting too many more players. I firmly believe that we have core groups of players already here at the Club and that all that is needed is that these players lift to the next level.

We have many challenges ahead of us but I will highlight the two I consider the most pressing. The first is what I refer to as the Australian Curse, while we gain so much from having three Australian players in our Club and playing for our First Grade side we lose that when they leave us for representative duties. One of the key challenges for next year must be to determine a way to overcome this 'curse'. The second challenge is one of establishing a positive, success orientated culture within this Club. We have a tendency to wait and expect others to help us out. In a batting chase, all too often we see that we look to others to make it happen. How much more could we achieve (and in half the time) if we had a culture in the club of saying "what role can I play in chasing runs" or "what can I do to make this club better"?

I would like to acknowledge the financial assistance and support of SU Sport, the UNSW Sports Association and the UNSW Cricket Club. These three organisations enable the continued existence of the UWCC. Without them we would achieve very little.

I would also like to thank this year's committee and the captains and vice captains for their commitment to the Club. Your efforts have helped to make this season a success. Lastly but by no means least, I wish to thank each and every UWCC player for choosing to represent UWCC without you we would be nothing!

LENA CARUSO
UWCC PRESIDENT

### **JUNIORS REPORT**

UNSWCC Juniors grew to 5 teams for the 2005/6 season: 2 x U11, 1 x U14, 2 x U16 teams. Given our size, we did exceptionally well, one team going all the way to the Final (U11 Black) and one to the semis (U14), until the last round 2 more teams had the possibility of making the semis.

Pleasingly there appears to be great interest in the UNSW club, as we bring an approach to our cricket of balancing fun with healthy competition and more fun (along the way we develop skills and have fun) - get the theme!

If awards mean anything, the club was well recognised. With Marcus Atallah (U11 Black) taking out 4 of the 5 SEJCA U11 awards for the season: Most Aggregate Runs (just pipping Haran Mohan from U11 Gold), Best Average Runs, Most Aggregate Wickets and Best Wicket Average. Also in the SEJCA U14 Awards, Tomas Cole-Nunez took out the U14 Best Bowling Average and Michael Webster the U14 Most Aggregate Runs. Every side contains many rep players, but each team takes the approach of giving everyone a bat and a bowl, without favour - thus building the team's overall depth and strength. We look forward to even better things and more fun this season.

MICHELE DUNN
JUNIORS COORDINATOR

#### **UNDER 11 BLACK**

In our first season wearing the black and gold, the boys did a great job and played good solid cricket, to finish as Minor Premiers and make the Grand Final only to fall at the last hurdle. Throughout the season, each member of the team contributed to the team's success. While we often struggled to score runs we had the edge on most teams in the bowling and fielding departments.

As a coach, it was extremely pleasing to watch the boys expose their oppositions' weaknesses and to devise tactics to exploit them. Each week a different member of the team was handed the job of leading the team, and it was up to them to work out the batting and bowling order.this added responsibilty was handled very well by the chosen captain and the boys responded well to them.

While most f the boys had played cricket before it was great to see the new comers, Jordan Roods, Jordon Conway and Luke Phillips play the game with real enthusiasm and make significant positive contributions to the team's success. All the boys improved over the course of the season and I hope, like me, they are looking forward to the coming season. I would like to thank all the boys and their parents for making it a very enjoyable season and a special thankyou to Rebecca, Michael and Andrew for all their help.

#### ANTHONY ATALLAH





The UNSW Under 11's in action ... many thanks to all the coaches and parents of our junior teams - doing their bit to develop future UNSW cricket champions.

### **UNDER 11 GOLD**

This team was the most inexperienced team in the competition, with only 3 players having played club cricket previously. So, to be joint competition leaders after Round 3 and to be still in contention for a semi final spot in the last round was a great effort.

The team won the first 3 rounds, driven by partnerships between Haran Mohan and Alex Rouse including an astounding 81 unfinished. Unfortunately, we could not maintain this level and won only 1 more game, losing several games against the weaker teams narrowly and being thrashed by the 3 best teams.

The overall lack of skills and experience started to tell as the season wore on- the bowling was weak, the batting lacked depth and too many catches were dropped or went to ground. One outstanding feature was the ground fielding- almost everyone showed huge commitment and maintained a high level of enthusiasm despite having to chase a lot of leather.

The best batting performance was in the loss against Randwick Green (7-135), whilst individually, everyone had their day, with the highlights being: Haran 263 runs at 37.6 and 10 at 15.4 (best: 34no and 3-14) resulting in Haran being selected in the U12 representative squad for 2006-07; Alex 199 at 22.1 and 9 at 14.6 (best 42no and 2-8); Greg Antoniades 102 at 25.5 with best: 37 no (Rd 15); Taylor Burgess 120 at 10.0 with best of 31 no (Rd 14); Will Lindeback 4 for 25 against Easts (premiers) in Rd 7; the ground fielding of Taylor and Greg (who spent most of their time on the leg side and saved their team about 30 runs a match), Mark Hobday and Thomas Coyne; Michael Dimitriadis all round talents in batting, wicket-keeping and fielding.

#### **JOHN ROUSE**

### UNDER 14

The under 14's had a successful 05/06 season finishing in fourth place overall. The team, coached by Gary Fuss, had a tremendous start to the year, winning the majority of their games comfortably. In fact, the boys were on top of the table at the half way mark in the season. Unfortunately, while Christmas meant new bats and balls for the boys, it also signified loss - the team lost its coach Gary Fuss and his two boys, Brenton and GC, as they heeded the call from Peter Beatty and headed to Queensland. At the same time, we also lost the exceptional talent of Michael Webster, who had been sentenced to 9 months hard labour at Glengarry for his sins. The team never really recovered from these major losses, in particular the leadership and knowledge of Coach Gary. However, we soldiered on into the second half of the season and limped into the semi-final, which we lost to the minor premiers, Randwick Black.

The team had a fantastic spirit and the boys played for the enjoyment of the game each weekend. There were some wonderful individual performances throughout the year, and special mention should also be made of Captain Tom Cole-Nunez, Tom Gallop, new recruit James Constantine, and Darren Schai.

#### RICHARD HALLIDAY

#### UNDER 16 GOLD

The step up from U14s made for some interesting contests, but new team members Matthias Treuberg, Max Guerry, Michael Stern and Nathan Ezekial helped ensure that we were very competitive each week and but for 2 very narrow (last ball) losses to the eventual winners, we would have made the semis

The team has a large number of rep players, meaning that for many games we were down 6 players,

but regulars Dean Vosnakis, Josh Atallah, Zeb Holmes, Gill Pollak, Steve Levy, Matthias, Max and Michael held the fort strongly and showed real grit and determination each week, not to mention some great talent with the bat and the ball.

We saw some excellent batting all season and solid scores from Nathan, Thomas Atallah, Nick Sharman (a rapid 60 odd), James Winder, Jordan Nabarro and Matthias. Matthias also did some real damage with the ball, supported by Eriq Parsons and Max was an absolute inspiration, taking much needed wickets at crucial times.

Importantly, the boys really enjoyed themselves each week, with a win being a bonus for the day'sfun. The parents are amazingly supportive, we played many teams where only the umpire and scorer stayed on from the other team. But with the U16 Golds, we had several Dads who stayed around to umpire each week, Mums and Dads who scored and others who did the coffee run - it was a well supported team in every sense.

Thanks must go to 2 of our U11s, Marcus Atallah and Lachlan Anderson who answered our distress call to fill in for a few games and handled themselves well amongst the big boys!



The UNSW Under 16 Gold team of 2005/2006. Many of our juniors are now starting to appear in our Green Shield and grade teams – a trend that can only assist the club's development.

#### **UNDER 16 BLACK**

The 2005-06 under 16 season proved to be yet another valuable learning experience for our mostly returning under 14 premiers. I n the Black team only Luke Williams and Liam Mountney will not be eligible for under 16's again in the coming summer. Richard Webster played the early games and made valuable contributions until, sadly, the SEJCA administration chose to prevent him from playing. All of the players continued to improve, and more importantly, enjoy their cricket. Chris Jourdain lead from the front with some positive batting and growing cricket knowledge. Nick R-E opened the batting with authority with Luke Williams and Kai Guderjahn. Kai's opening match onslaught against Balmain with 72 in 46 balls was the dominant innings of the season and he can achieve so much more in the game if he chooses to persevere. Luke always backed his ability and as his running between the wickets improved so did his confidence and run scoring. Michael Stamos played with great determination, he is a fine example to all of the team with his never say die attitude and willingness to contribute to the whole squad. Liam Mountney showed similar tough attitude and

his bowling improved significantly to become our most miserly purveyor. His batting, so underrated by some team mates, also contributed to the sore and he was always willing to go in early and take on a challenge.

The Big E Beardmore at times showed promise with the bat when he was playing straight but too many times weakened his resolve and succumbed to swishing across the line, often leading to his demise. His bowling was very good, working up excellent pace and he was a bit unlucky with dropped catches and beat the bat many times. Ben Lawson made good breakthroughs opening the bowling, getting out some very good opponents but the lack of concentration over the whole innings meant his figures were not as good as the previous year. If he applies himself he could be an excellent new ball bowler. His batting lacked almost any sort of application whatsoever, once again in contrast to the previous year. He took some excellent catches, particularly at slip, so he does have some natural ability. Chris Sheaffe and Darcy Mathews bowled excellent leg spin and we were fortunate that these two could come on and cause problems to the middle order. Both players are capable of making more runs. Justin O'Neill rejoined us for the second half of the season and his calming influence, steady batting and tidy medium pace made the Blacks a better line up. Chris Smith bowled well until his unavailability due to work. Sean Conroy went from strength to strength with some quite fast bowling and handy runs as well as great fielding behind the wicket. In deference to the Poms winning the Ashes we had a late inclusion of overseas exchange student Will Hawkins who showed that bthe Poms do have some young talent in the wings.

Big thanks to Paul Beadmore for scoring and keeping Elliot under some sort of control, Jacky Jourdain for umpiring when not looking after Rupert's money, Dave Conroy, Max Sheaffe for coffee and index finger as too Dave O'Neil, Kim Mountney and all the mums who get their boys organised on Sunday mornings. The boys enjoy each other's company and played the game in the spirit it was intended. Hopefully everyone will return in 2006-07 and we can do it all again.

HENRY

## COMBINED CLUB STATISTICS 2005/2006

#### **BATTING**

Combined Club Statistics 2005/2006 (All Grades & Competitions - Grade, LO, Metro. Cup, PG & GS)

6786.1 Overs Faced: Runs Scored For: 25290 928 Wickets Lost: Average / Wicket: 27.25 Balls / Wicket: 43.88 3.73 Runs / Over:

Highest Score For: 392 - 5th Grade vs Campbelltown-Camden (QF)

Lowest Score For:	64 - 2r	nd Gr	ade	vs N	orther	n Distr	icts	(Rd1	12)							
Name	Mts	Inn	No	HS	Runs	Avg	50	100	S/R	<b>4s</b>	6s	Ct	Wk	St	RD	RI
Jeffrey, Andrew D	18	20	1	194	886	46.63	3	2	63.60	85	10	12			-	-
Richardson, Timothy S	16	18	2	129	694	43.38	3	2	55.12	87	-	5			1	1
Christian, Daniel T	17	20	2	135*	647	35.94	2	2	70.56	75	10	13			2	-
Creed, Murray W	18	20	2	87	639	35.50	6	-	46.04	53	1	11			-	-
Weerakkody,Nivan	13	13	3	124	587	58.70	4	1	69.14	45	-	9			1	-
Cooper,Tom L W	18	17	1	130	580	36.25	3	1	92.80	81	10	7			-	-
Gerber, Simon B H	12	12	3	132	572	63.56	3	2	55.86	75	-	7			1	-
Carson, David J	18	18	4	134*	559	39.93	1	2	57.87	49	10	7			-	-
Day, James R F	25	21	7	90	534	38.14	3	-	69.17	43	8	13			-	-
Robson, James G	16	14	3	90	519	47.18	4	-	45.97	41	-	5			-	1
McKay,Stuart W	23	25	2	92	519	22.57	3	-	59.93	57	1	8			1	2
Bowcock, Daniel S	13	13	2	143	485	44.09	4	1	78.86	58	14	3	1		-	1
Sykes,Mitchell C	26	27	3	59	485	20.21	4	-	53.18	40	9	10			3	-
Dixon, James S	11	11	2	139*	477	53.00	3	2	95.21	67	10	6			-	2
Webb,Joshua	21	21	1	52*	469	23.45	1	-	54.22	43	1	9			1	1
Elliott,Michael R	14	14	1	105	450	34.62	2	1	62.76	60	2	5			-	1
Morris, Christopher J	14	15	3	91	444	37.00	4	-	53.05	47	-	-	16	2	1	4
Abbas,Nadeem	14	15	-	82	440	29.33	2	-	56.27	63	-	-			1	2
Nikolovski,Richard	25	24	4	124*	440	22.00	2	1	53.99	39	-	-	23	16	-	7
Carson,Peter W	17	19	3	77	425	26.56	4	-	55.56	59	2	8			1	1
Bhandari, Danny	17	19	1	86	425	23.61	3	-	48.57	37	1	10			1	-
O'Connor, Mitchell W	18	19	2	112	412	24.24	-	1	61.13	47	9	7			-	-
Cowan,Simon J	11	11	2	91*	408	45.33	4	-	56.59	34	2	2			-	-
Roucek,Michael J	14	15	1	97	407	29.07	3	-	82.72	37	2	1			3	1
Afzal,Faisal	16	17	-	92	401	23.59	2	-	75.38	50	4	8			1	-
O'Brien, Christopher	17	17	5	84	383	31.92	2	-	92.96	32	4	9			3	2
Pereira,Gavin J	14	14	-	91	370	26.43	3	-	91.13	53	7	6			-	1
Kalagara,Suresh K	12	11	1	116	366	36.60	2	1	104.87	33	2	1			-	1
Backmann,Hugh A	16	14	-	145	366	26.14	2	1	62.78	47	1	11			-	1
Elliott,Timothy J	14	14	-	60	366	26.14	3	-	51.40	40	1	1			-	-
O'Sullivan, Anthony J	15	16	-	84	364	22.75	3	-	45.27	32	4	4			-	-

Name	Mts	Inn	No	HS	Runs	Avg	50	100	S/R	4s	6s	Ct	Wk	St	RD	RI
Tan,Jonathan J H	10	10	2	120*	353	44.12	2	1	56.39	40	2	2			-	1
Higgins,Oliver W	10	10	-	76	350	35.00	2	-	45.10	37	-	6			-	-
Tate,Benjamin D	14	15	-	88	332	22.13	2	-	87.83	30	6	2	6		-	-
Harris, Peter A	15	13	1	71	329	27.42	3	-	43.40	36	-	9	3		-	-
Mitchell,Peter B	12	13	2	76	324	29.45	1	-	39.13	18	3	5	2		1	1
Jones, Andrew C	14	14	-	100	321	22.93	-	1	50.47	32	-	2			1	-
Kulkarni,Mayur	15	14	-	61	290	20.71	1	-	51.51	32	-	6			1	1
Leahy,Mark C	14	14	-	76	270	19.29	2	-	83.59	45	3	6	4		-	1
Lang,Timothy E	18	15	1	44	268	19.14	-	-	60.50	27	1	8			-	-
Dennis, Gregory M	12	11	4	71	253	36.14	2	-	54.76	28	3	4			-	-
Treuberg, Matthias	23	18	6	37	253	21.08	-	-	50.50	24	1	1			-	-
Robson,Samuel D	23.5	18	4	34	217	15.50	-	-	38.14	15	-	13			-	-
Stuart, Alexander I	17	15	1	89	210	15.00	1	-	46.05	18	-	4	5		-	3
Mark,Julian	7	7	-	68	208	29.71	2	-	45.81	14	2	2			-	1
Fleming,Tallaesen	13	12	-	106	202	16.83	1	1	53.30	23	3	2			-	-
Sangster,Hugh	11	11	3	61	198	24.75	1	-	51.56	16	-	3			1	-
Mag,Michael	14	9	1	71	179	22.38	1	-	82.49	18	4	9			-	-
Ross,David W	17	16	2	31	173	12.36	-	-	37.12	17	2	6			2	1
Zell,Andrew D	8	10	-	92	172	17.20	1	-	71.37	21	4	2			-	-
Crowl,Samuel J	18	15	3	45	159	13.25	-	-	42.29	16	-	12			1	-
Searle,Paul B	10	9	-	42	149	16.56	-	-	48.22	16	-	-	25		-	3
Kaye,Martin R	5	5	-	54	143	28.60	1	-	69.42	15	-	-	5	2	-	1
Maguire,Peter H	13	13	3	36	143	14.30	-	-	70.79	18	1	7			-	-
Bannehr,Nick	5	4	-	66	132	33.00	1	-	50.38	10	-	1			1	-
Lockett,Benjamin M	15	11	3	37	131	16.38	-	-	100.77	14	5	-			1	-
Van Der Gugten,Timm	17	13	5	70*	129	16.12	1	-	68.25	10	-	5			2	1
Taylor,Lachlan R	11	10	1	26	123	13.67	-	-	99.19	17	1	-			-	-
Hayward,Matthew W	6	8	-	55	122	15.25	1	-	58.94	9	-	2			-	-
Zehner,Eric J W	17	11	4	31	118	16.86	-	-	83.69	9	-	7			-	4
Kader,Nirjon	5	5	-	87	117	23.40	1	-	67.24	11	-	1			-	-
Rabjohns,Ben	6	5	1	57	116	29.00	1	-	38.67	4	-	-	1		-	-
Hamer,Phillip G	12	9	5	38	113	28.25	-	-	59.47	9	2	2			-	2
Dooley,Robert A	13.5	11	4	61	112	16.00	1	-	63.28	13	-	4			-	1
Neilan,Andrew M	18	14	3	32	112	10.18	-	-	72.73	14	1	-	36	5	-	3
Owers, Matthew S	5	5	2	70	108	36.00	1	-	80.00	14	1	1			-	-
Cox,Timothy D	15	9	4	30	107	21.40	-	-	50.47	7	1	3			1	1
Wakim,Charlie	5	5	-	52	103	20.60	1	-	74.64	11	-	1			1	-
Stephen,Darren J	11	10	6	31*	100	25.00	-	-	52.63	9	1	2			-	-
Gowland,Mitchell	9	9	-	23	98	10.89	-	-	58.33	14	1	6			-	2
Robson, Angus J	6	6	-	42	91	15.17	-	-	33.46	7	-	2			-	1
Mann,David L	14	12	7	24*	85	17.00	-	-	22.43	3	-	4			-	1
Dobbie,Glen W	17	12	3	34	84	9.33	-	-	30.55	5	1	5			-	-
Jebb,David C	5	5	-	25	71	14.20	-	-	51.08	9	-	-			-	-

Name	Mts	Inn	No	HS	Runs	Avg	50	100	S/R	4s	6s	Ct	Wk	St	RD	RI
Culhane, Daniel J	10	5	2	38	64	21.33	-	-	87.67	9	-	-			-	-
Smith,Roger T	11	8	3	24	64	12.80	-	-	31.84	6	-	-	12	4	-	4
Jaregui,Victor	5	5	1	29	60	15.00	-	-	27.52	5	-	2			-	-
Serov,Paul	10	8	1	20	56	8.00	-	-	29.02	3	-	1			-	-
Thomas, Christopher M	10	6	3	31*	53	17.67	-	-	52.48	5	-	2			-	-
Appleton,Mark S	15	6	3	19*	48	16.00	-	-	49.48	6	-	2			1	1
Garland, Matthew	15	10	6	14*	41	10.25	-	-	35.04	3	-	2			1	1
Halikas,Steven	13	8	1	15	40	5.71	-	-	56.34	5	-	4			-	-
Hansen,Liam J	5	3	2	20*	38	38.00	-	-	63.33	2	-	2			-	-
Sharma, Abhishek	1	1	-	32	32	32.00	-	-	82.05	6	-	-			-	-
Crichton,Samuel L	8	6	3	21*	32	10.67	-	-	45.71	1	1	4			-	-
Rea,Michael	2	2	-	24	31	15.50	-	-	57.41	5	-	-			-	-
Foster,Paul	2	2	-	28	28	14.00	-	-	41.79	3	1	-			-	-
Glenday, James R	9	6	-	13	28	4.67	-	-	35.44	2	1	3			-	1
Wakim,Benjamin	3	3	1	17	26	13.00	-	-	32.91	-	-	-	4		-	-
Kargas,Evan	14	7	-	12	24	3.43	-	-	30.77	3	-	11			1	-
Tibbetts, Joel A	4	4	-	16	21	5.25	-	-	23.33	2	-	1			-	-
Das,Kushal	1	1	-	19	19	19.00	-	-	55.88	1	-	-			-	-
Lucas,Mark S	15	9	7	9	19	9.50	-	-	29.69	1	-	1			-	-
Dornan, Nigel C	9	4	2	11*	19	9.50	-	-	37.25	1	-	-			-	-
Harnett,Hugo	5	4	-	9	19	4.75	-	-	50.00	-	-	2			-	-
Fuss,Gary P	5	2	-	15	16	8.00	-	-	160.00	2	1	4			-	-
Stark,Robert W	3	2	1	8*	15	15.00	-	-	150.00	1	1	-			-	-
Smith, Mitchell D M	1	1	1	15*	15	-	-	-	71.43	1	1	-			-	-
Meagher,Jonathon	6	4	2	13*	14	7.00	-	-	25.93	-	-	-	4	3	-	2
Mahadaby,Sam	5	3	-	7	12	4.00	-	-	40.00	-	-	1			-	-
Khurmi,Arjun	1	1	-	7	7	7.00	-	-	41.18	-	-	1			-	-
McKinnon, Lachlan	1	1	-	3	3	3.00	-	-	21.43	-	-	1			-	-
Doyle,Tim	4	2	1	2	3	3.00	-	-	42.86	-	-	-			-	-
Parsons,Eriq	3	1	1	1*	1	-	-	-	100.00	-	-	-			-	1
Absent	2	1	-	0	0	0.00	-	-	-	-	-	1			-	-
Crowe,Murray	2	-	-	-	-	-	-	-	-	-	-	1			-	-
Absent		1														
Substitute												1				
Extras					1660											
Difference					-5											

Difference

### **BOWLING**

Combined Club Statistics 2005/2006 (All Grades & Competitions - Grade, LO, Metro. Cup, PG & GS)

Overs Bowled: 6828.3
Runs Scored Against: 23893
Wickets Taken: 1010
Average / Wicket: 23.66
Balls / Wicket: 40.57
Runs / Over: 3.50

Highest Score Against: 383 - 3rd Grade vs Western Suburbs (Rd8) Lowest Score Against: 44 - 6th Grade vs Holroyd-Hills (Rd7)

Lowest Score Against:	44 - 6th Grade vs Holroyd-Hills (Rd7)										
Name	О	M	W	R	Best	Avg	Econ	S/R	5wi	Wd	Nb
Robson,Samuel D	292.2	40	64	1162	6/28	18.16	3.97	27.64	3	9	6
Lang, Timothy E	309.5	61	54	943	6/20	17.46	3.04	34.87	4	11	13
Christian, Daniel T	196	21	33	766	6/33	23.21	3.91	37.15	1	8	42
Zehner, Eric J W	214.5	37	31	754	4/22	24.32	3.51	43.48	-	13	46
Stephen, Darren J	217.4	45	30	619	5/53	20.63	2.84	43.53	2	-	-
Treuberg, Matthias	208.3	44	29	687	4/19	23.69	3.29	43.69	-	13	3
Robson, James G	217.1	74	28	444	5/34	15.86	2.04	46.54	1	-	-
Kalagara,Suresh K	142	34	28	490	5/25	17.50	3.45	31.14	2	11	9
Kargas,Evan	133.1	16	27	438	5/36	16.22	3.29	30.00	1	5	6
Day, James R F	181.5	27	27	613	4/22	22.70	3.37	40.78	-	1	9
Cox, Timothy D	187.5	45	25	506	5/83	20.24	2.69	45.36	1	3	4
Garland, Matthew	142	19	24	491	6/19	20.46	3.46	36.29	2	19	-
Lockett,Benjamin M	178.1	27	24	702	4/41	29.25	3.94	44.83	-	7	-
McKay,Stuart W	109.4	17	23	416	4/4	18.09	3.79	28.74	-	-	3
Sykes,Mitchell C	287.4	54	23	954	4/42	41.48	3.32	75.09	-	-	1
Taylor,Lachlan R	144	27	21	481	4/32	22.90	3.34	42.81	-	2	33
Van Der Gugten, Timm	121.3	20	20	334	3/25	16.70	2.75	37.90	-	12	17
Thomas, Christopher M	108	16	20	350	4/26	17.50	3.24	32.90	-	7	3
Halikas, Steven	130.3	27	20	427	3/32	21.35	3.27	39.85	-	7	7
Crowl,Samuel J	115.1	8	20	486	4/54	24.30	4.22	34.80	-	4	1
Maguire,Peter H	172.1	44	20	548	4/50	27.40	3.18	52.05	-	8	-
Glenday, James R	127.2	21	19	410	5/69	21.58	3.22	40.95	1	1	13
Mann,David L	115.5	15	19	556	4/23	29.26	4.80	36.95	-	-	7
Lucas,Mark S	146.5	29	18	469	3/24	26.06	3.19	49.50	-	8	2
Dobbie,Glen W	144	23	18	496	2/18	27.56	3.44	48.72	-	6	7
Ross,David W	147	23	17	622	4/18	36.59	4.23	52.00	-	2	-
Dornan, Nigel C	106.5	25	16	287	4/21	17.94	2.69	40.25	-	2	1
Dennis, Gregory M	108.3	12	15	420	5/28	28.00	3.87	44.13	1	9	2
Appleton,Mark S	162	35	15	457	4/46	30.47	2.82	67.00	-	33	-
Mag,Michael	157.1	33	15	492	3/5	32.80	3.13	62.87	-	-	-
Hamer,Phillip G	123.1	33	14	335	3/19	23.93	2.72	53.29	-	6	1
O'Brien, Christopher	137.1	22	14	534	2/27	38.14	3.89	60.86	-	11	18
Hayward, Matthew W	66.3	15	13	187	5/34	14.38	2.81	30.69	1	-	-
Serov,Paul	85.4	17	12	295	5/39	24.58	3.44	43.17	1	3	1

Name	О	M	W	R	Best	Avg	Econ	S/R	5wi	Wd	Nb
Culhane, Daniel J	104	22	12	340	5/89	28.33	3.27	52.25	1	-	3
Dooley,Robert A	97	13	11	387	3/75	35.18	3.99	53.91	_	9	2
Cooper,Tom L W	114	19	11	400	3/42	36.36	3.51	62.36	_	2	_
Fuss,Gary P	69.5	9	10	260	3/103	26.00	3.72	42.20	_	_	3
Bhandari, Danny	129	20	10	440	3/32	44.00	3.41	77.90	_	4	1
Zell,Andrew D	135	40	9	321	3/26	35.67	2.38	92.33	_	_	21
Stark,Robert W	41	7	8	101	4/63	12.62	2.46	30.75	_	_	_
Kulkarni,Mayur	28	2	7	130	3/20	18.57	4.64	24.00	_	_	_
Dixon, James S	51	12	7	191	2/22	27.29	3.75	43.86	_	1	-
Hansen,Liam J	33	4	6	137	3/42	22.83	4.15	36.33	_	8	12
Tan,Jonathan J H	44	4	6	162	3/49	27.00	3.68	45.50	_	9	_
Robson, Angus J	36.3	8	5	111	2/17	22.20	3.04	43.80	_	_	_
Webb,Joshua	41.5	7	5	174	2/14	34.80	4.16	50.20	_	_	_
Roucek,Michael J	40	6	4	135	2/18	33.75	3.38	62.25	_	7	2
Cowan,Simon J	54.3	9	4	215	1/30	53.75	3.94	84.50	_	5	6
Parsons,Eriq	18	2	3	56	2/21	18.67	3.11	37.00	_	_	3
Harnett,Hugo	25.3	3	3	110	1/15	36.67	4.31	53.00	_	2	4
Doyle,Tim	40	4	3	137	2/39	45.67	3.42	80.33	_	1	_
Carson,Peter W	61	7	3	217	3/29	72.33	3.56	122.00	_	_	_
Abbas,Nadeem	95	18	3	357	2/15	119.00	3.76	193.00	_	1	8
Rea, Michael	7	1	2	24	2/24	12.00	3.43	21.00	_	_	_
Bowcock, Daniel S	8	1	2	46	1/15	23.00	5.75	25.00	_	1	1
Mark,Julian	3.3	1	1	13	1/13	13.00	3.71	22.00	_	_	1
Elliott,Michael R	3	-	1	17	1/8	17.00	5.67	18.00	-	_	-
Weerakkody,Nivan	7	-	1	37	1/15	37.00	5.29	43.00	-	1	-
Crowe,Murray	16	1	1	53	1/26	53.00	3.31	96.00	-	_	-
Owers, Matthew S	6	-	1	55	1/22	55.00	9.17	38.00	-	-	2
Mahadaby,Sam	12	-	1	57	1/31	57.00	4.75	77.00	-	2	3
Gowland, Mitchell	22.2	6	1	89	1/30	89.00	3.99	134.00	-	-	-
McKinnon, Lachlan	10	-	-	74	0/74	-	7.40	-	-	-	-
Smith, Mitchell D M	9	2	-	25	0/25	-	2.78	-	-	2	-
Crichton,Samuel L	7	-	-	24	0/5	-	3.43	-	-	1	1
Sharma, Abhishek	7	-	-	37	0/37	-	5.29	-	-	-	1
Jebb,David C	4.3	-	-	35	0/35	-	7.78	-	-	-	-
Tibbetts, Joel A	3	-	-	19	0/9	-	6.33	-	-	-	-
Carson,David J	2	1	-	8	0/0	-	4.00	-	-	-	-
Richardson, Timothy S	2	-	-	9	0/9	-	4.50	-	-	-	-
O'Sullivan, Anthony J	1	1	-	0	0/0	-	0.00	-	-	-	-
Khurmi,Arjun	1	-	-	1	0/1	-	1.00	-	-	-	-
Jones, Andrew C	1	-	-	16	0/16	-	16.00	-	-	-	-
Absent			2								
Extras				698							
Difference				4							
Note: SD Robson's 64 wickets is	a now ch	ıh rocc	ord for	r total w	rickate tal	con in a co	acon aci	oce all or	adoc o	ombi	nod

Note: SD Robson's 64 wickets is a new club record for total wickets taken in a season across all grades combined.

### **PARTNERSHIPS**

Combined Club Statistics 2005/2006 (All Grades & Competitions - Grade, LO, Metro. Cup, PG & GS)

_	Wkt	Rd	Gr	Opponent	Bat 1	Sc	Bat 2	Sc	P/S	_
	1st	5	1	UTS-Balmain	Jeffrey,Andrew D	146	O'Connor,Mitchell W	112	259	#
	1st	4	1	Campbelltown-Camden	Jeffrey, Andrew D	44	Christian, Daniel T	61	113	
_	1st	7	6	Holroyd-Hills	Kaye,Martin R	54	Jones, Andrew C	100	102	_
	2nd	QF	5	Campbelltown-Camden	Gerber,Simon B H	107	Morris, Christopher J	91	170	
	2nd	2	2	Randwick-Petersham	Richardson, Timothy S	77	Elliott,Michael R	105	167	
	2nd	LO5	1LO	Hawkesbury	Creed, Murray W	37	Jeffrey, Andrew D	90	117	
	2nd	11	1	Penrith	Jeffrey, Andrew D	88	Creed, Murray W	61	112	
	2nd	16	6	Rand-Petersham (Gld)	Kalagara,Suresh K	116	Weerakkody,Nivan	87*	106	
_	2nd	PG4	PG	North Sydney	McKay,Stuart W	92	Cooper,Tom L W	70	106	_
	3rd	14	1	Sydney University	Christian, Daniel T	135*	Carson, David J	134*	273*	
	3rd	13	4	St.George	Fleming, Tallaesen	65	Bowcock, Daniel S	143	135	
_	3rd	10	5	North Sydney	Stuart, Alexander I	35	Backmann,Hugh A	60	103	_
	4th	2	1	Randwick-Petersham	Jeffrey,Andrew D	194	Cooper,Tom L W	92	269	#
	4th	4	4	Campbelltown-Camden	Bowcock, Daniel S	64	Fleming, Tallaesen	106	165	
	4th	14	2	Sydney University	Carson,Peter W	58	Richardson, Timothy S	105	123	
	4th	1	2	Fairfield-Lilverpool	O'Sullivan, Anthony J	52	Elliott,Michael R	95*	115	
	4th	8	3	Western Suburbs	Higgins,Oliver W	43	Pereira,Gavin J	91	113	
_	4th	4	1	Campbelltown-Camden	Cooper,Tom L W	130	O'Connor, Mitchell W	17*	101	_
	5th	14	5	Sydney University	Backmann, Hugh A	145	Robson, James G	84	161	
	5th	15	3	Gordon	Owers, Matthew S	70	O'Sullivan, Anthony J	84	141	
	5th	4	5	Campbelltown-Camden	Mitchell,Peter B	47	Robson, James G	90	123	
	5th	1	3	Fairfield-Lilverpool	McKay,Stuart W	64	Nikolovski,Richard	53	105	
_	5th	14	6	Penrith	Kulkarni,Mayur	61	Tan,Jonathan J H	65	101	_
	6th	8	2	Western Suburbs	Carson,Peter W	77	McKay,Stuart W	60	119	
	6th	7	3	Bankstown	Elliott,Timothy J	60	Dixon, James S	117	115	
_	6th	12	4	Northern Districts	Searle,Paul B	42	Cowan,Simon J	91*	105	_
_	7th	3	4	Mosman	Mag,Michael	71	Cowan,Simon J	48*	108	_
_	8th	5	3	UTS-Balmain	Mann,David L	5*	Nikolovski,Richard	124*	93*	_
_	9th	8	2	Western Suburbs	Zell,Andrew D	92	Thomas, Christopher M	31*	93	_
_	10th	12	2	Northern Districts	Hayward, Matthew W	46	Dobbie,Glen W	4*	44	_

<sup>#</sup> New club record.

### Partnership Averages

Wkt	Inns	NO	Runs	Avg
1st	120	2	3796	32.17
2nd	118	1	3642	31.13
3rd	117	6	3059	27.56
4th	111	2	3919	35.95
5th	108	5	3118	30.27
6th	101	9	2647	28.77
7th	92	7	1627	19.14
8th	85	12	1611	22.07
9th	72	4	1138	16.74
10th	65	14	733	14.37

PARTNERSHIPS - MOST PROLIFIC PARTNERS

Combined Club Statistics 2005/2006 (All Grades & Competitions)

Bat 1	Bat 2	i i	-	Highest P/S	Total Runs	Avg
Jeffrey, Andrew D	O'Connor,Mitchell W	11	-	259	584	53.09
Bhandari,Danny	Richardson, Timothy S	16	1	93*	549	36.60
Jeffrey, Andrew D	Creed, Murray W	14	_	117	511	36.50
Richardson, Timothy S	Elliott, Michael R	10	-	167	506	50.60
Christian, Daniel T	Carson, David J	6	1	273*	457	91.40
Creed,Murray W	Christian, Daniel T	10	-	83	383	38.30
Mitchell,Peter B	Robson, James G	7	-	123	372	53.14
Bowcock, Daniel S	Fleming, Tallaesen	4	-	165	337	84.25
Webb,Joshua	Abbas,Nadeem	7	-	67	329	47.00
Jeffrey, Andrew D	Christian, Daniel T	9	1	113*	299	37.38
Jeffrey, Andrew D	Cooper,Tom L W	2	-	269	276	138.00
Webb, Joshua	McKay,Stuart W	7	-	95	244	34.86
Cooper,Tom L W	McKay,Stuart W	5	-	106	243	48.60
Elliott,Timothy J	Higgins,Oliver W	7	-	65	234	33.43
Carson,Peter W	McKay,Stuart W	5	-	119	233	46.60
Leahy,Mark C	Pereira,Gavin J	4	-	95	210	52.50
Creed, Murray W	Carson,David J	10	-	95	210	21.00
Pereira,Gavin J	Higgins,Oliver W	3	-	113	208	69.33
Morris, Christopher J	Gerber, Simon B H	2	-	170	190	95.00
Jones, Andrew C	Kalagara,Suresh K	4	-	83	187	46.75
Carson,David J	Lang, Timothy E	4	-	66	184	46.00
Weerakkody,Nivan	Kalagara,Suresh K	2	-	106	183	91.50
Richardson, Timothy S	Carson,Peter W	3	1	123*	179	89.50
Cowan,Simon J	Morris, Christopher J	2	-	98	170	85.00
Roucek,Michael J	Kalagara,Suresh K	3	-	73	167	55.67
Elliott,Timothy J	Pereira,Gavin J	6	-	69	167	27.83
Day,James R F	Sykes, Mitchell C	7	-	70	166	23.71
Kulkarni,Mayur	Weerakkody, Nivan	6	-	49	163	27.17
Backmann,Hugh A	Robson, James G	1	-	161	161	161.00
Roucek,Michael J	Weerakkody, Nivan	4	-	92	156	39.00
Creed,Murray W	Cooper,Tom L W	8	-	80	154	19.25
Kaye,Martin R	Jones, Andrew C	3	-	102	152	50.67
Cowan,Simon J	Dennis, Gregory M	3	1	99*	151	75.50
Kulkarni,Mayur	Tan,Jonathan J H	4	-	101	150	37.50
Creed,Murray W	Lang, Timothy E	6	-	71	148	24.67
Nikolovski,Richard	Higgins,Oliver W	3	-	64	147	49.00
Elliott,Michael R	O'Sullivan, Anthony J	2	-	115	144	72.00
Tate,Benjamin D	Jones, Andrew C	5	-	69	143	28.60
O'Sullivan, Anthony J	Owers, Matthew S	1	-	141	141	141.00
Harris, Peter A	Gerber,Simon B H	2	-	81	140	70.00
Sykes,Mitchell C	Richardson, Timothy S	5	-	61	140	28.00
Mark,Julian	Robson, Angus J	5	-	42	139	27.80
Bhandari,Danny	O'Sullivan, Anthony J	6	-	44	139	23.17
Searle,Paul B	Cowan,Simon J	4	-	105	138	34.50
Roucek,Michael J	Tan,Jonathan J H	2	-	97	135	67.50

# PLAYER OF THE YEAR POINTS 2005/2006

		Attend	ance		Attend	ance				
	Pra	ctice - Pı	e Season	Pract	ice - Dui	ing Season	(	On Field	đ	Total
Player	No.	%	Points	No.	<b>%</b>	Points	Points	Mts	Avg	Points
Christian, Daniel T	4	57.1	40	35	83.3	350	2107	14	150.50	2497
Lang, Timothy E	6	85.7	60	33	78.6	330	2041	15	136.07	2431
Robson,Samuel D	6	85.7	60	34	81.0	340	1358	14.5	93.66	1758
Nikolovski,Richard	2	28.6	20	34	81.0	340	1119	15	74.60	1479
Jeffrey, Andrew D	1	14.3	10	31	73.8	310	1154	15	76.93	1474
Robson, James G	1	14.3	10	1	2.4	10	1439	14	102.79	1459
Neilan, Andrew M	4	57.1	40	20	47.6	200	1165	15	77.67	1405
Dixon, James S	5	71.4	50	29	69.0	290	1057	11	96.09	1397
Garland, Matthew	6	85.7	60	34	81.0	340	996	13	76.62	1396
Creed, Murray W	1	14.3	10	41	97.6	410	918	15	61.20	1338
Bhandari,Danny	6	85.7	60	29	69.0	290	954	15	63.60	1304
Kalagara,Suresh K	5	71.4	50	12	28.6	120	1129	10	112.90	1299
Crowl,Samuel J	6	85.7	60	23	54.8	230	996	15	66.40	1286
Kargas,Evan	7	100.0	70	18	42.9	180	1013	12	84.42	1263
Stephen,Darren J	2	28.6	20	19	45.2	190	1030	9	114.44	1240
Richardson, Timothy S	3	42.9	30	8	19.0	80	1128	14	80.57	1238
Morris, Christopher J	6	85.7	60	15	35.7	150	974	12	81.17	1184
Carson, David J	3	42.9	30	30	71.4	300	848	15	56.53	1178
Mag,Michael	7	100.0	70	30	71.4	300	794	14	56.71	1164
McKay,Stuart W	4	57.1	40	28	66.7	280	816	15	54.40	1136
Day, James R F	4	57.1	40	28	66.7	280	804	14	57.43	1124
Gerber, Simon B H	5	71.4	50	18	42.9	180	860	11	78.18	1090
Backmann,Hugh A	6	85.7	60	21	50.0	210	816	14	58.29	1086
Searle,Paul B	2	28.6	20	9	21.4	90	944	10	94.40	1054
Mann,David L	5	71.4	50	25	59.5	250	730	14	52.14	1030
Afzal,Faisal	5	71.4	50	28	66.7	280	699	15	46.60	1029
Zehner, Eric J W	2	28.6	20	15	35.7	150	846	14	60.43	1016
Treuberg, Matthias	6	85.7	60	34	81.0	340	606	15	40.40	1006
Hamer,Phillip G	7	100.0	70	30	71.4	300	628	11	57.09	998
Pereira,Gavin J	7	100.0	70	30	71.4	300	625	14	44.64	995
Dennis, Gregory M	4	57.1	40	8	19.0	80	858	12	71.50	978
Harris, Peter A	4	57.1	40	25	59.5	250	683	13	52.54	973
Carson,Peter W	5	71.4	50	11	26.2	110	805	15	53.67	965
Lockett,Benjamin M	3	42.9	30	9	21.4	90	841	15	56.07	961
Elliott,Michael R	4	57.1	40	12	28.6	120	775	12	64.58	935
Webb,Joshua	0	0.0	0	21	50.0	210	721	14	51.50	931
Lucas,Mark S	6	85.7	60	35	83.3	350	510	13	39.23	920
Sykes,Mitchell C	0	0.0	0	9	21.4	90	829	15	55.27	919
Cooper,Tom L W	1	14.3	10	19	45.2	190	717	10	71.70	917

Atter			ndance Attendance								
	Pra	ctice - Pr	e Season	Practi	ice - Dui	ing Season		On Field	l	Total	
Player	No.	%	Points	No.	%	Points	Points	Mts	Avg	Points	
Maguire,Peter H	0	0.0	0	8	19.0	80	833	13	64.08	913	
Thomas, Christopher M	6	85.7	60	16	38.1	160	668	10	66.80	888	
Bowcock, Daniel S	1	14.3	10	3	7.1	30	840	13	64.62	880	
Ross, David W	0	0.0	0	8	19.0	80	796	13	61.23	876	
Weerakkody,Nivan	1	14.3	10	3	7.1	30	833	11	75.73	873	
O'Connor,Mitchell W	5	71.4	50	16	38.1	160	656	15	43.73	866	
Cox,Timothy D	2	28.6	20	12	28.6	120	722	12	60.17	862	
Roucek, Michael J	4	57.1	40	18	42.9	180	642	12	53.50	862	
Higgins,Oliver W	2	28.6	20	26	61.9	260	575	10	57.50	855	
Tate,Benjamin D	4	57.1	40	26	61.9	260	533	12	44.42	833	
Leahy,Mark C	2	28.6	20	22	52.4	220	590	14	42.14	830	
O'Brien, Christopher	4	57.1	40	17	40.5	170	609	9	67.67	819	
O'Sullivan, Anthony J	4	57.1	40	20	47.6	200	574	14	41.00	814	
Halikas,Steven	4	57.1	40	17	40.5	170	593	11	53.91	803	
Abbas,Nadeem	1	14.3	10	15	35.7	150	640	14	45.71	800	
Taylor,Lachlan R	3	42.9	30	4	9.5	40	668	11	60.73	738	
Appleton,Mark S	5	71.4	50	13	31.0	130	553	15	36.87	733	
Kulkarni,Mayur	4	57.1	40	3	7.1	30	656	13	50.46	726	
Dooley,Robert A	5	71.4	50	23	54.8	230	428	9.5	45.05	708	
Stuart, Alexander I	4	57.1	40	17	40.5	170	486	14	34.71	696	
Cowan,Simon J	2	28.6	20	3	7.1	30	623	11	56.64	673	
Sangster, Hugh	7	100.0	70	25	59.5	250	353	11	32.09	673	
Elliott,Timothy J	6	85.7	60	9	21.4	90	521	14	37.21	671	
Mitchell,Peter B	4	57.1	40	12	28.6	120	501	10	50.10	661	
Jones, Andrew C	2	28.6	20	13	31.0	130	504	12	42.00	654	
Fleming,Tallaesen	2	28.6	20	19	45.2	190	417	13	32.08	627	
Culhane, Daniel J	4	57.1	40	12	28.6	120	454	10	45.40	614	
Smith,Roger T	3	42.9	30	2	4.8	20	559	11	50.82	609	
Dobbie,Glen W	5	71.4	50	15	35.7	150	391	11	35.55	591	
Dornan, Nigel C	0	0.0	0	11	26.2	110	449	9	49.89	559	
Serov,Paul	4	57.1	40	4	9.5	40	471	8	58.88	551	
Jaregui,Victor	4	57.1	40	37	88.1	370	140	5	28.00	550	
Rea,Michael	7	100.0	70	38	90.5	380	91	2	45.50	541	
Kaye,Martin R	1	14.3	10	14	33.3	140	383	5	76.60	533	
Tan,Jonathan J H	1	14.3	10	1	2.4	10	483	8	60.38	503	
Jebb,David C	7	100.0	70	33	78.6	330	81	5	16.20	481	
Glenday, James R	3	42.9	30	8	19.0	80	365	7	52.14	475	
Van Der Gugten, Timm	3	42.9	30	16	38.1	160	248	5	49.60	438	
Hayward, Matthew W	0	0.0	0	2	4.8	20	377	5	75.40	397	
Hansen,Liam J	6	85.7	60	9	21.4	90	233	5	46.60	383	
Zell,Andrew D	0	0.0	0	6	14.3	60	313	6	52.17	373	

		Attend	ance		Attend	lance				
	Prac	ctice - Pı	e Season	Pract	ice - Du	ring Season	(	On Field	l	Total
Player	No.	<b>%</b>	Points	No.	<b>%</b>	Points	Points	Mts	Avg	Points
Kader, Nirjon	5	71.4	50	12	28.6	120	192	5	38.40	362
Fuss,Gary P	0	0.0	0	1	2.4	10	351	5	70.20	361
Owers, Matthew S	5	71.4	50	9	21.4	90	203	5	40.60	343
Stark,Robert W	0	0.0	0	0	0.0	0	280	3	93.33	280
Wakim,Benjamin	2	28.6	20	5	11.9	50	176	3	58.67	246
Das,Kushal	5	71.4	50	12	28.6	120	29	1	29.00	199
Crichton,Samuel L	0	0.0	0	13	31.0	130	54	1	54.00	184
Mark,Julian	5	71.4	50	12	28.6	120	14	1	14.00	184
Smith, Mitchell D M	6	85.7	60	9	21.4	90	25	1	25.00	175
Gowland, Mitchell	0	0.0	0	8	19.0	80	70	3	23.33	150
Foster,Paul	1	14.3	10	8	19.0	80	48	2	24.00	138
McKinnon, Lachlan	4	57.1	40	7	16.7	70	23	1	23.00	133
Tibbetts, Joel A	0	0.0	0	5	11.9	50	81	4	20.25	131
Sharma, Abhishek	0	0.0	0	0	0.0	0	42	1	42.00	42
Khurmi,Arjun	0	0.0	0	0	0.0	0	37	1	37.00	37

#### Player of the Year Points

#### **Explanatory Notes**

Description	Points Obtained	Description	Points Obtained
1.Batting	_	2.Bowling	-
1 run	1 point	1 wicket	20 points
50-99 runs / Inn	25 bonus points	3 wickets / Inn	25 bonus points
100-199 runs / Inn	100 bonus points	4 wickets / Inn	50 bonus points
>200 runs / Inn	200 bonus points	5 wickets / Inn	100 bonus points
		6 wickets / Inn	150 bonus points
3.Fielding (Catching)	_	4.Fielding (Wicket Keep	ing)
1 catch	20 points	1 dismissal	20 points
3 catches / Inn	25 bonus points	3 dismissal's / Inn	25 bonus points
4 catches / Inn	50 bonus points	4 dismissal's / Inn	50 bonus points
5 catches / Inn	100 bonus points	5 dismissal's / Inn	100 bonus points
6 catches / Inn	150 bonus points	6 dismissal's / Inn	150 bonus points
5.Fielding (Run Outs)	_	6.For Being in a Winnin	g Side
Direct Hit	20 points	Per Team Member	10 points
In-Direct	10 points (to 2 players)		
7.Practice Attendance			-
10 points awarded per prac	tice session attended.		

#### Inclusion's / Exclusion's

- Includes points obtained only through playing Grade's 1 6, Rounds 1 15.
- Does not include points obtained through playing 1st grade LO games played on a Sunday, Poidevin-Gray Shield ,A.W.Green Shield ,Quarter Finals, Semi Finals, Finals or State Challenge.
- Only includes official practice sessions were all club members are invited to participate.
- Includedes certain designated pre-season practice sessions.
- Does not include official practice sessions that have been "rained out", or that fall on or around public holidays.
- Points for practice attendance are awarded to those who are absent due to representative duties.

### **CAREER STATISTICS**

The career statistics provided are limited to the details of those players who have achieved designated milestones in runs, wickets or dismissals.

At this stage in our Club's relatively short existence (particularly at a Grade level) these milestones have been set at the below indicated levels. For more comprehensive career statistics please refer to the 1998/99 Annual Report, or for the complete details of every club representative, please refer to the Club's database which is (hopefully by now) contained on the UNSWCC Website.

It should be noted that "milestone" thresholds have not been detailed for the 1st Grade one-day statistics due to the relatively brief existence of the competition.

The UNSWCC would like to recognise the enormous amount of work and effort put in by **Peter Maguire** in compiling the statistics, both for this season and the career stats, and for developing the fabulous statistics package available on the club's website. Also, thanks to **Darren Sue** (our "Stats Nazi" as Starky likes to call him), and **Greg Livingstone** (who has managed the career statistics database for many years). The comprehensive stats throughout this report are entirely their efforts. They are performing an invaluable job that the entire Club (past and present) can and will benefit from (certainly has made the Annual Report Editor's job much easier).

Please note that the career statistics, together with the current season statistics, are updated regularly throughout the season and can be viewed on the club's website:

### www.cricket.unsw.edu.au



The groundsman and his apprentice ... this season saw the VG leap up the ground ratings to become one of the top five grounds in Sydney, a feat attributable to the hard work of David Jebb. His season commenced in late July when he started preparing wickets for pre-season and did not finish until early April when we hosted the 5th grade grand final. Add to this his role as Chairman of Selectors and committee member and Jebby probably contributed more hours to the club than anyone. Hopefully next season we will see him back in the whites on a more regular basis as well.

# **ALL GRADES & SHIRES**

### **BATTING**

(3000 runs or more)

Players name	Innings	Not outs	Aggregate	Career Average	50's	100's
Robson; James George	462	76	13188	34.17	74	10
Martel; Jock B	392	26	9946	27.17	44	8
Taylor; Alexander J	502	44	9383	20.49	20	1
Livingstone; Gregory Robert	306	32	8952	32.67	51	12
Dixon; James Stuart	377	41	7729	23.00	37	5
Jones; Clayton W	280	21	6297	24.31	32	3
Carson; David Jeffrey	248	29	6286	28.70	32	6
Meagher; David	228	31	6020	30.56	29	8
Bundy; Harold C	243	27	5921	27.41	unavailable	unavailable
Jebb; David Charles	228	18	5638	26.85	28	6
Chapman; Christopher J	219	27	5503	28.66	25	4
Epstein; Anthony E	338	45	5245	17.90	10	-
Baker; James Michael	179	16	5171	31.72	23	8
Pratt; Anthony D	242	28	4947	23.12	20	5
Christian; Daniel T	187	22	4793	29.05	18	10
Coots; Duncan	165	10	4444	28.67	18	6
Hayward; Matthew W	167	19	4401	29.74	17	6
Leahy; Mark Charles	192	4	4326	23.01	27	1
Lucas; Robin W	203	24	4285	23.94	unavailable	unavailable
Slater; Michael J	83	7	4197	55.22	21	14
Ray; Mark	184	7	4170	23.56	23	1
Elliott; Michael R	174	13	3929	24.40	10	10
Jourdain; Peter W	204	18	3902	20.98	18	-
Robertson; Rodger W D	179	31	3895	26.32	unavailable	unavailable
Reidy; Michael J	157	13	3813	26.48	unavailable	unavailable
Johnson; Andrew William	152	14	3760	27.25	13	6
Mullen; Mark D	160	20	3597	25.69	18	4
Wijeratne; Asoka H	180	25	3585	23.13	19	1
Carson; Peter W	164	18	3518	24.10	16	4
Mohideen; Sohail A	133	14	3420	28.74	20	1
Andrews; Barry G	152	17	3332	24.68	unavailable	unavailable
Garland; Geoffery M	273	85	3226	17.16	10	-
Norbury; Stephen A	124	14	3222	29.29	10	5
Young; Jason C	87	10	3203	41.60	20	5
Jameson; Christopher W	161	15	3201	21.92	15	0
Hoare; Todd J	144	11	3173	23.86	15	2
Livingstone; Stanley E	299	34	3172	11.97	unavailable	unavailable
Crear; Tim	216	17	3136	15.76	unavailable	1
Handley; Bruce	136	18	3093	26.21	13	3
Richardson; Timothy S	112	11	3061	30.31	14	6
Boyer; Matthew	116	17	3046	30.77	15	4

<u>BOWLING</u> (250 wickets or more)

Stark ; Robert William       3960.2       1028       9961       596       16.71         Garland ; Geoffery M       2370.2       444       8018       592       13.54         Dixon ; James Stuart       4747.2       1198       12892       561       22.98         Middleton ; John Mck       2062       375       6598       475       13.89         Schofield ; Philip J       1473       221       5528       445       12.42         Robson ; James George       4223.4       1418       8726       434       20.11         Livingstone ; Stanley E       1436.2       99       7081       407       17.40	17 27 5 15 - 8 -
Garland ; Geoffery M       2370.2       444       8018       592       13.54         Dixon ; James Stuart       4747.2       1198       12892       561       22.98         Middleton ; John Mck       2062       375       6598       475       13.89         Schofield ; Philip J       1473       221       5528       445       12.42         Robson ; James George       4223.4       1418       8726       434       20.11         Livingstone ; Stanley E       1436.2       99       7081       407       17.40	5 15 - - 8 -
Dixon; James Stuart       4747.2       1198       12892       561       22.98         Middleton; John Mck       2062       375       6598       475       13.89         Schofield; Philip J       1473       221       5528       445       12.42         Robson; James George       4223.4       1418       8726       434       20.11         Livingstone; Stanley E       1436.2       99       7081       407       17.40	15 - - 8 -
Middleton; John Mck       2062       375       6598       475       13.89         Schofield; Philip J       1473       221       5528       445       12.42         Robson; James George       4223.4       1418       8726       434       20.11         Livingstone; Stanley E       1436.2       99       7081       407       17.40	- - 8 -
Schofield; Philip J       1473       221       5528       445       12.42         Robson; James George       4223.4       1418       8726       434       20.11         Livingstone; Stanley E       1436.2       99       7081       407       17.40	- 8 -
Robson; James George       4223.4       1418       8726       434       20.11         Livingstone; Stanley E       1436.2       99       7081       407       17.40	8
Livingstone; Stanley E 1436.2 99 7081 407 17.40	-
	-
Clark; Glen Alexander 2850.5 683 7459 389 19.17	4.4
	11
Gregg; Michael John 3402.4 829 9002 383 23.50	8
Merrell; Ralph W 1951.9 290 6724 323 20.82	10
Ray; Mark 2111 586 5657 323 17.51	16
Quinlin; David 2692.4 678 7445 321 23.19	12
Stephen; Darren J 2242.3 510 6529 312 20.93	15
Campbell; Steven G 1895.5 359 6574 297 22.13	11
Pym; Richard E 1989.4 307 6929 290 23.89	5
Grattan-Smith; Padriac J 1972.4 484 5595 286 19.56	10
Lawson; Geoffrey Francis 1903 508 4644 283 16.41	11
Clements; Andrew Paul Retford 2444.6 800 5209 278 18.74	14
Ingleson; John E 1939.9 438 5732 267 21.47	10
Saunders; Warren R 2412.2 572 6975 266 26.22	6
Trafford; David 2120.1 429 6959 264 26.36	7
Zehner ; Eric J W 1829 304 6390 261 24.48	6
Mullen; Mark D 1761.7 370 5448 257 21.20	5
Turner; Robert A 1217 218 3888 255 15.25	-
Gallop; David 2118.1 458 6301 254 24.81	5
Horley; Jon 1981.9 373 6593 254 25.96	8
Ryan; Michael Bede 2160.2 501 6086 250 24.34	6

# **DISMISSALS**

(100 dismissals or more)

Players name	Catches	Stumpings	Total	Position
Neilan; Andrew M	204	71	275	Wicketkeeper
Kovacs; Michael	220	35	255	Wicketkeeper
Back; Michael	187	43	230	Wicketkeeper
Barford; John P	187	32	219	Wicketkeeper
Robson; James George	212		212	
Barrington; Clem H	137	68	205	Wicketkeeper
Sanders; Matthew Richard	128	39	167	Wicketkeeper
Martel; Jock B	160	2	162	
Epstein; Anthony E	153	8	161	Wicketkeeper
MacFarlane; John D	139	22	161	Wicketkeeper
Smith; Roger T	125	34	159	Wicketkeeper
Dixon; James Stuart	159		159	
Morson; Michael	135	20	155	Wicketkeeper
Nott; Benjamin P J	141	14	155	Wicketkeeper

Mitchell; Peter B	115	20	135	Wicketkeeper
Hanger; Christopher	105	27	132	Wicketkeeper
Robertson; Rodger W D	115	8	123	
Garland; Geoffery M	122	-	122	
Little; David Anthony	102	14	116	Wicketkeeper
Livingstone; Gregory Robert	116	-	116	
Stark; Robert William	114		114	
Higgins; Oliver W	92	16	108	Wicketkeeper
Sackett; John	101	5	106	
Deegan; Paul G	86	17	103	Wicketkeeper
Hopkins; Hugh	83	17	100	
Ray; Mark	100	_	100	

# **ALL GRADES**

## **BATTING**

(3000 runs or more)

Players name	Innings	Not outs	Aggregate	Career Average	50's	100's
Robson ; James George	441	71	12675	34.26	71	10
Martel ; Jock B	340	17	8746	27.08	44	8
Livingstone; Gregory Robert	296	32	8718	33.02	48	12
Dixon; James Stuart	366	41	7358	22.64	33	5
Meagher; David	224	31	5986	31.02	29	8
Carson; David Jeffrey	231	29	5882	29.12	30	6
Jones ; Clayton W	266	20	5856	23.80	28	3
Jebb; David Charles	227	18	5531	26.46	28	5
Chapman ; Christopher J	205	26	4924	27.51	21	3
Baker ; James Michael	169	15	4905	31.85	21	8
Pratt; Anthony D	241	28	4904	23.02	20	5
Coots; Duncan	156	9	4240	28.84	17	6
Taylor ; Alexander J	207	12	4230	21.69	18	1
Hayward; Matthew W	162	19	4213	29.46	16	6
Leahy; Mark Charles	183	3	4152	23.07	26	1
Ray ; Mark	175	7	4025	23.96	23	1
Slater; Michael J	78	7	3984	56.11	19	14
Jourdain ; Peter W	196	18	3750	21.07	18	-
Wijeratne ; Asoka H	175	23	3528	23.21	19	1
Carson; Peter W	161	17	3461	24.03	16	4
Elliott; Michael R	155	10	3452	23.81	10	8
Christian; Daniel T	152	20	3441	26.07	11	7
Epstein; Anthony E	214	25	3419	18.09	8	-
Johnson; Andrew William	135	13	3323	27.24	12	5
Norbury; Stephen A	124	14	3222	29.29	10	5
Mullen; Mark D	152	16	3218	23.66	18	2
Young; Jason C	82	10	3094	42.97	20	5
Handley ; Bruce	136	18	3093	26.21	13	3
Richardson; Timothy S	112	11	3061	30.31	14	6
Mohideen ; Sohail A	115	14	3038	30.08	20	1
Boyer ; Matthew	112	17	3007	31.65	15	4

**BOWLING** (200 wickets or more)

Players name	Overs	Maidens	Runs	Wickets	Average	5WI
Stark ; Robert William	3864.2	1009	9626	578	16.65	26
Dixon; James Stuart	4620.3	1162	12551	541	23.20	14
Robinson; Greig G	3656.5	969	9728	461	21.10	17
Robson; James George	4179.4	1412	8515	420	20.27	7
Clark; Glen Alexander	2840.4	682	7428	386	19.24	11
Quinlin; David	2692.4	678	7445	321	23.19	12
Gregg; Michael John	2948.1	740	7554	319	23.68	7
Merrell; Ralph W	1930.8	290	6609	315	20.98	10
Stephen; Darren J	2242.3	510	6529	312	20.93	15
Ray ; Mark	2111	586	5467	307	17.81	16
Pym ; Richard E	1989.4	307	6929	290	23.89	5
Grattan-Smith ; Padriac J	1972.4	484	5595	286	19.56	10
Campbell; Steven G	1800	339	6225	280	22.23	11
Clements; Andrew Paul Retford	2424.6	800	5175	277	18.68	14
Saunders ; Warren R	2412.2	572	6975	266	26.22	6
Ingleson; John E	1917.7	436	5623	262	21.46	10
Gallop; David	2118.1	458	6301	254	24.81	5
Mullen; Mark D	1710.7	359	5280	248	21.29	5
Trafford ; David	1978.8	399	6593	247	26.69	6
Horley; Jon	1874.5	353	6260	244	25.66	8
Lawson; Geoffrey Francis	1734.3	461	4196	244	17.20	8
Taylor; Lachlan R	1582.3	318	4816	228	21.12	8
Zehner; Eric J W	1700.4	302	5831	227	25.69	4
Buckett; Timothy F	1502.5	289	4380	225	19.47	7

## **DISMISSALS**

(100 dismissals or more)

Players name	Catches	Stumpings	Total	Position
Kovacs ; Michael	213	31	244	Wicketkeeper
Neilan ; Andrew M	185	58	243	Wicketkeeper
Back ; Michael	184	42	226	Wicketkeeper
Barford ; John P	176	30	206	Wicketkeeper
Robson; James George	193		193	_
Sanders; Matthew Richard	127	39	166	Wicketkeeper
Martel; Jock B	160	2	162	_
Nott; Benjamin P J	141	14	155	Wicketkeeper
Morson; Michael	135	20	155	Wicketkeeper
Dixon ; James Stuart	155		155	-
MacFarlane; John D	125	18	143	Wicketkeeper
Smith ; Roger T	109	32	141	Wicketkeeper
Mitchell ; Peter B	115	20	135	Wicketkeeper
Hanger; Christopher	102	23	125	Wicketkeeper
Livingstone; Gregory Robert	114	-	114	_
Epstein; Anthony E	108	2	110	
Sackett ; John	101	5	106	
Stark ; Robert William	106		106	
Ray; Mark	100	-	100	

# **1**ST GRADE CAREER STATISTICS

### **BATTING**

(2500 runs or more)

Players name	Innings	Not outs	Aggregate	Career average	50's	100's
Robson ; James George	304	42	8162	31.15	44	6
Livingstone; Gregory Robert	271	26	7470	30.49	42	6
Chapman; Christopher J	191	25	4553	27.43	21	3
Carson; David Jeffrey	173	23	4348	28.99	20	5
Baker ; James Michael	145	14	4180	31.91	14	7
Ray ; Mark	175	7	4025	23.96	23	1
Dixon; James Stuart	224	27	3650	18.53	12	2
Slater; Michael J	67	7	3352	55.87	16	12
Pratt; Anthony D	159	13	2929	20.06	13	1
Young ; Jason C	71	8	2912	46.22	20	5

### **BOWLING**

(100 wickets or more)

Players name	Overs	Maidens	Runs	Wickets	Average	5WI
Dixon; James Stuart	3420.4	865	9182	365	25.16	11
Ray; Mark	2111	586	5467	307	17.81	16
Grattan-Smith; Padriac J	1586.7	373	4648	235	19.78	8
Lawson; Geoffrey Francis	1538	416	3683	212	17.37	7
Robson ; James George	2037	668	4435	180	24.64	3
Horley; Jon	1363	261	4586	167	27.46	6
Pratt; Anthony D	1555.7	361	4797	152	31.56	6
Campbell; Steven G	1198.8	262	3818	149	25.62	3
Pym ; Richard E	1004.5	136	3824	145	26.37	3
Baker ; James Michael	1278.7	299	3987	144	27.69	5
Saunders ; Warren R	1236.2	313	3454	139	24.85	5
Trafford; David	1055.4	229	3553	129	27.54	3
Gallop; David	1138.5	249	3374	124	27.21	2
Salisbury; Ian D K	877.9	186	2400	118	20.34	6
Heysen; David C H	886.9	143	3285	112	29.33	7
Perger; Nigel	779.9	197	2197	110	19.97	6
Van der Sluys ; Steven	620.9	114	2161	109	19.83	5
Watson; Gregory G	684.7	143	2081	105	19.82	1
White ; Adrian	1119.7	327	2995	100	29.95	4

### **DISMISSALS**

(100 dismissals or more)

Players name	Catches	Stumpings	Total	Position
Back ; Michael	139	28	167	Wicketkeeper
Robson ; James George	161	-	161	
Neilan; Andrew M	116	32	148	Wicketkeeper
Kovacs ; Michael	102	10	112	Wicketkeeper
Livingstone; Gregory Robert	105	-	105	
Dixon ; James Stuart	104	-	104	
Hanger; Christopher	84	19	103	Wicketkeeper
Ray ; Mark	100	-	100	

# **1**ST GRADE ONE DAY CAREER STATISTICS

## **BATTING**

Players name	Innings	Not outs	Aggregate	Career average	50's	100's
Carson; David Jeffrey	47	5	1238	29.48	9	
Christian; Daniel T	36	7	821	28.31	5	
Richardson; Timothy S	23	2	718	34.19	3	1
Creed; Murray W	13	5	702	58.50	4	2
Watson; Michael G	16	2	676	48.29	4	1
Slater; Michael J	11	0	632	57.45	3	2
Phelps; Matthew J	13	2	562	51.09	4	1
O'Connor; Mitchell W	22	5	446	26.24	1	
Nott; Benjamin P J	15	1	336	24.00	1	-
Neilan ; Andrew M	22	4	335	18.61	-	-
Sutton; Luke D	11	0	308	28.00	2	-

## **BOWLING**

Players name	Overs	Maidens	Runs	Wickets	Average	5WI
Salisbury ; Ian D K	132.8	23	341	41	8.32	2
Heysen; David CH	166	19	706	31	22.77	1
Cox; Timothy D	205.5	26	721	31	23.26	-
Langford-Smith; David	182.2	13	775	31	25.00	-
Horley; Jon	157.4	14	579	29	19.97	1
Christian; Daniel T	190.2	11	973	29	33.55	1
Saunders ; Warren R	179	19	767	28	27.39	-
Day; James R F	173.2	23	639	27	23.67	
Lang; Timothy E	140	28	450	24	18.75	1
Dixon; James Stuart	94.1	19	377	22	17.14	-
Carson; David Jeffrey	121.3	7	596	22	27.09	-
Danenbergsons; Karl	137	11	627	21	29.86	-
Zehner; Eric J W	163.1	6	740	21	35.24	-
Gallop; David	110.6	7	444	19	23.37	-
Trafford; David	117.1	12	372	18	20.67	-
Mullen; Mark	86	9	343	16	21.44	-
Stephen; Darren J	117	12	462	15	30.80	-

## **DISMISSALS**

Players name	Catches	Stumpings	Total	Position
Neilan ; Andrew M	50	16	66	Wicketkeeper
Kovacs; Michael	11	6	17	Wicketkeeper
Nott; Benjamin P J	13	4	17	Wicketkeeper
Carson; David Jeffrey	16		16	
Christian; Daniel T	15		15	
Salisbury; Ian D K	11		11	
Sutton; Luke D	9	2	11	Wicketkeeper

# 1<sup>ST</sup> GRADE 2 DAY & LO CAREER STATISTICS

### **BATTING**

(2000 runs or more)

Players name	Innings	Not outs	Aggregate	Career average	50's	100's
Robson ; James George	310	42	8327	31.07	45	6
Livingstone; Gregory Robert	271	26	7470	30.49	42	6
Carson; David Jeffrey	220	28	5586	29.09	29	5
Chapman ; Christopher J	191	25	4553	27.43	21	3
Baker ; James Michael	145	14	4180	31.91	14	7
Ray; Mark	175	7	4025	23.96	23	1
Slater; Michael J	78	7	3984	56.11	19	14
Dixon ; James Stuart	241	28	3885	18.24	12	2
Pratt; Anthony D	177	15	3178	19.62	14	1
Christian; Daniel T	124	16	3097	28.68	11	7
Young; Jason C	82	10	3094	42.97	20	5
Phelps ; Matthew J	70	8	2432	39.23	16	2
Meagher; David	85	13	2173	30.18	9	4
Richardson; Timothy S	82	9	2140	29.32	9	4
Creed; Murray W	49	8	2013	49.10	12	5

### **BOWLING**

(100 wickets or more)

Players name	Overs	Maidens	Runs	Wickets	Average	5WI
Dixon; James Stuart	3514.5	884	9559	387	24.70	11
Ray; Mark	2111	586	5467	307	17.81	16
Grattan-Smith; Padriac J	1586.7	373	4648	235	19.78	8
Lawson; Geoffrey Francis	1562	419	3753	213	17.62	7
Horley; Jon	1520.4	275	5165	196	26.35	7
Robson; James George	2077	669	4600	186	24.73	3
Saunders ; Warren R	1415.2	332	4221	167	25.28	5
Pratt; Anthony D	1637.2	365	5146	163	31.57	6
Salisbury; Ian D K	1010.7	209	2741	159	17.24	8
Campbell; Steven G	1198.8	262	3818	149	25.62	3
Trafford; David	1172.5	241	3925	147	26.70	3
Pym ; Richard E	1004.5	136	3824	145	26.37	3
Baker ; James Michael	1278.7	299	3987	144	27.69	5
Gallop; David	1249.1	256	3818	143	26.70	2
Heysen; David CH	1052.9	162	3991	143	27.91	8
Langford-Smith; David	922	130	3536	128	27.63	4
Christian; Daniel T	831	89	3432	123	27.90	3
Perger; Nigel	779.9	197	2197	110	19.97	6
Van der Sluys ; Steven	620.9	114	2161	109	19.83	5
Lang; Timothy E	650.2	138	1865	105	17.76	6
Watson; Gregory G	684.7	143	2081	105	19.82	1
Stephen ; Darren J	866	171	2963	105	28.22	4
White ; Adrian	1119.7	327	2995	100	29.95	4

**DISMISSALS** 

(100 dismissals or more)

Players name	Catches	Stumpings	Total	Position
Neilan ; Andrew M	166	48	214	Wicketkeeper
Back ; Michael	142	30	172	Wicketkeeper
Robson ; James George	162	-	162	
Kovacs ; Michael	113	16	129	Wicketkeeper
Dixon; James Stuart	106	-	106	
Livingstone; Gregory Robert	105	-	105	
Nott ; Benjamin P J	93	12	105	Wicketkeeper
Hanger ; Christopher	84	19	103	Wicketkeeper
Ray ; Mark	100	-	100	

# **2ND GRADE CAREER STATISTICS**

### **BATTING**

(1000 runs or more)

Players name	Innings	Not outs	Aggregate	Career average	50's	100's
Martel ; Jock B	172	10	4106	25.35	22	2
Coots; Duncan	97	5	3007	32.68	13	4
Bhandari ; Danny	95	6	2412	27.10	11	4
Elliott; Michael R	83	5	2300	29.49	5	7
Hayward; Matthew W	59	7	1983	38.13	7	5
Trimble; Peter Wayne	76	12	1944	30.38	10	1
Wijeratne ; Asoka H	76	10	1924	29.15	13	1
Carson; Peter W	72	13	1512	25.63	9	1
Mullen; Mark	72	6	1503	22.77	8	1
Jones; Clayton W	91	8	1460	17.59	3	-
Boyer ; Matthew	43	7	1451	40.31	8	2
Norbury; Stephen A	66	4	1448	23.35	4	2
Eades ; Glen	61	2	1442	24.44	6	2
Sinclair; Peter	57	4	1413	26.66	4	1
Leahy; Mark Charles	73	0	1387	19.00	7	-
Meagher; David	51	7	1322	30.05	7	1
Kirkwood; Geoffrey	78	9	1301	18.86	5	-
Nott; Hamish P E	51	2	1297	26.47	10	0
Hamman; Rowan M K	40	3	1286	34.76	8	0
Lamb; Alexander	40	5	1225	35.00	6	3
Shaw; Andrew	49	2	1220	25.96	9	1
Johnson; Andrew William	46	2	1201	27.30	2	2
Kilborn; Michael	56	3	1189	22.43	5	2
Hamwood; Mark	62	9	1170	22.08	5	-
Handley; Bruce	49	6	1154	26.84	4	2
Watt ; Michael	44	5	1090	27.95	4	2
Jourdain ; Peter W	58	2	1057	18.88	4	-
Clark; Glen Alexander	63	13	1044	20.88	2	1
Large ; James	59	1	1043	17.98	3	1

**BOWLING** (100 wickets or more)

Players name	Overs	Maidens	Runs	Wickets	Average	5WI
Clements; Andrew Paul Retford	1596.3	571	3250	185	17.57	7
Mullen; Mark	900.5	207	2788	150	18.59	4
Pym; Richard E	984.9	171	3105	145	21.41	2
Gainsford; David J A	977.3	193	2933	135	21.73	3
Kirkwood; Geoffrey	858.7	190	2451	133	18.43	6
Robinson; Greig G	1030.2	248	2805	128	21.91	5
Hamwood; Mark	1079.8	260	2877	127	22.65	6
Stephen; Darren J	915	234	2308	120	19.23	6
Clark; Glen Alexander	912	203	2394	119	20.12	3
Gallop; David	867	201	2475	111	22.30	3
Watkins; Phillip W	505.6	72	2012	109	18.46	6
Campbell; Steven G	482.2	65	1883	105	17.93	7
White ; Adrian	1043.4	291	2674	103	25.96	5
Buckett; Timothy F	634.1	125	1793	100	17.93	2

### **DISMISSALS**

(50 dismissals or more)

Players name	Catches	Stumpings	Total	Position
Kovacs ; Michael	78	11	89	Wicketkeeper
Morson; Michael	76	7	83	Wicketkeeper
Martel; Jock B	77	1	78	
Deegan; Paul G	64	10	74	Wicketkeeper
Smith; Roger T	62	12	74	Wicketkeeper
Trimble; Peter Wayne	57	-	57	-

# **3RD GRADE CAREER STATISTICS**

### **BATTING**

(1000 runs or more)

Players name	Innings	Not outs	Aggregate	Career average	50's	100's
Dixon; James Stuart	83	6	2550	33.12	16	3
Meagher; David	86	11	2364	31.52	13	2
Jones; Clayton W	92	7	2240	26.35	13	1
Jebb; David Charles	91	9	2072	25.27	9	2
Mohideen ; Sohail A	69	8	1885	30.90	12	0
Bowcock; Daniel S	59	6	1508	28.45	9	1
Leahy; Mark Charles	65	2	1491	23.67	6	1
Jourdain ; Peter W	65	9	1410	25.18	7	-
Clarke; Michael	74	8	1348	20.42	2	2
Darmody; Leon	56	11	1245	27.67	7	-
Smith; Ian Edward	61	5	1229	21.95	7	-
Pratt; David T	37	5	1176	36.75	6	1
Higgins ; Oliver W	40	3	1127	30.46	6	1
Palin; Martin Nicholas	52	6	1078	23.43	9	-
Kellaway ; Ian	40	7	1030	31.21	3	3
Pratt; Anthony D	28	4	1028	42.83	4	3
Campbell; Richard	42	7	1010	28.86	4	-
Urquhart ; Paul	42	2	1010	25.25	3	1

### **BOWLING**

(100 wickets or more)

Players name	Overs	Maidens	Runs	Wickets	Average	5WI
Ingleson; John E	1337.5	335	3662	189	19.38	9
Hetherington; William	725.1	211	1808	112	16.14	4
Robinson; Greig G	811.2	213	2197	110	19.97	5
Dennis; Gregory M	959.1	202	2828	107	26.43	1
Ryan ; Michael Bede	821.1	204	2374	106	22.40	2

### **DISMISSALS**

(40 dismissals or more)

Players name	Catches	Stumpings	Total	Position
Cummins; Damien	46	4	50	Wicketkeeper
Higgins; Oliver W	40	7	47	Wicketkeeper
Campbell; Richard	30	14	44	Wicketkeeper

## 4TH GRADE CAREER STATISTICS

### **BATTING**

(1000 runs or more)

Players name	Innings	Not outs	Aggregate	Career average	50's	100's
Jebb; David Charles	117	7	3155	28.68	18	3
Robson; James George	72	17	2468	44.87	14	3
Martel; Jock B	57	2	2097	38.13	10	4
Garland; Geoffery M	79	10	1514	21.94	9	-
Jameson; Christopher W	64	6	1384	23.86	7	-
Carmichael ; John	77	11	1232	18.67	3	-
Jones; Clayton W	50	2	1217	25.35	5	1
Bowcock; Daniel S	39	4	1118	31.94	6	1
Fleming; Tallaesen	33	1	1110	34.69	5	3
McLachlan; Robert	45	7	1102	29.00	8	-
Mitchell; Peter B	43	5	1100	28.95	3	-
McCoy; Scott	48	4	1052	23.91	4	1

### **BOWLING**

(100 wickets or more)

Players name	Overs	Maidens	Runs	Wickets	Average	5WI
Stark; Robert William	1801.2	511	4251	264	16.1	12
Robson ; James George	1422.5	526	2484	160	15.53	2
Gregg; Michael John	973.6	254	2564	114	22.49	1

### **DISMISSALS**

(50 dismissals or more)

Players name	Catches	Stumpings	Total	Position
Barford ; John P	98	20	118	Wicketkeeper
Sanders; Matthew Richard	60	22	82	Wicketkeeper
Stark ; Robert William	50		50	

## **5TH GRADE CAREER STATISTICS**

### **BATTING**

(1000 runs or more)

Players name	Innings	Not outs	Aggregate	Career average	50's	100's
Epstein; Anthony E	138	16	2437	19.98	7	-
Taylor; Alexander J	88	8	2118	26.48	9	-
Robson; James George	50	10	1709	42.73	11	1
James ; Peter E	90	15	1704	22.72	3	1
Gerber; Simon B H	49	5	1517	34.48	9	2
Richardson; William G	84	5	1453	18.39	2	-
Plunkett-Cole; Matthew	55	1	1424	26.37	3	3
Mitchell; Peter B	63	7	1398	24.96	6	1
Jameson; Christopher W	68	8	1379	22.98	6	-
Murray; Ian Frederick	90	1	1320	14.83	3	-
Martin ; John	64	5	1302	22.07	5	1
Harris; Gavin J	53	6	1213	25.81	6	-
Madden ; Keith	54	15	1163	29.82	8	-
Lindsay; Andrew	33	3	1043	34.77	5	2
Popovich; Valco	62	3	1017	17.24	2	-

### **BOWLING**

(100 wickets or more)

Players name	Overs	Maidens	Runs	Wickets	Average	5WI
Stark; Robert William	1661.3	422	4095	265	15.45	13
Merrell; Ralph W	1642.1	265	5375	259	20.75	9
Gregg; Michael John	1438.1	358	3685	165	22.33	6
Robinson; Greig G	1111	363	2724	141	19.32	6
Taylor; Lachlan R	908.6	193	2535	132	19.20	5
Quinlin; David	745.9	211	2082	103	20.21	4

#### **DISMISSALS**

(50 dismissals or more)

Players name	Catches	Stumpings	Total	Position
MacFarlane ; John D	70	8	78	Wicketkeeper
Barford ; John P	66	10	76	Wicketkeeper
Epstein; Anthony E	68	2	70	Wicketkeeper
Rudd ; Jason	62	4	66	Wicketkeeper
Mitchell; Peter B	48	11	59	Wicketkeeper
Sanders; Matthew Richard	42	9	51	Wicketkeeper

# **6TH GRADE CAREER STATISTICS**

### **BATTING**

(1000 runs or more)

Players name	Innings	Not outs	Aggregate	Career av	verage	50's	100's	
Wickremasena; Ruchera	76	9	1564	23.3	4	7	1	
Jones; Andrew C	91	2	1202	13.5	1	1	1	
BOWLING								
(100 wickets or more)								
Players name	Over	s Maide	ns Runs	Wickets	Average	2	5WI	
Phillips; Michael	657	116	2684	113	23.75		1	

# **SHIRES CAREER STATISTICS**

**BATTING** 

(2500 runs or more)

Players name	Inns	NOs	HS	Agg	Average
Bundy ;H.C.	225	23	151	5536	27.41
Taylor ;A.J.	260	31	105*	4556	19.90
Lucas; R.W.	197	24	129	4227	24.43
Reidy; M.J.	155	12	118	3807	26.62
Andrews; B.G.	148	15	97	3297	24.79
Livingstone; S.E.	276	33	103*	3004	12.36
Creer; T.D.	203	15	121	2836	15.09
Downes; T.J.	183	11	74*	2596	15.09

### **BOWLING**

(100 or more)

Players name	Overs	Maidens	Runs	Wickets	Average
Schofield; P.J,	1473	221	5528	445	12.42
Middleton; J.McK.	1869	356	6008	439	13.69
Garland; G.M.	1366	266	4381	408	10.74
Livingstone; S.E.	1364	96	6728	390	17.25
Turner; A.R.	1217	218	3888	255	15.25
Dockrill; B.	826	122	2983	246	12.13
Bayfield; R.F.	867	155	2690	200	13.45
Lowe; I.	852	128	3368	199	16.92
Preiss; R.	943	138	3017	198	15.24
Ward; P.A.	781	130	2487	193	12.89
Cole; G.J.	718	72	2985	192	15.55
Robinson; G.G.	565	102	1997	164	12.18
Pratley; J.E.	716	82	2871	161	17.83
Emery; P.C.	668	125	2362	152	15.54
Schofield; K.J.	536	85	1939	139	13.95
Beard; J.R.	555	62	2454	124	19.79
Southwell-Keely; P.	362	56	1413	123	11.49
Stockley; D.M.	329	25	1433	114	12.57
Clark; D.	436	40	2140	113	18.94
Warrener; R.	523	54	2225	107	20.79
Downes; T.J.	305	25	1881	104	18.09

### **DISMISSALS**

(50 or more)

Players name	Catches	Stumpings	Total
; C.H.	137	68	205
H.W.	67	13	80
R.W.D.	71	7	78
G.M.	74	-	74
; J.McK.	68	-	68
P.J.	68	-	68
	55	10	65
	65	-	65
	50	13	63
V.	58	4	62
	38	23	61
•	56	-	56
J.	48	6	54
	45	6	51
		_	_

# **WOMEN'S CAREER STATISTICS**

### **BATTING**

Players name	Innings	Not outs	Aggregate	Career average	50's	100's
Van Ardenne ; Joy	55	8	1582	33.66	10	1
Lees; Cassandra	41	17	1169	48.71	8	-
Zeppos; Sonia	46	17	865	29.83	2	-
Connelly; Gemma	36	6	765	25.50	4	-

### **BOWLING**

Players name	Overs	Maidens	Runs	Wickets	Average
Van Ardenne ; Joy	529	119	1139	107	10.64
Connelly; Gemma	177.7	30	395	52	7.60
Conoplia; Zoy	182.4	55	316	42	7.52
Lees; Cassandra	172	33	418	38	11.00
Martel; Nikki	137.5	6	581	34	17.09
Van Oploo ; Pam	128	20	348	33	10.55
Firklin; Cathy	133.1	9	486	30	16.20
Bunton; J	108	16	352	23	15.30
Wallace ; P	101	15	312	23	13.57
Rickard-Bell ; T	122	11	451	21	21.48

### **DISMISSALS**

Players name	Catches	Stumpings	Total	Position
Newin; Wendy	26	0	26	Wicketkeeper
Van Ardenne ; Joy	22	-	22	
Zeppos ; Sonia	16	-	16	

### **CLUB RECORDS**

Team and partnership records apply to the years in the Sydney Grade Competition - from and including the season 1973-74. For records prior to the 1972-73 season refer to the 1972-73 Annual Report Municipal and Shires Competition. Performances in teams for which not all club members are eligible (Poidevin-Gray and Intervarsity) are not included - details can be obtained in past annual reports. Records for the Women's teams are still being collated. A minimum of 250 runs or 15 wickets is required to qualify for batting or bowling records. Only the initial record maker is identified for individuals and partnerships in the event of tied records.

## **INDIVIDUAL GRADE RECORDS**

5/400	v	Manly	1997/98
1102		M.Creed	2004/05
395		M.Creed	2004/05
72.13		C. Adams	2000/01
213*		M. Slater	1999/00
55		M. Ray	1980/81
16		J.Day	2004/05
9.3		G. Lawson	1980/81
8/38		G. Lawson	1979/80
17		M. Ray	1975/76
40/15		A.Neilan	2004/05
13/8		A.Neilan	2004/05
	1102 395 72.13 213* 55 16 9.3 8/38 17 40/15	1102 395 72.13 213* 55 16 9.3 8/38 17 40/15	1102 M.Creed 395 M.Creed 72.13 C. Adams 213* M. Slater 55 M. Ray 16 J.Day 9.3 G. Lawson 8/38 G. Lawson 17 M. Ray 40/15 A.Neilan

### **SECOND GRADE**

Highest Score	471	v	Balmain	1978/79
Batting Aggregate	847		A Lamb	1999/00
Batting Average	102.5		M. Hayward	2002/03
Record Score	204*		G. Livingstone	1991/92
Bowling Aggregate	50		P. Watkins	1974/75
Bowling Average	12.1		G. Robinson	1977/78
Record Figures	9/18		G. Clark	1984/85
Most Catches	19		P. Trimble	1990/91
Wicket Keeper	30/3		P. Mitchell	1999/00

THIRD GRADE				
Highest Score	9/386	v	Fairfield-Liverpool	2004/05
Batting Aggregate	625		D. Meagher	1988/89
Batting Average	71.0		M. Boyer	1990/91
Record Score	163		D. Coots	1988/89
Bowling Aggregate	46		D.Stephen	2004/05
Bowling Average	9.6		A. Clements	1987/88
Record Figures	9/22		J. Bolton	1979/80
Most Catches	15		D. Pratt	1979/80
Wicket Keeper	25/0		D. Cummins	1987/88
FOURTH GRADE				
Highest Score	5/373	v	Sydney University	1990/91
Batting Aggregate	767		J. Martel	1989/90
Batting Average	81.8		D. Dermody	1997/98
Record Score	212*		J. Martel	1989/90
Bowling Aggregate	40		J. Robson	1995/96
Bowling Average	11.46		J. Robson	1997/98
			R. Stark	1997/98
Record Figures	10/19		P. Besgrove	1975/76
Most Catches	12		A. Epstein	1973/74
Wicket Keeper	21/4		J. Barford	1976/77
FIFTH GRADE				
Highest Score	3/445	v	North Sydney	1996/97
Batting Aggregate	590		A. Lindsay	1996/97
Batting Average	259.00		J.Stamm	1997/98
Record Score	222		D. Bowcock	1996/97
Bowling Aggregate	58		R. Stark	2001/02
Bowling Average	8.55		G. Holt	1981/82
Record Figures	8/16		R. Stark	2002/03
Most Catches	11		A. Epstein	1975/76
Wicket Keeper	29/2		J. Barford	1981/82

CIMPIT	$\mathbf{c}$	ADE
SIXTH	l TK	AIJF

Highest Score	6/416	V	Sutherland	1977/78
<b>Batting Aggregate</b>	566		N. Weerakkody	2005/06
Batting Average	300		M. Mullen	1990/91
Record Score	231*		M. Mullen	1990/91
Bowling Aggregate	40		W. Hetherington	1977/78
Bowling Average	9.1		W. Hetherington	1977/78
Record Figures	8/30		S. Hamilton	1976/77
Most Catches	12		S. Gonski	1976/77
Wicket Keeper	29/8		D. Hughes	1986/87

## POIDEVIN-GRAY SHIELD

Wicket Keeper	7/7	R.Nikolovski	2005/06
Most Catches	10	J.G.Robson	1975/76
Record Figures	7/31	C.A.Brown	1974/75
Bowling Average	7.00	M.Hamwood	1981/82
Bowling Aggregate	35	G.G.Watson	1975/76
Record Score	171*	R.M.K.Hamman	1998/99
Batting Average	130.50	J.G.Robson	1976/77
Batting Aggregate	320	C.J.Chapman	1975/76
Highest Score		Unavailable	

## AW GREEN SHIELD

Highest Score		Unavailable	
Batting Aggregate	362	D.T.Christian	1998/99
Batting Average	72.40	D.T.Christian	1998/99
Record Score	160*	D.T.Christian	1998/99
Bowling Aggregate	16	A.P.Langdon	1998/99
Bowling Average	10.69	A.P.Langdon	1998/99
Record Figures	5/16	R.Medley	2004/05
Most Catches	6	M.Wilding	1998/99
Wicket Keeper	12/4	B.Wakim	2004/05

# PARTNERSHIP RECORDS

## FIRST GRADE

Wicket	Score	Player	Player	Opponent	Season
First	259	A Jeffrey (146)	M O'Connor (112)	UTS-Balmain	2005/06
Second	253	M Slater (184)	G Livingstone (126)	Randwick	1991/92
Third	273*	D Carson (134*)	D Christian (135*)	Sydney University	2005/06
Fourth	269	A Jeffrey (194)	T Cooper (92)	Randwick-Petersham	2005/06
Fifth	151	M Elliott (59)	M Watson (96)	Mosman	2003/04
Sixth	173*	P Tout (140*)	T Buddin (93*)	Sutherland	1979/80
Seventh	141	J Horley (77)	M Hayward (89)	Manly	1995/96
Eighth	142*	M Elliott (131*)	E Zehner (50*)	Wests	2003/04
Ninth	111	S Campbell (57)	N Perger (54*)	Wests	1983/84
Tenth	90	J Dixon (68*)	D Stephen (36)	Sutherland	1997/98

# SECOND GRADE

Wicket	Score	Player	Player	Opponent	Season
First	171	D Bhandari (87)	H Nott (82)	Wests	1999/00
Second	240*	A Pratt (130*)	M Phelps (118*)	Sutherland	1992/93
Third	216	G Eades (171)	D Coots (88)	Manly	1989/90
Fourth	202	P Sinclair (102)	P Trimble (129)	Campbelltown	1990/91
Fifth	147	M Delgigante (61)	P Scolari (71)	Northern District	1985/86
Sixth	161	M Hayward (89*)	M Elliott (164)	Sydney University	2002/03
Seventh	167	M Hayward (106*)	E Zehner (93)	Fairfield-Liverpool	2002/03
Eighth	172	M Hayward (155)	E Zehner (73)	St George	2002/03
Ninth	93	A Zell (92)	C Thomas (31*)	Western Suburbs	2005/06
Tenth	124	T Buckett (54*)	E Zehner (72)	St George QF	1999/00

# THIRD GRADE

Wicket	Score	Player	Player	Opponent	Season
First	174	D Jebb (128)	S Robson (85)	Fairfield-L'pool	2004/05
Second	204	M Boyer (120)	N Prattent (107*)	Parramatta	1990/91
Third	250	M Creed (110)	I Foster (197)	North Sydney	2003/04
Fourth	212	A Pratt (108)	A Johnson (131*)	Easts	2001/02
Fifth	141	A O'Sullivan (84)	M Owers (70)	Gordon	2005/06
Sixth	179	P Day (106)	J Sackett (88)	Gordon	1983/84
Seventh	128	D Stephen (69)	R Dooley (68)	C'town-Camden	2004/05
Eighth	100*	M Morson	D Quinlin	Gordon	1993/94
Ninth	79	S Price (42)	A Dillon (36)	Sydney	1982/83
Tenth	88	R Campbell (99)	P Thompson (35*)	Sydney	1978/79

## FOURTH GRADE

Wicket	Score	Player	Player	Opponent	Season
First	165	G MacDonald (95)	G Garland (51)	Balmain	1980/81
Second	195	G Hill (109)	C De Silva (60)	Penrith	1993/94
Third	196	J Martel (196)	D Jebb (102*)	Sydney Uni	1990/91
Fourth	205*	J Horley (131*)	N Prattent (70*)	Balmain	1990/91
Fifth	160	S Mohideen ()	R McLachlan ()	Penrith	1999/00
Sixth	148	A Wheeler (63)	S Norbury (103)	Penrith	1991/92
Seventh	142	J Ingleson (92)	M Woodley (61)	Gordon	1982/83
Eighth	112	S Tait (87)	J Robertson (54)	Mosman	1974/75
	112	P Mitchell (47)	D Ross (58)	Randwick-Petersham	2003/04
Ninth	100*	J Martel (212*)	G Robinson (26*)	North Sydney	1989/90
Tenth	82	S Norbury (126)	W Saunders (15*)	Mosman	1991/92

# FIFTH GRADE

Wicket	Score	Player	Player	Opponent	Season
First	188	C Jones (81)	R McLachlan (95)	Manly	1991/92
Second	214*	S Dejong (119)	T Thompson (98)	Easts	2001/02
Third	289	D Bowcock (222)	C Vonwiller (101*)	North Sydney	1996/97
Fourth	173	R Wickramasena (78)	B Christie (103*)	Bankstown	1992/93
Fifth	213	D Sue (69)	J Martel (173)	Hawkesbury	1992/93
Sixth	255	J Robson (111)	P Carson (144)	Parramatta	2002/03
Seventh	82*	G.Clark (55*)	B Calver (27*)	Campbelltown	1997/98
Eighth	112*	G Clark (54*)	M Mag (50*)	Eastern Suburbs	1996/97
Ninth	69	G Robinson (34)	G Sendall (42*)	Petersham	1989/90
Tenth	84	D Bell (73*)	G Clark (18)	Sutherland	1984/85

## SIXTH GRADE

Wicket	Score	Player	Player	Opponent	Season
First	104	A Taylor (24)	C McIntosh (67)	Sydney University	1988/89
Second	171	A Jones (72)	C Neal (100)	Randwick	1994/95
Third	165	J Martin (100*)	E Robb (100)	Randwick	1981/82
Fourth	269	M Mullen (231*)	S Schirmer (88)	Randwick	1990/91
Fifth	126	J Tan (70)	B Tate (80)	Randwick-Petersham	2004/05
Sixth	150	M Back (77)	V Popovich (67)	Sydney University	1984/85
Seventh	123	V Popovich (98)	R Glenister (57)	Southern Districts	1983/83
Eighth	123	C Vonwiller (92*)	A Wunsch (43)	Woolpack Wolves	1995/96
Ninth	112*	L Darmody (106*)	S Gibbs (25*)	UNSW A	1980/81
Tenth	53	M Nagarajan (53*)	G Varatharajan (20)	Northern District	1984/85